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Ê V/m 
�*����	� 	�� �������
���� "��	
�����
�E V/m ���*��G�
 �������
���
 "��	 �� '���������

ERP + ��� λ/2���*�� �������� ���������
���
����

Êinc V/m 
�*����	� 	�� �������	�� "��	
�����
�Einc V/m ���������	�
 �������
���
 "��	
�Escat V/m ��
������
 �������
���
 "��	
�Etan V/m �����������
 �������
���
 "��	

entw 1��/�������
������
�E E*������% 	�� 	�� ����� I ��� 	�
 "��	 �E �����	��

ε As/Vm �������� 	�� !������������

ε As/Vm ���*��G� !������������

εr As/Vm �������� !������������

f �� "�������

f3dB �� 8 	&�2������������

geb 2�����
��	�G
�H A/m ���*��G�
 �������
���
 "��	 �� '���������

η 5 
���
��B�����

j
√−1

Φ + $����
����

ϕ ��	 !��
��/�����

ϕ ��	 .���	����� �� .��������	������
;
���

k ��	�G

k 1/m +���������

L � ��	���������

L′ H/m ��	���������
�����

l � $����

λ0 � "�������/����������

λmax � +���������� ��� ��������� "�������

λmin � +���������� ��� ��G������ "�������

µ Vs/Am !������������

µ ��	�G

µ Vs/Am ���*��G� !������������

µr 5 �������� !������������

ν ��	�G

ν 5 ���������

������

Pt + ����
������� $��
����

Q 

 $�	���

q 5 ����G�����
������

R Ω +�	��
���	



G�

"������������ 1������ &�
���������

r � .���	����� �� !��������	������
;
���
�R E*������% 	�� 	�
 �������
��� "��	 ��� 	�� ����������� "��	�


����� �����	��

ρt(tε) 1/s +���
�������������
	����� 	�� 
���
�����*�����

ρu(ua) 1/V +���
�������������
	����� 	�� 
���
�����
����

*������

ua,i

σ S/m 
*���A
��� $������������

TAbtast 
 )������������ �/�
���� �/�� 
���
��������

��

TS 
 
���
���*��
������

t 
 )���

∆t 
 )�������0������

ti 
 
���
�����*���� i

∆ti 
 )�������0������ i

tε 
 "����� ����
 
���
�����*����


tε,RMS 
 ����	��	��/������� 	�� 
���
�����*�����% 
*������(�����

tε,RMS,N 
 (����� ���� N !����	��

tε,RMS,max 
 ��G���� ����

���� 
*������(�����

U ' �������
��� �*������

Û ' �*������
��*����	�

UZp,pp ' �� 1������
��� 	�
 ����
������������
 ��������	� ��0�
*���

����

Upp ' �*������*�����$�������
*������ 	�� ��
 
������ /�����	��

����
�������������������	�

Upp,max ' +��
��I�
� 	�� �*������*�����$�������
*������ 	�� ��
 
��

����� /�����	�� ����
�������������������	�

Upp,max,f ' +��
��I�
��1����**��
*������ ��� 	�� "������� f

Upp,max,ff ' +��
��I�
� 	�� �*������*�����$�������
*������ 	�� ��
 
��

����� /�����	�� ����
�������������������	� ��� 	�� "����

���	����

u(t) ' ���������	������� �*������

uµ ' #�������/��� ��� µ���� 
���
�����*����

ω 1/s .���
��������

�x′
i ' i���� ������/���

||Y || � 
	������������G

Y K � .��*��
�����
�	�������

||Ye|| � 
	������������G 	�� ����
�������������������	�� ���� ���

*������ �������������

||Yp|| � 
	������������G ����
 ��*������ ����
������������


Z Ω ��*�	���

ZF0 Ω +�����/�	��
���	 �� '�����



G��

"������������ 1������ &�
���������

ZL Ω +�����/�	��
���	 ����� $������

Ze Ω 1������	����*�	���

Zp Ω 1������
��*�	��� 	�
 ����
������������


�����������


�������� &�
���������


&� 
����&���������;
���


# 
�*����	����	�������

&
$�, �������	����������	% �;������������������

&E� &��0�	�� ��	 E�����
������� ��� ����������
��������

I
, ���������� ���� ���/���

I+ ��������
 /���

1I$ ������� ���*��	 �����

1#I ��������������� ���*��������;

1#' ��������������
��� '��������������

1�! ���������
���
 ����������
*�������

"��� A���� 	�C������ ���� 	�����

"1# A���� ������� �����	

""� ��
� "������ ����
���������

"1.E "��	���������� ��� .0�*��� ��� ���������� E���7����

"# ��������; ��	�����	% ����������	������

2#� ����������	 �����*��� ���������

2�# ������ 
;
��� ��� ������ �������������

2'�" ������� ��	�� ���������

�" ������������

��# ��	�
����� 
������A� ��	����

.") .������������

$
�1� ����� ��*��A������ �; 
��������	 ���

��� �� ��	������

$1� ����� �������� 	��	�

$'�� �� ������� 	�C�������� 
���������

#1�"1� ����� 
������	����� A��	 �C��� ����
�
���

##! #��������#����*��

#�# �����	 �� ������
% #������������	�

#E� ����� �G�	� 
������	�����

#E�"1� ����� �G�	� 
������	����� A��	 �C��� ����
�
���

#�# ����� 
������	�����

!I *��
���� ���*����

!$$ *��
� �����	 ���*% !��
�������
�������



G���


�������� &�
���������

�&E� 
����

��� ����� ���� ����G�����

�&�� 
����

��� ����� ��	�� ����G�����

�#& 
�� �������� &

��� 
��* �������; 	��	�% �*������
�����	��	�

��� ���� 	����� ��7���������% ��*��
��7���������

�1 ����
���
�� �������
��

�1��
 �����
����� ������	 ��	��

�# ����
���
�� �������
��

�' ������
���% "���
����

�.+ ������.����+����

+$
, /�����

 ����� ��� ���/���

'I�1$ �������� �����; 
������ �������� ��
��



G����



���������������

"���
;
���� 	����� 	�� F����������� ��� ������������� ��� ����� ��� ��������������
����

+�����% /����� ��� ����� 
������ ��*������ ��	 ��
�����J��	 ��� ����� 1�*����������� ��
�

��/����� /��	�� 
����	���
 ���� 	��
� 
�� 	�� �����������
����������� ���� �� ,�����C�����

������ &�� ��	����% ����� ��� 	�� 1�*���� �����*������ 2������% �0���� 	�� �������������

��
���� "��	�� ��� ����� �����
���� �������� 
����� ��0������ �����
����� ��� ��0�
�����

�0���� ��
 ���������% ���� ���� ��
 ����� ,���/��� ��� �������� #�	���� ��
�����% 	��

���
*���
/��
� ���� ��������
������
���������% &�
��;
���� �	�� ��������������� ��������	��

������	�� 
��	 ����� /����� 	�� ��������������
���� +��������	�� 	����� �	�� ��	����� ���

	�� &�����**�� ��� �� �0���� ���
*���
/��
� 	�� ��������������
���� "��	�� ������
� �� 	��

'�����	���
��������� �����**��� ��	 ��
� 	��� �� "��� ��� �������
��������� +����� �� 	��

2����� ���	������% �� 	��� ��0������ �� �����
����� ��������� $������
�����**������ ����

��� ��
��	��
 	��� ���% /��� 	�� 
���

����� 	�� $�����
;
���� �� 	�� 2�0J����	���� �����

+���������� �	�� 	������ ������ 

1�� �0������
 ��0�
������� ��
������� ����� ����
�������������������% 	�� ��� "�������� ���

����� ��� ��������������
���� +�����% /����� ��� �����������
����������� ����
������ /���

	��% 	������ ���� �� 	�� ���
�������� .0�*�� ��� ��� ����
�������������1������	�% 	�� ���

�������� 	���� �����
���� �
�% ������� ��� ������ ��	 ��*��
� ��� ������ �� ����������%

/���� ����/���� ��
 
������% 
� 	�

 
�� 	�� ���	������	�� "���
������ ��*����� ��	 �� "���

��� ��0�
��0��� �� 	�
 ����
�������������2���� ���
*��
� ��� ��*A�	����� 1��������� ����

	�	���� 	����� �����7�

� /��	��% 	�

 
�� ���� "������� ����� ���� ������� ��
����� 

1�� /������
 &��
*��� �
� 	�� &������ ����
 #�����������
 �� ����� .������������ ��� ����������

��� ��	 
���� ����/����� .�������� 	�
 "�������
% 	�� ���� '������� ��� ������������� ����

�����	�� ��������% ���� ����� ������
/����� ���� 	�� ���������
���
���� ��*������% 
� 	�



�
 �� 	�� "���� �� ����� ��0���� 	�
 ��	����
����J�� &������
 	�� ���������
���� &�����**��

����� 

��� ���	�� �����
������� ��������� ����� ������
��% 	�

 H�/���
 
���������
��������� �����

�����C�� 
��	 )�� 
�
�������� 	�
 ���0���� 2�����	���
*��������
% /�����
 
��� ��
 	��

&������ ��� "���
;
����� �� 	�� ���
*������	�� �����	 ������% 
��	 �����
�������� 	��

���������	�� "��	�� ��	 	�� 	����
 ��
��������	�� ��0�
*�������� ���/��	�� ������ 
��� 	��

���������	� 
����� ����� &������ ���
���% 	�� 
��� /�� ����� ��
�����
����K

G�G



GG

• 
����� ����������% ��� 
���
���� ��
�����	� #�


;
����% 	�� ��� ����� ��� 	�� #�
�


��� ��� ���������������	��� ��	 ��� ��	���� ��� 	�� #�

��� ��� �"��*�������� ���

$�������� ��
����� 
��	

• '����

����� ����
 �;���	�� "��	����������
���������
% /�����
 
��� ��� 	�� �����
��

����� ��� 1����**��
*�������� �� ��	�����
���� ��*�������� ������

• &��������� ��	 #�

��� 	�� 1����**���� ��� ���������������	��� �� ����
������������

• #�

��� 	�� "��	���������� �� .������������ ��� #���������������

��� "�������
���������������� ����
 2����
 ����� ����� ��� ��� 	�� �����
���� 	�� ��0����	��

��	 	�� 	���� �����������	�� 1����**��
*�������� �� 3.�**����
��	���4% 
��	��� ���� ���

	�� &����7�

������� 
����� ���������
���� &�����**�� 3&����7�

���
��	���4 $�������
 �
�

�/�� ����� 2����
���	 	�� ���������	�� 
�����% 	������ /��	 �� .�*���� 5 ������
� ���� 1���

������� �����	 ����
 ���������
���
*���
 ������� ��	 �������% /�� 
��� �"��*�������� ���

����������� ����������� ��
/����� 

������ ������	 /��	 	�� ���������*��G ����������� �� 	
��
����������
� �����
����� "��	�

����������
*�������� ������ ���� 7�G���� #0��������� ��� 	�� �����
������ 	�� ��0������**�

���� 
����	���
 
������ ��� 	�� "������� 	�� �*������*������������� ��	 	�� ����������% 
�

	�

 
��� 	����
 2������ ������� ����� 
�
/��� ����
 ���
*������	�� &���������
�������

���
 ���� 	�� ���������/��	 H�	��� ��������� /��	��% ��	 �
 A�	�� 
��� ��� ���
����	���

���������� H�/���
 ��������� #����	�� (�	��� 
����� 	�� 
��/��	 ��� ���������% 	�� 
��� ���

���
����	����� #���������� ���������% /�� ���
*���
/��
� 	�� �������
���� .0�*�� ��� 	�� �����

����� ��	 	�� �������
��� ����
������������ ��� 	�� ��	���� ����� 	�� 1��
��� ��� �;���	�

�����	�� �0���� 	�� �����
����	������ ����*������� 	���� ��� H�/���
 ���������
 '��������

��������� /��	�� 

�
� ���� !������
������� �������	 ����� .��*��G���� ��	 ����
 "��������������
 ������
��

����� ���� 
������� �����	�����% ���� 	�� ������������ ��� #�

����� ����� 
�
/�� 	��
����

��� ����� �
� �� ��������% 	�

 	���� 	�� ���
�� 
���
� 	�
 1������
 ����� ������
��� /��	��


��� )�� &�
������� 	�� 1����**��
*������ /��	 	���� ��� #�

�����
������������ ���0����%

	��% �� "��	������������ �� ������	��% ���� �������
��� $�������� ��� ��������
������ ��	

#�

/������������ ��
����� �� 	�� ���������	�� 
����� /��	 ������ ��� ���������
% ��� 
��

��
���� ��
�����	�
 #�

����� ��
��������% /�����
 �*��
�� ����
������% �*������
��

�����

���� ����� ���J�� "�������������� �������% ���� ���� �;����� ���/��
� ��	 	���� ���� ����

����� &������������
	���� ������� 

+�����	 �� 	�� ���������	�� 
����� 	�� ���������*��G ����������� �� 	
��
����������
�


�/��� ������
�� ��
 ���� ��

������
�� �����	��� /��	% A�	�� 	�� �����
������ 	�� �
���

�
��
����� �� ����������
�� �
� ����������
���
� ��

�����J���� 	���� #�

����� 
���� �� 	��

���������0������ "�����
������ 
��	 ��
������� ��� ���������
/��
� ����� "��	
������ �0��

���� ���
� �0���� ��� 	�� ����������� �������
���� $�������� ��	 .��*������� ���/����� 



GG�

"�� 	�� 1���������� ��� 1#'L��������J������ �
� 	�� '������������ ��� "��	
�����	����


��� ��������� ������ 
��� 	��
� 
����� ����� &������ ���
���% ��	�� "��	������������ ����� ����


����	���� 1��7�

*��������� /�� "�������% 
�������*�
����� ��	 
�� 	�� "��������������


��� ��
����� /��	�� ����� 	����� 	�� "��	
��
�� ��	 
���� 
�������� 	�
 ��������������
���

+��������	 �� "������� ����� ��������� 1
 ��
����� 
���� �������� 
����	������� /�� ��� 	��

#�

�����
������������% 
� 	�

 	�� ��� 
���
���� ��
�����	�� #�

��������� ��	 #�


;�


���� �� ��	�A������� "��� ��� 	�� 
����� ����
 ���������� "��	
��
��
 ����/��	�� /��	��

�0���� 


���
�
;
���� A�	�� 
��� ��
��� �� �������
���� #�


;
����� /�� ���
*���
/��
� ���*�����

E
��������*��� ��	 '������,���/�������;
������% /��	�� ��
��� H�	��� ���� ����� �� "��	
���


���� �����
���� 1��� F���
���� 	�� ����0�������� ���
���� A�	�� 
��� �� .�*���� 6 ���� /��	

	�� ����	 	�� ������� ��
�������� ��	 	�� ���
����	���� �;
���� ���

�A����� 

��
 2���	*�����* 	�� ��� 
���
���� ��
�����	�� "��	
��	� ��	 	�
 #�

�����
������������


/��	 �� .�*���� 8 �����
����� #�� /���� 
��/��	 ��

�� 
��� 
���
��� ��� 
��� ������ ����

������ ����� +��	 ��
������� ��� ���������� ���������
��� 2������� �������% ��

�� 
���


����
*����	� ��	 �������� 
��� ��������	��� #�


;
���� �����
����� ��
 +������� �
� 	���


�
 '�������� ���� 
����
 
�*����	��� ��	 "�����������
 ������ ������ ��	 ������ ��
����

���� ���
���� ��*�	������������

� #�� ���������� 
���
�
���������� �0���� ���� �������
���

"��	
��
���� ��������� /��	��% 	���� ��*���
������ ��
 �*������
������ ��� ��������*������

�������

� /��	�� ���� ������ /��	�� �� .�*���� 8 
�/��� �����
������
��������� ��� 
��������

��������� ��
 ���� #0����������� ��� 1�������� ������ 
���
���*��
� �����
����� 

��� ��� 
���
��� ��������
������� �*������
/���� 
��	 ����� ���������

���
������� �� �����

�������% /����� 
��� ��J������ 	�
 '��
���
������
 ��A�	�� ����� 	�� ��������������
����

"��	�� ����� 	���� �������
��� $����� 	�
 #�


;
���
 �������� /��	��% 
��� 	�� #�

/������

������� ��� ����� ��� $����/������������ �������� E*��
��� '�����	����� ����� ��������� �����

���
���� $������ H�	��� ���� 1��
�����������% /�
���� 
��� ���� ��
��

��� ��� #0�����������

��� �����������
����������� ��
�����J� 

$����/����������� /��	�� �� ������ 	�� ���������	�� 
����� H�	��� ����� ��� ��� #�

/������

������� �����
����% 
��	��� ���� ��� ���������� 	�
 
���
���
 ����� ���� 	�
 ��������������

	���� 	�
 ���
���� 	�� �*�����������
���� &���������� 	����� �������������� /��	��% 	�

 �


�� ���������� "������ 	�� 
���
�����*����� �����% /����� ����� 	�� &����C 
*������(����� ���


���������

� /��	�� ���
�� (����� ��� ����� 	�� 
���
���*��
������ 	�� 
����
��� 1��7�



��� 	�� &��	������ 	�� #�


;
����% /�
���� ���� ��
��������� &����	���� 	�� )�
���������

�� ������� ,��� 	��
�� ��������
���� &������������ /��	�� ������ 

*���� 	�
 !��
�����
����


��	 #0����������� �� 	�

�� #�

��� ���������� 

��� #���������� 	�
 (�����
 /��	� ��� 	�� 1�
������� 	�� ����������� ��� ������������������

��������� ��	 ��� 
���
���*��
��������� ��
��	��
 �������� �������� ������ 
����� .�*����

9 	�� ����
������ ����������� ��� )�����
� /��	 ��� F�������� ��� ������� 
����� 	�
 ����


��
 �������% ��	 �
 /��	�� 	�� ��������� &�0��� ��
�������� ������� �����7�

� 	�� 
���
���



GG��

	�� .���	���� 	�
 #�

��*�
 �� ����� /�
��������� ����% 
� 	�

 ���� ��
��������� &����	�

���� 	��
�� ���������
���**� �������% /����� �������	 	�� �����
��������� 1���������
������


����
*����	 ��
������� 
��� ��

 &��� "��	
��
�� 
��	 
�/��� 	�� .��*���������������� ��


���� 	�� ���������
��� ��������� *����
*����	 �� ����� ��*��������� �������������� 1
 �������

	���� ���� &�
��������� 	�
 ��
��	���� 
�����
 	�� 
������% ���� ���� ����� �������
����

1����
�������% /�� ���
*���
/��
� ����
 "�����������
% 	�� ��� ���
*������	�� #����	�� ����

������� /��	�� ������ 

��� 
����	������� ��������� !���� ��	 �������
���� 1����
������� 	�
 �������
���� "��	
���


��
 
��	 ���� #�

�����
������������ �/�� ���	�����% H�	��� �
� ���� 	�� 1������

��������

	����� �� ��	�A������ 	�

 
�� ��� 	�� +�����/�	��
���	 	�� 1������
����
� ��
�����J� ���

"����������� 	��
�
 #�


;
���
 ����� 	��� �� &������ ��� : #�� ��
 3 GHz ��������� ���

±0, 5 dB ��� �;����� �
� > 70 dB ��	 ��� ����� ���� &�������� �0���� �������� 6@= ===

1�������

����� ���� &����� ��	 !��
� 	����������� /��	�� 

#�

����� ������ �/�� 	�� '������% ���� ��� 
��� ���*��������� ��������� 1������

� �� �������%

H�	��� �
� 
�/��� 	�� ���������� ��
 ���� 	�� ��������� 
��/��	 
��� ����% /��������� �������


��� &����������� 	��
� ,�������� ����� ���/��
�� ����� /��	�� �� ������� "��������������

	�� ����
�������������1����**��
*�������� ��� ����� ����
 &���������
���������
 ��
�����%

/�����
 �� .�*���� : ��
�������� /��	 

��� �������
��� ����
������������ ��	 	�� 1������	� ��

�� 
��� ��� �������� ������
����


��/��	 ��� 	�� #������������	� 3#�#4 ��������� 
����	���
 
����� 	�� �*������*�����

��������� ��������� ��% 
����	 	�� .0�*�� 	�
 ����
������������������
 ������
������� /��	 

1���� 	�� 2���	� ����� 	����% 	�

 	�� !������������ 	�
 ���
�������� 2�/���
 
��� ���� �
�%

/�	���� 	�� +���������� �� .0�*�� 
���� �������� /��	 ��	 
���� 
��� ���� 
���������� /��	��

��

 ���
� ����� ������������� /��	� �/�� ���� 
��� 	����������� #�	��������� ��������% 
��

�
� H�	��� ��� ��� .0�*����	��� ��� ��������� "����� ����� �����	������ 1
 ������ 
��� 	���� ��%

	�� .0�*�� ��� ����� ��	���� ������
���� '�������� �� ���������% /�����
 �/�� ����� 	�� ���

�����������
�0����������� 	�� #������������	� ��
����% H�	��� ��� /������ 
�
�������������

�� 	�� $��� �
�% 	�
 �����*������ ������� �� ��
�������� �� ������ 	�� ���������	�� 
�����

/��	� ������ 	�� #��������#����*���#����	� 3##!4 ���/��	��% /����� 
��� ��� ������0�*��

��� ���	�� "����� ��� ������ 

&��	� #����	�� /��	�� �� .�*���� : ������
� ��
�������� ��	 �
 /��	 	�� �� ������ 	�� ����

������	�� 
����� ���
���	��� ��H�������������� ��*������������ 	�� ##!�#����	� �����
����� 

"�� 	�� &��������� 	�� 1����**��
*������ /��	 	�� ����
������������ ��� 	�� #����������

���	� ��	 	�� ���
������� .0�*�� ��� 	�� #��������#����*���#����	� �����	��� ��
 �����

��� �����
����� ��������� .�**����
��������� /��	 ��
��������% ��	 �
 /��	 ��� #0�����������

��� '����

����� 	�� .��������� ����������� 
����	���
 �
� 	�� #��������#����*���#����	�%

��
��
��	��� ��� ����������� &�������% ����� ������ ����/��	��% /�
 
��� 	���� 	�� ���������

'����**���� ��� 	�� #������������	� ���� ���
������ ��
���� /��	 �� ������ 	�� �������

���	�� 
����� ���� #0��������� �����
�����% /�� 
��� &���������
��	���� 
������ ��	 �B�����

��
������ ��	 �*�������� ��

�� 



GG���

1����
���� /��	 	�
 ��������� &���������
��������� �� .�*���� >% �� 	�� ����
�������������

1����**��
*������ ��� 	�� "�������������� ��� := #�� ��
 :== #�� �� �����
����� ��


���
�������� 2�����	���
*�������� ����� ���� H�	��� ����� ��� ��� 	�� ��������������
����

�����*������% 
��	��� ���� ��� 	�� ������� ��������� 	�
 �������������
 �� ����� 	�� 1���

������� �� ��� .�**����
��	��� ��	 �� ��� '��������������
��	��� �0���� 	�� ��
����	����� 1���

7�

� 
����� �������� /��	�� ��
 '��������������
��	��� �
� ����� 2����
���	 	��
�� 
����� 

������� /��	 ��� 	�� ���������� /�����������	� $�������� ���/��
�� 

��� 1����**��
*������% /����� 	���� 	�
 .�**����
��	��� ��
�������� /��	% ���� ���/�	��

	���� ���� ���������	� ����� +���� �����
���� /��	�� �	�� ���� 	���� ��� "�������� �� ���

����������� ,��� 	�
 !�������� ����� �����
����	�� 
��� 	�� '�������
/��
�� ��� &���������

	�� ���	�� ��������� /�
������� ��������	��% 
� 	�

 ���� 1��������� �� 	�� �
���
��� ��	 	��

����
�����
�
������ ������� 

��� �
���
�����
�
������ ������ ����� )����������� 	�
 ����*�������
*�����*
 �B����� ���

����� 	�� #������������	� 	����������� /��	�� ����� /��	�� 	�� 1����**��
*�������� ���

���
����	��� ��*���������
�����% 1������
����������% !�����
������� ��	 "��������� ��
����� 

1
 ������ 
��� ��
��
��	��� �� �.+�&������ 
����A����� ��
������C����% /�����% /�� /������

�����
�������� �������% 	���� 	�� ����
�������������1������	� �����
���� /��	�� 

2�������� 	�� "������	�����
������% �
� ��� 	�� ,�����	�����
������ 	�� &���������
���/��	

/�
������� �0���% 	� ��� H�	� �������� 
�������*�
����� ��� ���������
���� !�������	��������

�����	������ �
�% /�
���� ��� 	��
�� ���� 	�� �����
�������� 	�
 �� .�*���� : ��
���������

�;���	� &���������
��������� �����
���� /��	� ����� ������� ���������
/��
� ����� !������

��������������% /�� ���
*���
/��
� ���
����	��� !�
������� 	�� ���	��������% ��������� /��	��%

�� 	�� +��
��I�
��1����**��
*������ �� ��
������ 1��� )�
�������

��� 	�� 1������
�


� ������� ��
�����J��	 �� "��� ����
 ��������� 
�
���	
��
����
% /�����
 ����� 	�� ,�����	�

���� 	�� "������	�������

� ���������� 

+�����	 	�� &��������� 	�� 1����**��
*�������� ��
 :== #�� ��� ��� ����� ��������� !I�

I��
��� 	����������� /��	�� ����% ��
������ 
��� 	�� ������
��� �����
������ ��� #���������

���������� 	�
 2�# <==� ��	 2�# 5@==�,����
 
��/������� ����� �������� ��� 	�� &�
�������

	�� 1����**��
*������ ��� �0����� "��������� �� 	�� .�*����� 8 ��	 9 	�� 
����� ����
 #�

�

����
������������
% /������ 
��� ��� #�

����� ��
 8 2�� ������ .�*���� ? ��
������� 	��

'��
���
������ ��	 	�� ������������ 	�� #�

����� ��� ����� .0�*��*������ ��
 ���
���


�����
������� .��
�
��C% /�����
 ��� 	�� '��
���
	����������� ��� 2�/�����
���7�

������

������� /��	� ��� ����
������������ �
� 	�� ��*���������
��� ���
*������	 �� !������ A�

G���� 
�
 ���������
������ ��� ���� ��*��������� ��� '��/��	���% /����� 
��� ��� ����� ����


!�
��������
��������
 ��������� ���J% �� 	�� 1����**��
*������ �� 
����������� 	�
 
��������

��
���	
 �� ��

�� 

#�� 	�� �����
�������� �� 	�� .�*����� > ��	 ? /��	�� 	�� ��0�
*������ �� 1������ 	�


����
������������
 �� 
����������� ��� ���
����	���� 1��7�

�������� ��������� �� 2�����


��� 	��� /��	�� �� .�*���� @ �� .������������ ����� 	�� 1����**��
*�������� ����

��%



GG��


��	��� 	�� "��	������������% 	�� �� 	�� "�����
������ ��� #��������������� ��������� ������

/��	 	�� ��� 
���
���� ��
�����	� "��	
��	� �����
����% �� ������� ��� 	�A������� !��	��

	�� ��������������
���� "��	�� �� ��
������ 1
 ������� ���� �����
������ 	�� ���
����	����

1��7�

�������� /�� "�������% !���������� 	�� 
������ ��	 
�� 	�� "�������������
��� 
��


�����J��	 /��	�� 	�� 1������

� ��� 	�� �����
������ !���������.������������ ���������
��

�����������
����� 



���

��



 ���	������� *��*���; �� ��	�� 
;
���
 �
 ��� ���

��� �� ��������������� /���
 ���
� ��;

��������� /��� ����� ���������� 
;
���
% /���� ��� �� 
�*����� 	�����
 �� �

������
 �� 
������

��	���
 ��������	 �� ���� ����� �; *�/�� 
�**�; ����
% ��
�
;
���
 �� 
����� ����
 1�������

���	�����
 ������� ��������������� �����; ��	 ���	� ���� �� ��� ���������� ��	���
 ���; ���

��������	 �� ��
�	� ��� 	����� ��� 
�
��*�������; 
����� ��; 	�
���� ��� ���������� �������
 

���
 ��� ��
��� �� � ����������� �� ��� 
;
��� I��*���� �C���
 ���
� �� ��� ������
 �� ���

���	�����
 ��� ������	 �� �� �G���	 ��� /��� ������
 

"�� �G��*�� � 	�
�������� 
������� �
 � *�������� *������ �
��� � ��	�� 
�� 1��������������

/���
 ��� ������	 �; ��� 	����� ��	 ���*�� ���� �� ����� ��	; ��	 ����� ��� �������	� ������

���� �� ������� ��� �������	 
����� �
 ��	 �� ��� ���	��� *�������� 	�����
 /���� ��; ��


�
��*����� �� ��� �" 
����� 


 ������� �G��*�� �
 ��� �
��� �� � ���� *���� ��
�	� �� ���������� 
 �����; ��
������ �


�����	 �; ��� ��� ���

�
 *��������� ����������
��;�A��	
% /���� ��; ���*�� ���� ��� ���*��G

����� �����

 #�	���
 ��������	 ��; �� ��7�����	 

&��� 
�������
 ���� �� ������% ���� 
����; �������� 
;
���
 ��� �������	 "�� ��� �
��������

�� 
������; �����	
 /���� ��; ��������� ���� ��� �
� �� ��	�� 
;
���
 ����
��������
 �� ���

��������������� A��	
 ��	 ����� ���*���� �C���
 ��� ���*��� �� ���� ���� ���
 ���
�
 ����������


��� �����/��� �����	
 �
 /��� �
 ����
��������
 /���� ��� ��
��	 ����/K

• 	�����*���� �� ��/ ���
������� 
;
���
 ��� ��� ������A������ �� ��������������� �"

A��	
 �
 /��� �
 ��� ��� 	������������ �� ��	���	 �������


• �*���������� �� � �;���	 A��	 ����������� 
���/��� ��*���� �� ���*����� ��� �������


��	���	 ���� ���	��� *��������


• ���*������� ��	 ���
������� �� ��� ���*���� �� �" A��	
 ���� ���	��� *��������


• ���
������� �� A��	 	�
���������
 ��
�	� �� ���������� 	����� ��� �*������� �� � ������

*����

GG�



GG��

�� ���*��� 5 *������
 �� ��� ���� �� �" ���*���� �C���
 ��� �	����A�	 �; ����
 �� � 
��*��

�G��*�� ��	 	�C����� ������������ �������
�
 ��� 	�
��

�	 �� ��� �����/��� �� �����	������

���� ��� *������ �� ���	��� *��������
 �
 ����� ��	 
������� A��	 ����������� �����	
 ���

�����	���	 ��� ����

��; �� ���
�������
 ��	 �	������ ���
������� 
;
���
 �
 *�����	 ��� 

��� ��
������� ��� ������A������ �� 	�
�������� �������
 /���� ��
 ���� 	�����*�	 /����� ���


/��� �
 	�
��

�	 �� ����� 

��� ���*��� ��������
 /��� � 
���� �����	������ ���� 1#I *������
 �� ���������� ���������; 

��� ��� ��	; �
 
������ �� � �����; ��
������ ����� ���
�	�����; ���� A��	 �����
����
 	�����

��� �*������� �� ������ *����
 ��; ����� �� ��	�� �� ����/ ��� ������������
 �� *������

���
������ 1#I 
����	��� ���������
% ��� ���/��	�� �� A��	 �����
����
 /���� ����� ��
�	� ���

��� ��	; �
 ����

��; 

 *��� �� ���
 /���% � ���
������� 
;
��� ��
 ���� 	�����*�	 /����

����/
 ���
�������
 /��� ���� �������; ��	 ���
������� 
*��	 
� �������/ �� ��� 
����

�� ��� ��� �� A��	 
��
��
 ��	 ���
������� 
;
���
 ��� ���
����� ���*���� �C���
 �
 �����

�� ���*��� 6 !�

��� ��	 ������ A��	 
��
��
 ��� 	�
��

�	 ��	 
;
���
 ��
�	 �� A��� �*���

���������; ��� ��
� ������	 "�����; ��� �/� ��
� ������ �����	
 ��� ���
����� ���*����

�C���
 ��� 	�
��

�	 

I��*��� 8 ����
 �� �����	������ �� ��� ��
�� �	�� �� ��� ���
������� �����	 ���*���� 
;
���


/��� 
���� 
/������� ����
 ��� �� ����� �* /��� ��/ �C��� �� ��� �������� ��	��
��*����

*�����*�� �
 �
�	 �		��������;% � ����	���	 ���
������� 
;
��� /��� ��/ ������� ���
��*����

��� �� �������	 "���������� ���
 �����	 *����	�
 ���	 ��������; /��� ��
*��� �� ��*����	�

��	 ��������; ��
*��
� ��	 �C��
 �	���������
 ��*�� ��*�	����
% 
� �� ��� �� �
�	 ��� ��������

A��	 *����
 
		��������; ���
 �����	 �
 /��� 
����	 ��� ������ ������� ���
�������
 �� ��������

���	�����
 

"����/��� ��� ������� �� ���
 �	�� ��� ��
�� �������
 /���� ��� �**������� �� ��*������� 
�����


���� �������� 
���� 	�*�� �������
 ��� A����	 ��� ���*���
 �
����; ���
�
� �� � *��
� ���������

��	 � ��
� 
/���� I��
�������; 	�C����� �*����
 ��� ��� ���������� �� 
���� 
��*���� *��
�


��� 	�
��

�	% ��
� 
/�����
 ������	 ��	 	�C����� ����� ���������� �����	
 ��� ����
������	 

��� ��
� ��*������ �
*��� �� ��� ���
������� �����	 �
 �*������ H�����% /���� �
 	�A��	

�
 ��� ���	�� ��������� �� ��� ���������� �� ��� 
��*���� ����� &�
�	� ��� 
��*���� *��
�

/�	�� �� �����
 ��� ���	/�	�� �� ��� 
;
��� ����� � 	������	 	��������� �� ��� ����������� ��

���	/�	�� /��� H����� �
 �����% ������ ��� 
��*���� *��
� /�	�� ���� ������� "�����; �
*���


�� *��
� ���
� ��	 ����
 ��� ��
 ���
������� ��� ��������	 

�� ���*��� 9 ��� ����������� �� ��� 
��
�� 
;
��� �
 	�
��

�	 "��
� �� �������/ �
 ����� ��	 ����

� 
*����� 	�
��� �� ��� 
;
��� �
 *��*�
�	 /���� ����/
 �*������� �; � 
���� ������ �� ���� ����

��������
 ��� ��H�� *��� �� ��� ���*��� �
 	�����	 �� ��� 
��*��� ��	 ��
 	����� �������
 ���



GG���

	�����*���� �� ��� ������� 
�������� ��	 �����	
 ��� ��
 ��������; ��
*��
� ���������� ���

��
� *�����	 ��� ��� ���*��� ���
�
 /��� �� �����	������ �� ��� ���
����� *�������� �������

/���� ����/
 ��� ������A������ �� ��� 	�
������� ������� �� ��� ���	��� *�������� �������	� ��


��������; ��
*��
� �
 /����� ±0, 5 dB ���/��� : #�� ��	 8 2�� /��� � 	;����� ����� ������

���� 70 dB E�� 
�� �� ��������
 �
 
�B����� ��� 6@= === 
����� ������� ������ ���
�������
 

I��*��� : �
 ����

�	 �� ��� �;���	 A��	 ���������� �����	 #�#�##! "��
� ��� �����*��

�����*��� �����	 3##!4 �
 �����	���	 ��	 ��
 ��H��� �������	 ��*����������� �
 	�����*�	

/����� ���
 /��� �
 *��
����	 ��� �����	 �� ������
 3#�#4 �
 ����7; 	�
��

�	 �����/�	

�; � 	�
���*���� �� ��� ��������� ���*���� �� ���� �����	
 

 ��� �����*�� �����*��� �����	

�
 
������; 	�B���� �� �**�; ��� ���G*�������	 �
��
% � �����	 ��/ ����������� ��	��
 ��� ��

������	 �� � ���������� /�;% �
 *��
����	 

I��*��� > 	���
 /��� ���*���� �C���
 �C������ ���	��� *�������� �������	�
 /����� ��� ����

�����; ����� ���� := #�� �� :== #�� 
���� 	�
������� ��� ���*���� ��	�� ��� �����������

��	��
 �
�	 ��� *��
����	 ���� ��� 
��	; 
�*�����
 �� � ����A��	 ��	 �� � �����A��	 ����
���

������ ��� ����A��	 *��� �
�
 ��� ����*�����; ������� ��
������ �� ����� 
���� ���*�������

����
 ��� ����
��������
 
��/ 
����� ��
������ �C���
 /����� ��� '�" ��������; ����� "���

���� �����������
 ������ ���� ��� ���
 �C��� ��� *�������� �������	� �
 ��
*��
����% /���� �


����		�	 ��
�	� ��� ����� ��	; ��

�� E/��� �� ���
 
������	�� ��	��� �� ���
 ���� �

���G��� ��
������ ��� �����A��	 *��� �
 ������	 /��� ��� �;���	 �����	 #�#�##! 1C���


��������	 ���� 	�C����� ����
������� �������
 �� ��� ���
� �������; �� ��� ����� ��	; ���

����
������	 �� ���
 ��	 *��������
 
��� �
 ����� �� ����	����% 	�
����� ��	 ��������; ���

�����	 "�����; � M	�
����� ��/M �
 	�����	 /���� �����
 ��� ��
���
 �� ��� ����A��	 ��	 ���

�����A��	 ����
��������
 ���
 ��/ ������A�
 ��� ���*���� ������� �
 � �������� �� ��������;

��	 	�
����� �� ��� �N�������� 

+��� ����������
 �* �� :== #�� ��� ���*������� �� ��� ���*���� ������� �
 ���
���� �� � 
����

!I����
���% /���� �����������
 ��� 
�����
 �� ��� 2�# <==� ��	 2�# 5@==��������� ���/��� *����

��	���
 ����� �G*��������� ����
��������
 ��� *�������	 �� ���*��� ? �
��� ��� ���
�������


;
��� 	�����*�	 /����� ���
 /��� 

�� ���*��� @% A��	 	�
���������
 ��
�	� � ��� ��	; ��������	 �; � ����
������� ������ *���� ���

���
���	 ��� ���
������� 
���* �
 �����	���	 ��	 ��� *�������� ���������
 ��� *��
����	 


 ���*���
�� �� ��� 	�C����� ����������� *��������
 ���� ��� /��	�/ �;*�% ������� *��������

��	 ��������; ���	 �
 ����� "�� 	�C����� *�������� �����������
 ��� ���� A��	 �����
��; �


*��
����	 



GG����



����
�	 �

���	��
���

��� ������
���� ��� ���������	�����

��� ������
��� "������/������� �� 	�� 1������������� /��	 �� ����� ���J�� ���� 	���� �������

������ �� 	�� ����������������� ���0������ #�

��� #����/����� ���
� ���/��	�� ��� ����� ���

�0���� ������� /��	��% 
� 
��	 ���������� *���
/���� ����������� ����������� ��
 ����
���	��

�� ���	���O1�*������
;
���� ���������� 
�� 	��
� +��
� ������� ���� "�����/��	����� ��

	�� .��
��������� 1����� ������% 
� 	�

 #������������% +$
,��;
����% &���������2�����

��	 ����� /������ 
�/��	����� ����� /��� ���������� 
��	 ��� ��� 	�� ,������ 	��
�� 2�����

������	��� 1��

��� ��������������
���� +����� ����� �� *��������� ����� "��	
�����/����� ��

��
���� ��/��� 

��� �������
�������� 	��
� ����	
�����

1��������
��� 2����� �0���� 	���� ��������������
��� "��	�� ��
�0�� /��	�� 1�� &��
*��� �����

��� 
��	 	�� *��
�����	�� 2����
��� �� 
�����	��% /����� ��
/����� 	���� ��� #�����������

������������� /��	�� +�����	 �� "��� 	�
 ��	��
 	�� 1C��� /����������� /��	�� ����%

�� ���� ����� /������� "����� ���% 
� /��	 �
 *���������
���� ��� �;
�����% 	�� ��� ������

��� !��
���� �����
���� /��	�� &��
*���� ������� 
��	 
���������
��������� .��*������� ��

.������������% /�� 
&�� ��	 
�����������������% ���� ���� �����
��������	� �;
���� 	��

#�	�����������% /�� � & ����
������������ 

&�� 	�� &����7�

��� ����
 2����
 
*���� 	�� "�������������� ���� ���
����	��	� ����� $����

	�� "������� 	�
 ��0�
�����
 �� &������ 	�
 ,���
�����
% 
� �
� �� &��
*��� ����� 	���� ,����

������� ��
�0���� 
�	�������� 	�� )�
��������� ������ �� ���
����� .��*���������� #��

�����
��� /����� H�	���% /��� 	�� ��0��������� �� 2�0J����	������ ���� 	�� ������������

,����������� 	�
 ��
�0���� �;
���
 ����� 1�� &��
*��� ������� �
� ��� 
������
�����
 ,��������%

5



6

	�

�� �*������ �� 
�/�
������ ����
 
��	��	�� "��������
 /��	������ '��	��������� ��

�


��� 	��
�� 1C��� �����	 	�� ��������� ��������� �� &��	 5 5 �����
����� �
� ���� ��������
�����

���� ��� ����� �"�D����� �� 1������ &�� ���	����� "��������� /��	 	�
 ������ ���
�����% /��	

	�� ,������	������ H�	��� ����
��������% 
� ����� 	�� '��
������� ��
�� �� 3
���� ��
���������

.���� �� &��	 5 64 2����������� ����� 	�
 &��	 	�� ����

���� 2����������� �� 
�
���� 	�


'��
������
 ��� 5 ' 1������
��*����	� P5:Q &�� ���	����� "��������� �
� 	��
�� ��/������
���

��J ���� ���� ���
�
 ��	��� 
��� H�	��� �� 5 #��% �� ���� ���� 
��� ��� 2�����
*������
������

��� L=%6: ' ��� ��
���� ������� 
��	 	�� 	���� ,���������������� �����
������ 2�����������C����

�� 	�� 1������

���� 	�
 '��
������
 P556% <<Q "�� 	�� /��� ������������ E*�������
���
������

µA741 ���� 	��
�� 1C��� ��
 �� 	�� 2���&������ ������/��
�� /��	�� 

HF-
Störsignal

Ausgangs-
signal

500Ω

50Ω50Ω

µA741

1000 10000 1e+05 1e+06 1e+07
Frequenz [Hz]

0.01

0.1

1
F

re
qu

en
zg

an
g

Frequenzgang
Gleichspannungsanteil

1000 10000 1e+05 1e+06 1e+07
Frequenz [Hz]

-0.5

-0.25

0

0.25

0.5

G
le

ic
hs

pa
nn

un
gs

an
te

il 
[V

]
+��� �0�1 1�� �"���0�
����� /��	 ��

���� ��������
�������� ��
*��
� 

+��� �0�1 2���

���� "����������� ��	 2�����
*���

����
������ �� 
�
���� 	�� '��
������
�������� 

��
 �������������� &��
*��� ��

� ��������% /����� 1C���� ��� 
#���	�������� �	�� ��� ���

*��
��� �"��������� ��������� E��� '����������� �0���� ��
��
��	��� ����
������������%

/����� 
��� 
��/���� �������
��� ������� 	�
 ������
 ��
/�����% ������ ��
�0�� /��	�� 

��� ��������� ��	 
���  �!!���������

��0������ �0���� ��� ���
����	��� 
���� ���
����� ��	 ���� F���������� ���� ����J ���

����� 5 5 ���������� /��	�� P5@Q �� ������ 	��
�� 
����� ������� 	�� ������ &���������� 	��

���������
�����**���� ���
� ����� ����������� ��� 	�� '��/��	��� ��� "���	���
��� /�� � & 

&E�% �1��
 �	�� 2�# <==O5@== ��� 1�*A�	����� ���������
��� �;
����% /�� ����
�������

������ �	�� .")�.��*�������% �0���� 	���� 	�� ����� ���	����
������ �� +����&������

��
�0�� /��	�� !�����*���� ���� 	�� ���������
�����**���� 	����� �� 	�� ��������� ��������%



8

.�**����
��� .�**����
�������
��


�������
��� .�**���� '�����	��� ��� ��0������� ��	 ��0�
���� ���� �������
���� $�����

��*������� .�**���� .�**���� 	���� ��������
 �������
���
 "��	

��	������ .�**���� .�**���� 	���� ��������
 #��������	

���������
�����**���� ��������������
��� +����� ��**��� �� $�����
��������� ���

2������ �0�1 '��
����	��� .�**����
�����

/�
 H�	��� 	���� ���� ���
*������	� .�*
����� 	�� &�����**�� ��������	�� /��	�� ���� 

+�
������� *���������
���� 
��	 �������� 	�� )����������% /����� ������
 	�� 2�0J����	����

	�� +���������� 	�
 
�0���	�� ������
 ����
�������� ��	 	���� ��
 
������ /����� �0���� ��

���� ���� 1����**���� /���
�� �� ������	��% 
��	 ���/��	��� ����������� ��	 �������
;
���

�� ���/��	��% 	�� �� "��� ��� .")�.���������� ��
 .�
�������	�� H�	��� 
����� �� "����

������ �� ��	���� "����� ��

� 
��� ���� ��������� ����	
������� ����� �����
�����% /�� ��

"��� 	�� ����
�������������������	�� 

��" #�����	
���
� ��� $������
���� 	�� ����!�����
���

��� &��
*���� ������% 	�

 �� ������� "����� ���� �"�1����**���� ����������� /��	�� ��

 

�� 	������ &����7�

����� �� ������	��% 
��	 �� 	�� ���
*������	�� &�����**�� ����

����
��J������ ����������� ���
 
���� H�	��� 	�� .������
 	�� �� ��/�����	�� ��0���0J��

�����
 ���
� 
��	K

���	��$����������� %���������1 ��� �0���� 
��� 	����� ��� 	�� &�����**� ��
/�����% 
��	

���� ���� ��
���
 ��� 	�� �������**����� ���0�� ��� 	�� )���������� 

%���������1 ����� 	�� ��������������
���� "��	�� /��	�� �� 	�� )���������� ��0�
��0��

�������**���% /����� 
�����J���� �� 	�� &�����**�� ���	������ 

����� ��

�� 	�� ��������������
���� "��	�� ��
 ��
���� ��� 	�� ��0�
��0�� ���������� /���

	��% 
� 	�

 
��� ���� ����

��	��� &���������� �������� �� ������ 	��
�� 
����� /��	��

	���� 
�/��� ��������������
��� "��	�� ��
 ���� 1����**��
*�������� ��� $�����
;
����� ���


����� ���
 ���������� ��
��
��	��� 	�� 1��/������� ����
 ���������� #�

���������
 
�/��

	�� +��������/������� ����� ������
 ��
�����	�� "��	����������
�����	� 



9

��% $������
���� ��� �������������
�
��� ���	�����
���&

��� ��	 $������
���� 
���� '
���!!������ 
� (�
���&

�������

�� 	��
�� 
����� /��	�� �/�� 2�������� 
���������
���������� �;
���� �����
���� ��
 
��	

��� ����� ����
������������ ��	 ��� ��	���� .�������������% 	���� ���������� #�	��� 
����

��� ��������������
���� "��	��� ��
��
���� 
��� �0���� �� ���	�� "����� �
� �
 �0�����% 	�



"���	���
�� �� 
��� 
������ 1����**������ �� 	�� 	���� ����
����

���� $������

;
���� ����

��� 

����� ������	�
���
�	��

����
������������ /��	�� ��������/��
� ��������� ����
 �����

������
 ��*�������� '�� 	���

/��	 ���� 1������	� ��� �
�� ���� ������� ��	 ��� 	��� /����� �� 	�� ���������� �������� 

&��� ���*������ ����
������������ 
����� 	�
 2����
� 	�� 2����*�� ��� 1������	����*� 	�� 

��
 ��*������ ����/���� 	�� �������������% ��	�� �
 	�� 	����
 ��
��������	� 
��� ������ �*���

���� ��

� &�� ���������J�������� �	�� ��� 
�

������ 	�
 ������
 /��	 	�� ����
���������

���� ����� ��	 
��	�� �������
��� ��*��
� ��� ������% 
� 	�

 
��� ��� �������J���� ����
�����

���
����� 

+��� �0�1 ������ ����
������������ ��� 1������	� 

��� ����
�������������������	�% 	�� ��
 '�����	��� �/�
���� ���� ��	 ������������� 	����%

��� H�	��� 	�� ����/��
���� 1����
�����% ��
 
������ �� /����� ���������������	��% 	�� ��

	�� .0�*�� ���	������% �������� �� 	�� 1������	� ���� �*������% /����� ��� 2���� �������

/��	 (� ���� ������ 	�� ��0���� �0���� �����
����	����� "������������� ��������� &�� 
#�

��	�������� ��������% /�� � & 	���� 	�
 �'����	����
% �0���� 	�� 	���� 2�������������

���
�����	�� *��
�����	�� �*�������� �� "��������*���������� 	�� ������������� ������ 



:

��� ������ 	�� 1����**���� ����� ��� 
��� ������ "������� ��% 	��
 
��	 � & "�������% 1���

����
�������� ��	 !�����
����� 	�
 "��	�
% ��*���������
���% 1������
��*�	��� 	�
 ����
�������

������
 ��	 
���������*�	��� 	�� 1������	� )�� 
�
�������� 	�� +��
��I�
��1����**���


*������ ��

 ���� ���� )��� �� "����� ��	 .������������ ���������� /��	�� #�

������
��

�
� 	��
�
 
��� ���/��	��% ���� H�	��� ��
 �� ��
������� "��������� ������
�� ��� ����� ���

&���������
*��������� �������� 

��� �� ���������	� !������
������� ���������� ��� ����� 	�� 	��������
���� ���
��������

.0�*�� ��	 ��� ��	���� 	�� �������
���� E�H���� /�� 	�
 ����
������������
;
��� ������

���� ��	 	�� ���	�������� ��J������ 	�
 .0�*��
 1
 ���� �/�� ��� H�	�
 ����*������ ������

���� "��	����������
�����	��% H�	��� ����� ���������
��� #����	�% 	�� ���	� ����*�������

����������J�� ��� �����	��� 1
 ������ 
��� 	���� �;���	�����	�� ��% /����� 	�� '�������

�/���� #����	�� ��
����������� �� ������ 	��
�� 
����� /��	 	�
 ��������� �;���	�������

��� #�#�##! /��������/������ ��	 ��� $0
��� 	�� 2�
���*������
������� �����
���� �����

/��	 	�� #������������	� 3#�#4 ��� 	�� �������
���� E�H���� ��	 	�� #��������#����*���

#����	� 3##!4 ��� 	�� ���
�������� .0�*�� ����/��	�� 

��� 
�/��	��� 	�� 
�*������ ##!�#����	� �����	��� ��� ��/�

�
 #�J �� 1��������% /�
 
���

�� )�
��������� ��� 	�� �;���	�
������ ��
������� ���
������ �� ������ 	�� 
����� /��	

	���� ���� �������� #0��������� �����
�����% /�� 
��� &���������
��	���� 
������ ��	 �B�����

��
������ ��

��% 
� 	�

 ���� /������ ��������� &������� 
������ ��� )��� ������ 

&�� &���������
��������% ��� 	���� 	�� !������
������� 
��� ���*������� �
� �	�� ��� /������

���� 
��� ���� "������� ���� 
��� ����� 
�70
��� 	�
 #�	���
 �����	���% �0���� 
��� ��������

��
������ 
������ ��
��0*��� �� ���� 	������ �� 1������

�� �� ������% ������ 
��� 	��

1��
��� ��� #�

��������� �� �� "��� 	�
 ����
������������
 ��	����� 	��
% 	�

 ���� ������

���� ���
��
�������� �� ��� ����
�����������������
� ���������� �
�% /�����
 /��	���� �� ���

.0�*��*������ ��*�������� /��	 3
���� &��	 5 94 )�� '�����	��� ��� "��	������������ 
�����

	�� .������������ ��� 	�� #�

�����
������������ �*��
�� �������� ��
 +������� 
��� 	�


#�


;
��� ���� ���� &��	������ ��	 ����� �������� �������������� ���/��
�� �� 	��
�� 
��

���� /��	 	���� ��� ���������
% ��� 
���
���� ��
�����	�
 #�

��������� ���/������ 
���
���

������ 	�� '������% 	�

 	���� 	������ 
���
���� 	�
 �"�������
 ����� 
����������	�� '���


������ ���� ���/��	�� 
��	 ��
 +������� ����� �����% 	�

 	�� �����
����� 
���
��� ���

/�����	 	�
 
���
��������
 ����� ���������� ��	 
� 	�� '�������� �� #����� 
��� ���	���

�������� /��	�� ���� ��� ���������*��
� ��� 	�� 
���
��� ����� ���� /�
������� ���	������

"������� ��
 	�� 	�
 ������
���	�� ������
 3��������� ���������
����4% 
� 	�

 �������� ��	

*���
/���� �*��
��� '�����	����� �����
���� /��	�� �0���� 

����� ��
���
	������

��
*�������� /��	� �� .�������������� 	�� 1������������� ���������
 ��� 	�
 1������� ����


)��	������ ��	 ��� &���������� ���0���� �� $���� 	�� )��� /��	�� 	�� #0����������� ���



>

+��� �0'1 .0�*��*������ ��� ��*���������� #�

�����
������������
;
��� ��� &�
�������

	�� 1����**��
*������ ��� "���������� 

#�

��� ��	 ��������� *�;
�����
���� 2�0J�� ��� ����� 	�
 �������
���� �����
 ���� �� 	��

.������������������� /����������� &�� &��������������� ������ 	��
 ��� 
�*������ �����

�����
���� 1��
*����� ��	 )��	
;
����� ��	 ���	��� 
�����J���� �� ���*��G�� #����
������

���������% 	�� H� ���� &���
����
��
���	 	�
 #����
 ��	 2�
*�	��
�������% 1��
��������� /��

)��	/����� ��	 1��
*��������� ��������� ����� 
*���� ����� 	�� 1��������� ��� 
���
�

�����/����� ���� ���
����	��	� ����� 

������� ���
���	�� �;
���� ��� "�������
��������� /�� 
&�% 1�! ��	 
����� 
��� ����

����� .����������������% /�� ���*����% �����
��
�� ��	 ,���������

;
��� ������ 
���

���������� 	�� #0����������� 	�� ��	����� 1��������� ������� �� 	�� '����������
���/��	

�� ��	�������% /��	�� 	�� ���������
���� #�	��� ���� &�

;
����% /�� � & I
,% 2'�" �	��

$'�� ��������	�� �������� 

#�� 	�� .��*��G���� 	�� �;
���� 
����� H�	��� ���� 	���� 
����������� ��������� ��0������%

/�
 ����� ������� 	���� �����% 	�

 
��� "����� �������	 	�� '��������� ����*7����� �0���� 

1�
��/����	 ����� 	�� 
����� '���������� ��� "���	���
��� �����% 	���� 1����**������ ���

��
��������
 ��0�*�������� 	��
������ 

&�� &������ ����
 #�����������
 �� .������������ ������ ��
��	��
 ���� "��	
������ ���% 	� 	��

�������
��� "�����
������ ��
 ��
������ /���� &��	 5 : ����� ������ ���� ��� 	�� !�������

"1.E P5<Q ���������� "��	����������% ��� 	�� "���% 	�

 	�� "����� �� 1�,��� ����������� P:5Q 


����	���
 /��	�� 	�� "����������������� ��� &������ ����
 #�����������
 ����� "��	
������

��
��
����% /�	���� ������
/���� �"��*�������� �� 	�� ������������ �������**��� /��	��

�0���� &��	 5 > ����� 	�
 ����������
��	��� ����
 .��������
 P:5Q 

��� ���
������ ��� .���������������*������� ����������� ����� ������� .�
���	���� 2������

������ ��

�� 
�� ���� ���/��	����� "�������
/��
� ����� �;
���� ��/������
��� 1
 �
� 	����



?

+��� �0*1 1������
��� "��	���������� �� ����� .������������ 
�������� ��� "������������ ��	

��� �0�� 	�
 "�����
 ��� ,������ ����
 #�����������
 �� 1�,��� 

+��� �0-1 &���������
��	��� ��� ����� .�������� �� .������������ 

/������% 	�� 
��/��	 ��� 	�� ��0���������� ��� 	�� ����� ����� 
� ������ /�� �0�����% ���� ���

	�� ��	���� ����� ��� 
� ����% /�� �
 �����	������ �
�% �� ������ 

���
�
 
���� H�	��� 	�� ������ .������
 	�� ��0����7�

� �����
 "�� 	�� "��� 	�� �������������

��
���� +����� ������

���� 	���� 	�� �0�� 	�� "��	
����� �� ���
����	���� E���� �� "������� 

'�� 	��
�� ���� 	��� ��� 	�� ��0�
*�������� ��� 	�� .���������� ��
����

�� /��	�� 

��� 
�
*������ 	�� ��������������
���� +��������	�� /��	 	���� 
��� ����� "������� ������

7�

� ���
� 
��	 � & 	�� E�� 	�� ���	��������% 	�� "�������% 	�� 
�� 	�� '�����
���% 	�� )���

	�� �� 
��� 
�����	�� !��
���� ��	 	�� ������������	��� 	�
 "�������
 "�� ��

�����������

�����
�������� 
��	 	���� ���������� &����������� ��	 #�

����� ���/��	�� 

!�����*���� ��

�� 
��� ��� ����� ��� "��	����������
*��������� .�**����
�������
��� ���



@


��	����� �� ����� ��� '������ ��� &���������
*��������� ��������� ��� #�

����� �� 	��


��� ������������� ��	 ������ 
�70
��� 	�� 1������

� )�	�� ��

�� 
��� ��

������
��

��� 
��/�� �� ����

��	� 2�0J��% /�� � & E���7�����
��0��% ��� �������� +��
� ��
������ 


����	���
 
����� 	�� ���������� ��	 	�� �*������*������	��� ��� 
������	�� "������� ��*�	�

�� �� ����� ��� 
�/��	��� 	�� ���

�
���� #������������	� 	�� '��	�**���� 	�� "�������

�� ����� 5>������� �*������*������	��� ��	 
���� �� ����� >9������� ���������� ��� 	���������

����	 	�� ������� ���0������ 	�� &��������� ����� "�����������

���� �� 6%9: 2�����#�&��	

��� ����� !I�I��
��� P:5Q 

.��*��G� ������
��� E�H���� �0���� ��������/��
� ����� �G��� ��	������� /��	��% 
��	��� �


��

�� '�������������� ����������� /��	�� 1
 �
� �������� 
��/��% 	�� 	�	���� �����
����

��� "����� ����
������� �����
 ��
������� 	�� ,��/��	������% &���������
�������

� ��� �����

��� #�

����� �G��*����
�� �� ����A������ #�

����� 
��	 	�
 +������� 	��� �����	������% /�

���*�������� ��	 �������
�� ���J� E�H���� �� �����
����� 
��	% 	�� �������	 ����� 2�0J� �����

���� ����������� 
��	% /�� � & ��� 
�����
 ��� 1�,����"��������� 3
���� &��	 5 ?4 

+��� �0,1 
����� ��� #�

��� 	�� �������
���� "��	
����� ��� #��������������� �� ����� 
��

����
 

"�� 	�� #�

��� 	�� �������
���� "��	������������ 
��	 
������� '�������� ���/��	��% 	�� �������

������ *�
�����
����� �������� ���� ������ 
��� 	�
 �� ���������� 
�
������ ������
 ��������


���
���������� �� ����� 	�� ��������� ��������� 	�� 
���
���*��
� �0���� 	�� "��	
������

��
 ����� 
��� 
������ ��/����	�� "��	
��	� ��
����
�� /��	�� )�
������� ������ 
���
��� '���

����� �� )�
��������� ��� �������
�� ������ 
�������% 
� 	�

 ��� 
��� �������� "�����������

�������� /��	�� ���� 

�� ������ 	�� 
����� /��	 	���� ���� ��������� 
�������
������� ���/������% �� /����� 	�� 
��

��
�
�������� ���������� /��	�� ���� #�� 	�� ��� ���
���	���� "��	
��	� /��	�� ��
�����J��	

#�

����� �� ����� "�����������

���� 	����������� ����� /��	�� ���
����	��� 1��7�

�0��

���������� /�� '�����
���% 
�������*�
����� ��	 "������� �������� ��	 
�����J���� ����������

��
����� 



����
�	 �

��
����	���� ������
���
��

"�� 	�� '���A������� ��� &���������
�������

�� /�� ���� ��� 	�� �G*����������� D�����
���

���� 	�� 1#'����������� 2�0J�� 
��	 ��� ����� #�

������ ��� &�
������� 	�� ��������

�������
���� "��	
������ ��	 ��� ��	���� #�

������ ��� &�
������� 	�� 1����**������

�����	������ "�� 	�� #�

��� 	�� "��	�� /��	�� "��	
��	�� �����
����% �������� ������ ���

	�� #�

��� 	�� ��0������**���� 	�� �������
��� 
�������� ��	 	�� ���������� �� "���� 

��� )������*����� ��� +���
����� 	�� ���	��,���

����� ������� �
� �����
���� 
�� ����
����

1��� �������� #����	� ��� &�
������� ����
 ��������������
���� "��	�
 �
� 	�� 1��
��� �����


������% 	���� ������ ��� ����� ����� �"�$������ ���������� ��	 � & ����� '��������������

�	�� �*����������;
���� ��������� /��	 !�����*����� !������� �������� 	���� 	�� �"�$������%

/����� 	�
 �� ��

��	� ��������������
��� "��	 �����7�

�� ���� )�� ����� /���� 	�
 .����

��
 ������0�*��% 	�� 	�
 ����������� �������
��� "��	 ����
�����J�% ��	 ��� ��	���� ������� 
���

#�����/����� ��
% 	�� 
��� ��
 "����� �� #�

�������
 ���	��
������� �0���� ��*���������
��

�
� 	�
 '�������� H�	��� ��� 	�� &�
������� 	�� ,�����	�� ������� ����� E���7����% /�� 	��
�


�� P>Q ��	 P5=?Q 	����������� /��	� 

����� ������� �
� 	��	�	�
��� ����
����

��� ����������	� 
�
������ ����� 	�� ���/����������� 	�� �������
���� 
�������� "��	�������

������ �0���� �������� ����� ��	������ /��	��% ��	�� 	�� 
�������� 
���� �����
���������

��
������� /��	 
����	���
 ������ 
��� 	��
� $������ /���� ����� 
������ ���*���� 	��� �����

���� ��
 +����������� +��	 �������� 	�
 �"������� ��� ����� ����� ��������	��	� 	����� ��

<



5=

	�� 
������ ���������������% 
� ���� 	�
 2�����
*������

����� ���� ���� ���������� 
�����

���� �� ����� '�������� �	�� 
����������������
����� �������� /��	�� 3
���� &��	 6 54 1���

	����������� ��
��

��� 	�
 '��������
 A�	�� 
��� �� P:Q 

+��� �0�1 "��	
��	� ��� ����������� 
�������� 

#�� ����� 	�� ��
���������� ������� ��

�� 
��� ���� ���	����������� �����
�����% /����� 	��

&�
������� 	�� "��	
��������������� ������� ����� E���7���� �������� ����� ��������
 
���


������ 	�� #����G������ ��

�� 
��� 	�� ���	�� ������/��
� ��
��
�� �� P>=% <>Q /��	 	�� 1���

/������� 	�
 '��������
 ��� 	�� "��	
�������

��� ��� .�*�*����������7����� ��
�������� 

����� ������������ �
� ���
��	�� ����
����

1��
����	��	� '������� ��������� 	�� ����� �����
������� 
���������� ������ �*��
��� $����� 

��� 
�0��� ��� ����� 	�
 �������
��� "��	 ��� ���������

����� ��	 ��� ��	���� ���0�������


�� /�
������� �0���� &��	������� ��
 � & 	�� ���������� 
�������� #�� ����� ��� �*��
����

'�����	����� �0���� "��	
��
���� ��
������ ��	 ��
����
�� /��	�� 

�� P>?Q /��	� ��� #�


;
��� �����
�����% /�����
 ��� ����� ���� ���	����������
���� �*��
���

'�����	��� ��� ��	 ��� ��	���� 	�� #�

��� 	�
 �������
���� "��	�
 ���� &����� ��	 !��
�

���0������ ����� ��������� "���������
������ ������ ���� ������� &��	������ 	�
 �*��
��

�� ����������	�� ������
 ����������� /��	��% 
� 	�

 ��� *���
/���� �*��
��� .��*�������

�����������C�� /��	�� ������ 

�*���� 	�� .�
��������� ���� ���������	���� �����% 
� �0���� �*��
��� �������� �����
���� /���

	��% 	�� ���	�
���
 	�� #�

���	������ 	�
 ���
��
 ���/��
��% 
� 	�

 ��� �*��
���
 ������ ��

���
�� 	����� ��� 	�� �"������� ��	������ /��	�� ���� �� 	�� ���������

���
������� ����

�
 
�����J���� 	���	������ ��	 ��
��/����� /��	�� 

E*��
��� #�	�������� �0���� � & ��� 	�� &�
�
 ��� LiNbO3 �����
���� /��	�� 
����	���


������ 	��
� 1������� ��� ������� ��������*��
��� 1C����% 
� 	�

 	��
� ���
���� 
��� ���J ��
�

������� /��	�� ��

��% �� ���� ������	��
������	� 1�*A�	�������� �� ��������� P9=Q +�
�������

��

�� �������� 
��	 �������� +��	�����	�#�	�������� ��� 
������ ���� 
�� #����
�����������

���� 	��% �� 	���� ������������ ����
 	�� �������
���� 
�
��������
�������� ��� $����
�����



55

������� /��	 ���
�� $����
����� �����	��� ���
*������	 
����� �����
���� 	�� 	��������
���� 1��

���
�������% /�� .�*������
����� ��	 '����
�� P9<% 6Q +������ 	���� �
�% 	�

 	�� ��������� 	�


$����
�����
 ��	 	�� �*������
/���� ������*��
�� 
��	 

�� P9=% 5=<% 8<Q /��	 ��� �������
���� "��	
��
�� �����
�����% /������ 
��� 	�� ���� ��
����������

+��	�����	�#�	������ �� ,���� ����� ��� ��������
������ ������� ���� ���� �*��
�� �����

������ $��
����% /����� 	�� '��
������ 	�
 
��������'��
������
 	���� ��� �*��
��� #�	������

/��	 ��� 	�� ���
������� 
�������
����� ����
������% 
� 	�

 ��� 	������
��������
 $����
�����

��	������ /��	 �� 	�� ���������

���
������� /��	 	��
�
 ������ /��	�� 	���	������ 

����� ����
 #�	������
% 	�� ����� 	������
��������� $����
����� ��	������% ���� ���� 
���������

$
�1��D����� 	����� �� ���
�� �����
���� /��	�� ������ ������ 
��� ��
��
��	��� 'I�1$


3'������� I����; ������� 1������� $�
��4% /����� ����� ���	����� ���/���
���� ��
�����% 
� 	�




�� ������
 ��� ���0��� �� ������� �
�&������ �� *��*�� �������� �� P@5% @6Q /��	 ��� ���

'I�1$ ��
�����	�� ���
�� �����
����� 1��� /������ ��
��

��� ������� �� 
�
������ 8 5 

��� )������*����� ��� +���
����� 	�� �����
���!!����

����� ������
���

1�� �����������
 '�������� ��� ���������
���� #�

��� ��� ��0�
��0��� �
� 	�� ���������� 

��� 
����� ����� ������������� 	��% 	�� 	�� �� *�����	� $������ ����������% 
� 	�

 	��
�

	�� 
������ ����� !�����/��	��� ������� �� 	�� �����/�������� �����	��/������� /��	 ���

����� ��	������% 	�� ����

�� /��	�� ���� 3����/
����*���4 1
 �
� 
���� �0����� ��� 	��

��0�
���� �� 
�����J�� ��� "�������������� ��� 	��
�
 '�������� �
� H�	��� ��
�������% 
� 	�



�� �� 5 2�� ����� ������� 1������

� ���� �� ��/����� 
��	 ��� 
���������� �������� ���

�"�+������������% 	�� 	�� ,������� ��
�����% 	�

 
�� 	�
 ��������������
��� "��	% /�����
 	��

����������� ��0���� �����
����% �����7�

�� 

����� �� ���
���

1�� /�
������� ����������
 '�������� 
����� 	�� #�

��� 	�� ��0�
*������ ��� ����� ����� !����


*���� 	��% 	�� 	�
 ����

��� ������ 	����� ��� ����� ����
 �"�$�����
 �������� ��� ����������

�����
���� "��	��% ��� 	���� 	�� 1����**������ ���������% �0���� H�	��� ��� 	�� �������
����


�������� �����7�

� /��	�� 



56



����
�	  

!���

���� ������
���
�� ���� ���

��
��
"#
����� �$
 %�
���� ���%���	
�

&��������" ��� '�	�����%
��

��� '
���
����

"�� 	�� �����
������ ��� .�**����
�������
��� �� 1#'�'��
���

�������� 
��	 �������
���

2�0J��% /�� � & ��	������� ��0�
��0�� �	�� ��0�
*��������% �� �������
���� $�������� ��

��

�� ��
 +������� ��
���� ��� ������

� �� 	�� #�

��� 	�� ��������������
���� "��	��%

��� 	���� 	�� ��0������**���� ��
���� 

+�� ������
 �� .�*���� 6 ����������% /��	�� ��� 	�� ������ #�

��� ��������������
���� 2�0J��

������ ����/������
����� #�


��	�� ���0���� "��	
��	�� 
������ 	���� �0�����
� ����� 
���%

�� 	�
 "��	 ����� �� ���������% ���� ���� �� ���� ���� E��
��70
��� �� ��������� ��
 +�������

�
� 	�� 1��
��� �������
���� .����% 	�� ��� ���	� ���������% �� ������� 

+�� �� 
�
������ 6 5 6 ��	 6 5 8 ������
 ������� /��	�% /��	�� ��� '�����	��� ��� "��	�������

������ �/�
���� 	�� ���	� ��	 	�� ���������

���
������� ��
��	��
 ��������� '�����	�����

�����
���� ��� ���������� 
�������� �
� ��� ��� 
�������
 ��������
���
 #�


;
��� /����

����
 ������ '��������
 /���� �������� ����� ����� 
��� ��� ��	����� #�

��������� �*��
���

F����������
�����	�� ��������� 

��� ���
��� ����� �����
������ '��������% /�� � & P5=<Q ��	 P@5Q% 
��	�� ����� ��� 	��

�"������� ��	�������� $����
����� ��� #�

	��������

���
������� ��� 1��/������� �*��
����

.��*������� �
� �������/���� 
�/��� ������
��������% 	�

 
��� 	��
� '�������� ��
 /��� �� 	��

2���&������ ������ 

������� 
������ 	�� .�
��� 	�� ���/��	����/��
� ��������	���� .��*�������% /�� �*��
���

���	��� ��	 1�*��������	���% ����� ����������� "����� 	�� ��� 
�
��
���� ��� ���������

58



59

��� #�

�������� ��	 ��� �*��������� 	�� #�

	���� 
������ ��� 	��
�� '�������� ��
�������

�� &���� 

�� ������ 	��
�� 
����� /��	� 	���� ��� �����������
 '�������� ���/������ ������� ���	���

�
 
��� 	�� !�����* ���� �� ����� ���*�����E
��������*��� ��� ��

�����J���� �*��
���� 
��


�������� 	�
 ��
���*��
 ��� '������� 
��	 	�� 1����������% 	�� ���� &��	������% 	�� ���
�����

�������
���� 1����
������� 	�
 
���
����������
 ��	 	�� 
��������	��� ��	 	���� *���
/����

�*��
��� F����������

������ 

���*�����E
��������*���% ������ 	�� ������
��*�1C��� ��
% 
� 	�

% �/�� *����	�
���% ����


��� 
������� '�������% ����� ����� ���	����� 
���
�����% 
������� ������� /��	�� �0���� 

1���� F�������� ��� 1��/������� 	�� ���*�����E
��������*��� A�	�� 
��� �� P::Q 

)�� �����
������ 	��
�
 ��� ���������
���� ��
�����	�� '��������
% ��	��� �
% ����� ����



�������� 
���
���
% ��� ����� ������� ����
���� 
���
�����
�������� ��� �� ������ 	���


�� 
����� ����������� ���	�� ������ 
��� 	��
�� ����������� ������� ��� ��������� �����


�������� 
���
���% /������ ��� ����
���� ����������*��
�� ����
������ /��	 ������
 ������


��� ���� ����� ��� '��������K

• 1��� 	�������� ���	� ���0���� ��� /�����	 ����
 
���
��������
 ����� ��� �� #�����

������������ ����� �
� 
���� ������% 
� 	�

 ���� ������ *����
*����	� &�������� ���

���� ���� 
����� ��� #�

����� ���/��	�� /��	�� �0���� 

• ��� �����
����� 
���
����������������� ������� 	���� ��������� ���������� ��� ������

����/������
�����
 #�

�� ����� *����	�
���� �*������ ��� 1������
��*������ 	�� ������

���� ����� 	���� /��� ����� 5 *" E��R
��� '����
�� ������ 	���� *�����
�� ����� ��� ���

2���	 ������� ����� �� ���������� ���������
��� 1
 /��	 	�� !����	������ 	�� 1������
�


*������ ������� ��	% ������� ��� !����	��������% 
���
 ��� �������� )���*���� ���

����
��� ��� �� ��

��	�� #�������/���� 
��	 
���� ����� 	�� �������� ,��� �������


���
������ 7��J� ���� $�	�
���� ���� 	���� 	�� �������� �� 	�� �������*������ ��� ��

��

��	� �*������ /��	 ��� ���� ���������

����� ����
��� 

• ��� &��	������ 	�
 ���
��
 ����� ��� '��������
 ���� 	��H������ 	�� �*��
���� F�������

����

;
���� ��� ���������� ��	 ��������� 

• ��� ��*������� 1������
��*�	��� 	�� 
���
�
��������% /����� ��� ���������

������ E��R�


��� 
������ ��
����% ������ 
��� �� '�����	��� ��� ����� �������
�� ������ 
������ ���

���� "��	
��	� ��� ���������
/��
� �������� "����������� ��/��� 
���
�
�������� ��


���� ��������
������ �0���� �� 	�� 
������ ���������� /��	�� 



5:

��� -���	!�
��
!

����� !������ ����
� ��� ����������� ��� ��� "����������	�
���
�	���

&���� �� 	�� ������	�� 
�
�������� ��� 	�� ������� ��	 	�� 
����� 	�
 ���
��
;
���
 ������

������ /��	% ������� ��� F�������� ���� 	�
 #�


;
��� &��	 8 5 ����� 	�� /�
��������� ������

����
���**�� ��	 	�� 
������ 	�
 "��	
��
��
% /�� �� ��� 	�� #�

��� ��� "��	������������ ��

.������������ �����
���� /��	 ��
 #�


;
��� ��� 	�� �����
������ ��� ����
�������������

1����**��
*�������� ��
���� 
���� 	�� 
������ ��� 1������
����/��� ��� 
�
����

 ��� 	��

����
�������������������	� 

Antenne

Abtast & Halte-
SchaltungTranskonduktanz-

Verstärker
LED

KonditionierungPhoto-Diode

Abtast-
Signal

Trigger

Abtastimpuls-
Erzeugung

S&H

Transimpedanz-
Verstärker

+��� �0�1 &����
��������	 ����
 ��
 "��	
��	� ���/��	���� ���
��
 

F��� ����� �*��
���� $����� /��	 	�� ���
�� ��� �������������� ���������% ��� 	�� 
��� 	��


���
�����*����� 
������ ��

�� 1��� !��������	� /��	��� ���� ������
� 	�
 �*��
��� ������

�� ����� �������
���� ����� ��� ����������	� ����
��*�	������
������ 3
���� � & P555Q4 /���

	��� /��	���� 	�� �������*��
� �� �*������
��*��
� 
������	 	�� ��	������ &��	������ 	��

�*��
���� F����������

������ ����� 	�� �*������
��*��
� ���� 7���� 
�
����
� ��	 
��

����
7�����% 	���� �
� 	�� ����
��*�	������
������ ��� .��	���������� ������
�������% 	��

	�
 �������������� ����������� ��� ���	����������� ��*��
� 
��	 /���� ����� ������ ��*��
�

������ ���� ���� ����� ��� 
���
���� 	�
 �"�������
 �������� 
�
 	��
�� 2���	 �������

���� ��
��	��� ��������� 	����
 
��� ����� 
���
���*��
�% 	�� 	�� 
�
�������� 	�
 
����


���
 	����� ���
�� ��A�	�� 
��� �� 	�� 
���
�������
��������% /����� 	�� ��� 	�� 
������

������	�� �"��*������ !����� �������� ��	 	����
 ���� 2�����
*������ ��������� ���
�

���
*����� 	�� #�������/��� 	�
 �"�������
 ��� 
� ��/������ �*������ /��	 ��� �����

����
�	����������
������ 3
���� � & P555Q4 �� ����� ����� ����/��	���% 	�� /��	���� ����



5>

$1� ��
������ 
����	 	�� ��� 	�� $1� �� 	�� $���������� �����
*��
��� $�������
���� ����

��� 	�� 
���
�/��� ��
����

�� /��	�� 

����� #��
��
���
�

)�� 1�������� 	�� ����������*��
� ��	 ��� 1�*���� 	�� �*��
�� ��
��	���� 
���
�/���� �
�

��� ����������� ���/��	�� �� "�����	�� /��	 	��
�
 �����	 ����
 #�

������
 ��
�������� 

&��	 8 6 ����� ����� 
����� ��� &�
������� ����� "��	���������� ��� ���	�� 
������ ��� ��������

�������
���
 "��	 �� ���
�� �0���� � & ��� #����������� 
���% /�����
 �� ����� .������������

������� /��	 ��	 	�

�� +��������	�� �� 	�� .���

���������� ��
����� /��	�� 1
 ���
���� ����

���*�������� "��	����������% /����� ������� ����
 !��	�
 ����

�� /��	�� 
��� ��� "��	
��	�

��� #�

��� 	�� "��	���������� ��A�	�� 
��� ��� ����� !�
��������
��������% /������ ��/������

��� ����� ������� �������� �
� ����� ����� #���� ���� 	�� ��������� ��/��� /��	�� 

n

1
U

Φ

Sender

Referenz-
Antenne

Feldsonde

Trigger

Momentanwerte

∆t

G

optischer
Empfänger

Steuergerät

Motor
Positionierschiene

Positionierschlitten
mit Sondenhalterung

Bewegungsrichtung

Motor-
steuerung

zu messendes
elektrisches Feld

Mikroprozessorsystem

+��� �0�1 &����
��������	 	�
 2�
���������
 ��� #�

��� ����� "��	���������� 



5?

"�� 	�� #�

��� �
� ��� &����

����� �����	������% �� 	����
 	�� ��������������� �� �������� 

������ �
� ����� 	�� #�

������ ���� ��������������� *�������� ��
 ��� 	��
�� 
������ ��*�

������� ������ /��	 	�� ����������� ���������% /� �
 	���� ����� "������������� �� 	�� "�����

n ��� 	�� 
���
��������� ��������������� /��	 1
 ����� ��� *��������������
 '���0������
����	

��� ��
�����J��	�� �*��
���� ���	�� ��
 '���0������
����	 ���0������ 	�
 '�������� 	�
 
��

��
�����*�����
% /�
 ��� &�
������� ��� &����� ��	 !��
� ���/��	�� �
�% /�� ��
 	�� ����

���	�� 
�
������ 8 6 8 ���� ����������� /��	 ��� "��	
��	�% /����� ��� 	�� ����������������

����
��J�� /��	% 
��	�� �� 2������� 	�� 
���
�/��� ��� �*��
���� +��� ��� ����������� ���

����% /� �
 �� ��� �������
���
 ������ /��	�� ����/��	���% 	�������
���� ��	 	��� ����
*�������

/��	 

��� #�

��� ����� "��	���������� �����	��� ���� 
;������� 
�
�������� ��� !�
�������������

��	 "��	
��	� ��
 ����������� ������� 	���� ���� ��
��	���� &�����**� ��� 
�
�������� 	�


#����
 ��
 ������� #����*����

��
;
��� ��� ��� 	��
� +��
� )����C ��� ���� .��*�������%


� 	�

 ���� ��� ����� #�

��
��/��	�������� #������� ��	 #�

	��������

��� 
;������

�������	�� 
��	 

����� $���
����� %�� $���
� ��� �	
�� 
�	
�� ��� ���
��&����

,���� 	�� ��
���������� ���������
���**�� 
��	 	�� �����
������ 
���������� ��� 
�
�����

���� 	�� ���	� ��	 ��� &��������� 	�
 &�����
 ��	 	�� !��
� 	�� �� ��

��	�� 2�0J� ���

/������� /�������� &�
���	���� ��� )�
��������� �/�
���� 
���
�/���% )�������0������ ∆t

��	 	�� ������
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u(t) = Û · cos(ωt + ϕ). 38 54
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ω
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ũ(∆t) = Û · cos(∆t · ω + ϕ). 38 >4
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√
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π
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· 1

ω

)2

38 ?4

ϕ = − arctan
ũ(∆t = π

2
· 1

ω
)

ũ(∆t = 0)
38 @4
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uµ
uTP,µ
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Abtastvorgang durch Kurzschluss
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s(t)

t

t

u         (t)Flanke

Ts
u         (t)Flanke u         (t)Flanke

s(t) s(t)

C

R

R

RC << TS

Z  =RL

Impulserzeugung
durch Kapazität

Impulserzeugung
durch Stichleitung
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� ��
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 ���� ��
��������% 	�C���������
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������� ��� ����
�� ��������� �� /��	�� ������� ��� ���	� �
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��� ���	������� P96Q% 
� 	�

 ���������

��� ���� 	�� ��*���� ��� ����� ����/���
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 ��	���
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�

��� 	�� '�����	��
��� ��� $�	���
������� �� !,LF������� ������� ����� �����% �����

	�� ������������ $�	��� Q% 	�� #��������
��	���
�����������
	���� τ ���� ��
��	��� &�	���

���� �� ����� 	�� ���	� ���� 	�� ��*���� �0�����
� ����� ����/���
������	 ������% 
����� τ


��� ���J 
��� F������ +���� ������ ��0J����	����
��J�� ��� τ ≈ 10 ns 1������� /��	 	��
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�
���� )��
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������ ��� ����
�� ������������� "�� 	�� ��
*�������� $�	��� Q(t)

���� 	�� ��C�����������������

iD(t) =
dQ(t)

dt
+

Q(t)

τ
mit Q > 0 38 554

�����
����� /��	�� P96Q ����� �
� iD(t) 	�� ������������� ���	��
���� ��	 τ 	�� ������
 ���

������ #��������
��	���
�����������
	���� +��	 	�� ��C����������������� ��� 	�� ���
������

'��/���

���� iD(t) = IF ���0
�% 
� ������ 
��� ��� 	�� 
�����
��	������ Q(tF) = 0 	�� $0
���

Q(t) = τ · IF ·
[
1 − exp

(
−t − tF

τ

)]
. 38 564

+�� 	�� 2�������� �� ��������� �
�% 
����� 
��� ��� 	�� �����*������ ����� IF ���� 	�� )���

t −→ ∞ 	�� $�	���

QF = τ · IF 38 584

��� ,���	�� 	�� 
��������� )�
���	 Q(t) = QF ����������� �
�% /��	 	�� ���	� ��� )���*����

t = tR ����*��� ��	 	�� ���
����� ����/���

���� iD(t) = −IR �����*���� ����� ����

2�������� 38 554 ������ ����/��	�� /��	�� #�� 	�� ���	��	������ Q(tR) = QF ������ 
���

	�� $0
���

Q(t) = τ · (IF + IR) · exp

(
−t − tR

τ
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− τ · IR. 38 594

��� 
�
���������*���� tS ����� ���% 
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��������� /��	�� ������ /��	 2�������� 38 594 �� ���� ��
���� ��	 ���� tS − tR ������0
�K

tS − tR = τ · ln
(

1 +
IF

IR

)
. 38 5:4
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 	�� ���� ln(1+IF/IR) = 1
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��� 	���� ��� 

�������� �
� 	��
�
 !������� ��� 	�� ��� 	�� +�
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����	 UBrücke ��� ���� ��/����� ����� 
������ 	�� ��������� ���	�����������



88

SRD

R

R

C

C

CH

+Ub

-U b

u(t)

-u (t)a

Balun

+��� �0��1 
���
��� ��� ���	�������� ��� ���� �������
��� ��*��������� 

ID = IS · (exp(UD

UT
) − 1) ���� 	�� )�
��������� �/�
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���	 ��� UBrücke ≈ 0 ������ ���
�� ���� ����� '��������

�����

	�
 
��� ������� �����
 IS ��


RS =
2UT

I
38 5?4

��������� /��	�� �� ������ 
��� � & ��� ����� ������
���� ��� I = 25 mA ��� +�	��
���	 ���

UBrücke

Iq

I

I
-200 0 200

U          [mV]
-15

-10

-5

0
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15

I  
 [ 

m
A

]
q

Brücke

+��� �0�81 ���	�������� ��� .�������� ��� IS = 1 µA ��	 UT = 25 mV 

RS = 2 Ω% /�
 ������
 �� &������ 	�� ���	������/�	��
���	� �����% /����� �� 	��
�� &����������

H�	��� ����� ������
������� /��	�� 1��� ��������	��� &���������� 	�� 
�����
/��
� ��	 	�


'��������
 ��� '���	��	������� A�	�� 
��� �� P@?Q 
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�0�0'0- @#������ %�������

&�
 ������� /��	�� 
������� �������� �����
�����% /����� 
��� ��

�����J���� ��� ����� ��� �����

�����
���� ���������������������� �����
����� ��

�� )�� 
����� ����
 ���*������ 
���
�
;�


���
% ��
�����	 ��
 �*��
���� 1�*������% 
���
���*��
��������� ��	 
���
���% �
� ��� ���


������� 
��/��	 �����	������ �� ��

 ��� ����� 	�� ��������� �� 	�� ���	� �������������

/��	�� ��	 ��� ��	���� ��

 	��
� ��� ����� ���
���� /��	�� ���
�� 
��/��	 �0���� ����/���


� �������� /��	��% /��� 	�� 
���
���*��
� 	����� ��� �*��
���� +��� 	�� ���	� ���������

/��	�� ��	 
�����J���� ��� ����� �*��
���� �������� ����������� /��	�� 

�� /��	� �� 	�� $�������� �������% 	�

 ��� 
��� ���� �������
����� �*��
���� ��������� #�
�


����� �� ���������
���� ����������� ����������� /��	�� �0���� �� P9:Q /��	 ������ ���

#�����������������#�������������� 3#�# *���� ����4 �����
�����% /������ ��
�����J��	 ��� #�
�


��� �������
���� ����
������ ������������ /��	� 

1�� ��/�
 ��	���
 .����*� /��	� �� P5=9Q �������� �� ��

� 
��� 	�� 1������ ��� $������*��
��

���������
��J�� ��� ����������� +��	�� 	��
� $������*��
� ��� ����� ��������*��
���� #�	��

����� ��	������% 
� 
��� 	�
 ��/������ �������� ��/�
 ���� 	�� ��	�������	� �������
��� 2�0J�

��� )���*���� 	�
 $������*��
�
 ��
 

1�������
 ��� 
�/��	��� ����� ��� ��������*��
���� #�	������ �� P99Q �� 	��
�� 
����� /��	

��� 
���
�
;
��� ��� 	�� #�

��� �� ������������ ����������� /��������/������ ����� /��	 	��

!�����
�1C��� ��
�������% ��� 	�� 
��� 	�
 $���� �� 
����������� ��� ��������	�� �������
����

"��	 �����
����	���� 
���� ������ ���
�
 '�������� ���0������ ���� 
��� ����� E��
��70
��� 


�� 	��
�� 	������� �*��
���� 
���
���������� �
� H�	��� �� 1����% 	�

 	�� 
��� ������ 
��

��
���*��
�% /����� 
��� �� &������ ��� 5== �
 ��/����% ���� 	�� �*��
��� ������� ��� ���

���
�� ���������� /��	�� ��

�� ���
�
 /�	��
*����� H�	��� 	�� 2���	�	�� 	�
 ����	������

'��������
% ��/�

� *���
/���� ��	 	���� ����
��� �*��
��� '�����	����� �� ���/��	�� ��	

�����	�� ��� 
��� 
�������
 ������ ��

�� �� �0���� 

����� "���&��� �����
����

�0�0*0� ?�������� ��� ��������� ��� ��� ����$��� ����3���
�������
��

��� 
�
����

*������ 	�
 
���
���
 ���� ����� ��� ����� ��� �������
���� $������ ��� 	�� ����

	� /�� ��� ��� ���������

���
������� ���������� /��	��% 	� 	�� $����� 	�
 �������
��� "��	 ��

	�� #�

�������� 
�0��� /��	� ����� 	�

�� ������ 
��� ���� �*��
��� �������� ��� 
��������

�� E*��
��� 
��������
��������� ��
����� H�	��� �/�� ����	�����	� 1��
�����������K

• ��� F����������
	��*���� ����� ��� &������	��
 	�� �*��
���� "�
�� ��	 ��� 	����

�����������	����� �� ��	 �
� 	���� ���/�������� �����/����� 
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• ��� F����������
��0J� �
� ����	
������� ������������
 

���
� 1����
������� ��

�� ���� 	������ F���������� 	�
 ������
����� ������
 ua,µ ������
�

����� ��% 
� 	�

 ��� ���������
 '�������� ������������ /��	�� ��

 ���
�
 ���� ��� �����

������ ��	 ��� ��	���� 	������ 
��� 

�� 	�������� "��� /��	�� ��� ,����� ��	 1��
�� ����������% 
� 	�

 	�� ���� ��������� 1���


����������� ��	������
��
 /��	�� ��� ������������������ �
� H�	��� /�
������� ���/��	���� 

������ ���� �
 � & 	�� ������	�� #0�����������K

• 
����������������
������

• �*������
�"����������
������

����� �
� 	�� 
����������������
������ ��� ����� ��� ������������ ����������� ���� ��� 
���

����� 
�70
����� *�����*���� �0����� 
����	���
 �
� ��� ����� 	�� ��
������
���� ��������%


� 	�

 	�� #�

��
��/��	������ 	�
 ���
��
 ����� ��
���� /��	% ��	 ��� ��	���� ��	������ 	��

��
�������� �������������� 	�
 ��
�����
 	�� &������������
	���� 

��� �/���� #0���������% 	�� �*������
�"����������
������% 
������ ��� 	�� 
���
�
*������

ua,µ ����� E
�������� ���
�� E
�������� ������� ��*��
�% /����� ��� ����� 	�� �*��
���� 
��������

���������� /��	�� 1��� �����
������ /��	 �� P5>Q �����
����� ���
�
 '�������� ������ 
��� ���%

�� 
����
��� #�

/���� �� ���������� (�	��� 
��	 ��� 	�� &�
������� ��� &����� ��	 !��
�

������� #�

/���� ���/��	��% 	�� �� ������ "���� ���������� /��	�� ��

��% /�
���� 	��
�


'�������� ���� �� ����
�� /��� 

��� ������� F���������� ���0������ �������� ���� 2�
��/��	�������� ��� ������������ ��������


��������
������
���� 
��/��	 ��	 	���� ���	����� �������������� ��� ���	�� ,��������

S
��/�����	� .����	��*����M ��	 S������������
� F����������M ��

�� H�	��� ����/��	��

/��	�� 

�0�0*0� ����$��� ?�������� �
� ����3���
�������
��

��� 2����������� 	�� �� ��

��	�� �*������ ��/ 	�
 �� ��

��	�� "��	�
 �
� ��� 	�� �����
��

����� 1#'�
�/��	����� 	�
 ���
��
;
���
 ����� ��� &�	������ ��	 ���� 	���� ��
 ������

������
������ ������������ /��	�� +��	 	��
�
 �������% ��	�� 	�� �� ����������	� 2�0J� ���

	�� 	�A������� 2����������� Uref ������ /��	% ���� 	��
�� ���� 	�� F���������� ��
��/�����

/��	��% �� 	�� .����	��*���� ���*��
����� �� �0���� &��	 8 65 ����� 	�� '�������
/��
� ��

������ �������� �
� 	�
 ��� 
���
��� ���������� ������ 	����
�����% /�����
 ������ 2�����������

��
���� ��
 �������� �������� ����� 	�
 ������% ����	�� 
��
�������� 	�� ��� ����� ���������


*������
������ �������� 2����������� Uref ������������ /��	� ���
�
 ������ ���� ��� ��������

+��
� �*��
�� ���������� /��	�� ����� ������� �
 	�� ���*���� aL ��
 ��	��*��� ������ �
�



8>

Uref

t t t

Signal am Ausgang des
Abtasters (es besitzt
keinen Gleichanteil)

Signal am Ausgang des
Abtasters plus Referenz-
gleichanteil

Signal nach optischer Strecke
durch Dämpfungsfaktor a   ge-
dämpft

L

a  UrefL

+��� �0��1 ��������	������ ��� �*��
��� 
�������� 

�� ������� �������� 	����
����� ��� 2����������� 	��
�
 	���� 	�� �*��
��� F���������� ���

	��*���� ������
 �
� aL ·Uref ��	 ���� 	���� ����*�

A������� ������ ��
����� /��	�� �� 	��

��
*��������� 2����������� Uref ������� �
�% ���� 	�� ���*����
������ aL ��������� ��	 ���

�����
�������� 	�� ��
*���������� ��������*����	� ������������ /��	�� 

��� �������� 1��
����������� 	��
�
 '��������
 
��	% 	�

 	�� 
�*����	� 	�� �� ����������	��


���
�/���� 	�� ��������/��� Uref ����� ����
�������� 	��� ��	 	�

 
��� 	�� F����������
�


������ ��������	 ������ ��������� ��

 

����+ ,
���� �(��&
����� ��� $���
����� %�� ����
���� ��� �	
�

���&
�(��

�0�0-0� ?�������� �
� ����������#
�	�!?�������
�� ∆ti ��� ?�������� ����� "���!

$�����������

�� 
�
������ 8 6 8 /��	� ������
 	�� ����	�����	� '�������
/��
� ��� &�
������� 	�� 
��

*����	� ��	 	�
 !��
��/�����
 	�������� ����� ������� 	�
 �� ��

��	� ������

u(t) = Û · cos (ωt + ϕ). 38 5@4

����� ������� 
��� 	�� ��� ∆ti ���������� 
���
�/����

ua,i = Û · cos (ω · ∆ti + ϕ). 38 5<4

�� ���
�� /��	 �� 	�� 
���
�
*������ ua,i 	�� ��������
*������ Uref ����		���� ��	 	��� ���

����� 	�� �*��
���� F����������

������ 	�� ���������

���
������� ��������� ���� /��	 ���

�*��
���� 1�*������ 	�
 ������ ��*������ ��	 ��
 +��� mi ������� mi 
���� 
��� 
���� ��


	�� ���*���� 	�� �*��
���� ������� aL% 	�� 
���
�/��� ua,i% 	�� ��������
*������ Uref ��	

����� "����� εi /�� ����� ��
�����K

mi = aL · (ua,i + Uref) + εi. 38 6=4
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"�� 	�� &�
������� 	�
 ������
 
��	 ��	������ 	��� 
���
�/���� ua,i ���/��	�� +��	�� H�	���

���� 
���
�/����% ��	 �/�� H�/���
 ��� ∆ti = 2π
ω
· i−1

4
��� i ∈ {1, 2, 3, 4}% ��������% ��

� 
���

	�� #�

/�������������� ��	 
�
/������ ��� 
��� �������� +��
� 	���������� ��� 	�	����

���
���	��� ��	��	��� 
����� ������ ,������� 	��% 	� 	��
� /���� 	�� #�����/������	��� 	�


���
���� ��	������ ��	 	���� 	�� �;����� 	�
 #�


;
���
 ���0�� 

,��� ������ �������� ���� ������� /��	��% 	�

 	�� #�

/���� ���� ������	�� ������ ��
�

��/����� /��	�� �0����K )�����
� /��	 	�� #�����/��� M % /������ 	�� 2����������� aL · Uref

���
*�����% ����

M =
1

4
·

4∑
i=1

mi 38 654

��
����� (���� ��

� 
��� 	�� ������/��� Û ′ ����

Û ′ =
Uref

M
·
√(

m1 − m3

2

)2

+

(−m2 + m4

2

)2

38 664

��	 	�� 	�
 !��
��/�����
 ϕ′ ����

ϕ′ = arctan
−m2 + m4

m1 − m3
38 684

��
������ 

��
 ���� ��
��������� '�������� �
� 
���� ���� �������� #0��������� ��� �������� #�

/����

����������� ���� ���� �*��
��� ������� ����� 	�� &�
������� 	�
 #�����/���
 M ���� 	��

F����������
	��*���� ������
������� /��	�� ���
�
 '�������� ������� H�	��� ��� 	��� ������

1������

�% /��� 	�� ������������ )�������0�������� ∆ti H�/���
 �G��� �� ��� !����	���������

��
�����	�� ������ 

�0�0-0� ?�������� �
� �$� ?��������� ����� "���$����������� ��3��������� ������!

����#
�	�!?�������
���� ∆ti

�� 	�� !��G�
 /��	�� ����������0�������� ��������/��
� ��� ����� ��� ��
���������� '���0���

����
����	��� �����
����% /�
���� 
��� 
�/��� "����� �������	 ��� ��������������� 	�� 1������

����	�� ��
 ���� ��
�����
������
������ 	�� 2�
�������0������
������� ����� ������	�� ��

�� 

�� "�����	�� 
��� ��� '�������� ���/������ /��	��% /�����
 ���� ��� ��� 2π
ω
· i−1

4
��/������	��

∆ti ������ 1������

� ������� ������ ������ 
��� ������
� ���� ���A
��� ���
������� 	�� �� ��
�


��	�� 2�0J� �u 3
�*����	� ��	 !��
��/�����4 ��	 	�� 
���
�����*����� ∆ti% /�� �� &��	 8 66

	����
�����% �� ���
� 
���	���� ���
*����� 	�� �������� ���
������� �� 	�� ���*��G�� 1����%

H�	��� /��	 �� "�����	�� ����� ���*��G ���������% 
��	��� ��� ����� 	�� '������������� ��	

��� ��������
���� F����������� 

��� 
���
��������� 
��	 	����

�vi =

(
cos (−ω · ∆ti)

sin (−ω · ∆ti)

)
38 694
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ϕ

v1

v4

v3

v2

u

+��� �0��1 ��*��
�������� 	�� 
���
�����*����� ∆ti 	����  ���
��
����
� �vi 

��	 	�� �� ��

��	� �*������ �
�

�u = Û

(
cos ϕ

sin ϕ

)
. 38 6:4

��� 
���
�/��� ua,i �
� 
���� 	�� !��H������ ��� �u ��� �vi% ��
� 	�
 ������*��	��� ua,i = �u · �vi 

��
 �� 	�� ���������

���
������� ��������	� �*��
��� ������ �
� 
����

mi = �x · �vi + M + εi, 38 6>4

/���� �x = aL · �u ��	 M = aL · Uref �
� �� εi 
��	 
�������� 	���� ��0������ ��	 ���
����

�����
������ #�

������ ��������� 

����� 	�� +��� �����
����	������ �vi ������ ��� ������� 2����������% 	�� 
�����J���� ��� $0
���

	�� ����������� �x ��	 M 	����� ����� �
� H�	��� �� ��������% 	�

 	�� +���� mi ����� ��

���������
���� �������� ���������% 
��	��� ��� 	�� "������ εi �������� ��	 	���� ��	������

������/���� 
��	 �� ���� ��� �����
����� +��� 	�� 
���
��������� �vi ��� ������� #�

����

��� �� ����� 
���� ������
����� 1������
 ������ �� P559Q /��	�� ���
����	��� '�������� ���

.���
�����

��� ��	 	���� 1�*A�	���������� ��������� ��� #�

������� 	�
������� �� ����

	�� 1��7�

 	�� "����� ��������� /��	��% /��� #�

*����� ����� �� ���� ��������	�� ������ 


�J��	�� �
� �
 ���
���% /��� 	�� '������� 	�� !���� (�v1, �v2)% (�v2, �v3)% (�v3, �v4)% (�v4, �v1)% /�����

H�/���
 ��� ������
 .���	������
;
��� ���
*�����% �0�����
� 
�������� �������	�� 
����� 1


���� 	���� H�	�
 '������!��� ���� ������ ��������� �x′
i 	�
 ��
������ '�����
 �x H�/���
 	����

�x′
1 = (m1 − M) · �E12 + (m2 − M) · �E21 38 6?4

�x′
2 = (m2 − M) · �E23 + (m3 − M) · �E32 38 6@4

�x′
3 = (m3 − M) · �E34 + (m4 − M) · �E43 38 6<4

�x′
4 = (m4 − M) · �E41 + (m1 − M) · �E14 38 8=4
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���� /��	�� ����� �
�

�Eij =
1

�vi × �vj

·
(

0 1

−1 0

)
· �vj. 38 854
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4 − �x′|2 = min 38 884

��/���� )�� $0
��� /��	�� 	�� 2���������� 38 6?4 ��
 38 864 �� 38 884 �����
���� ��	 ��
������

J��	 ��� #������
���� ���� M 	�C��������� 
�� 	�� ��/�
 ���/��	����� ���������� /��	

H�	��� �� 	��
�� ������ ���������� ��� ������� 2���������� ��� &��������� 	�� ������/����
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��������� !��
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 f = 1 GHz ��	
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��	 ��� '��������� ������
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ρt(tε) =
1

tε,RMS

√
2π

· exp

(
− t2ε

2t2ε,RMS

)
. 38 894
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� 	�� �#��(����� tε,RMS 	�� ����	��	��/������� ��� tε ��	 ��
����� 
���� 	�� S&�����M

	�� 2��JR
���� 2����������� 

)�� '����
����������� �
� �� &��	 8 6> 	�� ������
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��� �*������

u(t) = Û · cos (ωt + ϕ) 38 8:4
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t - µT0 ∆t

0

-U

U

tε

ρ (t  )ε
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tε U cos(ωt + ϕ)

Abtast

t

+��� �0�-1 1��7�

 	�
 (�����
 ��� 	�� 
���
�����*����� 

"�� 	�� E*��������� 	�
 �;������������
% ���� ���� ��� F���/��	��� 	�� ����� �	����� 
��

��
��B�����% �0���� 
��� ����� 
���
�/���� ua,µ = u(∆t+ tε,µ +µ ·TAbtast)
� �������� /��	��%


� 	�

 ��� ����� 	�� �������*������ 	�
 
���
���
% ����� η < 1% ��� 	�� ������ ������ +���

����	�� /��	 ��	 ��� ��	���� 	���� #�����/������	��� 	�
 ���
���� ��	������ /��	 
�����

	���
 /��	 	�� &��	������ 	�
 #�


;
���
 /�������� 	���� 	�� (����� �����
�������% 	� � & 

	�� �*������
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 ������ 
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ρu(ua) =
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ρt

(
tε + k · 2π

ω

)
·
∣∣∣∣ dtε
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∣∣∣∣ + ρt

(
−tε − 2 · ∆t − 2 · ϕ

ω
+ k · 2π

ω
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∣∣∣∣
]

. 38 8>4
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Û
− ϕ

ω
− ∆t + k · 2π

ω

)2

2t2ε,RMS

⎤
⎥⎦

+ exp

⎡
⎢⎣−
(
− 1

ω
arccos ua

Û
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��� 2����������� ��	

��� 
���� ����� ���	����
�� �G*����������� 
����� #�� ����� ��� 2�������� 38 9=4 ���� 	��

)�
��������� �/�
���� 	�� 8 	&�&��	������ f3 dB ��	 	�� (����� tε,RMS ��������� /��	�� 

1� ������

f3 dB · tε,RMS = 0,133. 38 954

+��	 ��� f3 dB 	�� ��� 	�
 #�


;
��� �����	���� "������� fmax = 1,9 GHz �����
����% ������ 
���

��� ����

���� (����� ��� tε,RMS,max = 70 ps &��	 8 6@ ����� 	�� H����������
������ "����������� 



9:

10 MHz 100 MHz 1 GHz 10 GHz
Frequenz

-20

-10

0

D
äm

pf
un

g 
[d

B
]

+��� �0�.1 ��������
���� "�����������% f3 dB = 1,9 GHz% tε,RMS = 70 ps 

�0�0�0' ���������
�� ��� ��������#
��������

��� "����������� 	�
 #�


;
���
 /��	 ��
������� 	���� 	�� 
���
���*��
������ �����7�

�%

��	 �/�� 
�% 	�

 	�� ����

��� (����� 	�	���� ������� /��	 ��� ��*��
������ ���� ������
�������

/��	��% /��� ���������� /��	% 	�

 	�� ��*��
� ���J�0���� 
��	 ���
 �
� 	������
 ����

��%

/�� 
��� 
*���� �� .�*���� 9 ���� ������ /��	 �� "�����	�� /��	 ��� 	�� 
���
���*��

����

iS(t) = ÎS · exp

(
−4 ln 2

T 2
S

· t2
)

38 964

����
���� ����� �
� ÎS 	�� #�G����
���� ��	 TS 	�� 
���
���*��
������% 
� 	�

 iS
(±TS

2

)
= ÎS

2

���� ��� ���J��������0����� ����� iS(t) ������ 	�� ���	����������� ����J &��	 8 6=% /������

	�������� ���� 2�������� 38 5?4 	���� 	�� �������������� $���/���

b(t) =
iS(t)

2UT
38 984

��
���� /��	�� ���� ��
 
���
�����������	 �
� ����������� �� &��	 8 6< 	����
����� ��� ��������

C

b(t - µT           - ∆t)

u(t) uC

Abtast

+��� �0��1 
���
���� 	�
 *����	�
���� ������
 u(t) 	���� 	�� ���������	�������� $���/���

b(t − µTAbtast − ∆t) 

*������ C 
�� 	���� 
� ���J% 	�

 
��� 	�� �*������ UC /�����	 ����
 ��������� 
���
��������


��� ���������

����� ��	���% H�	��� ���� 
��� ������ 
���
������ ��� 	�� 
���
�/��	���������

TAbtast% /����� ��� '��������
 	�� !����	� ��� u(t) �
�% ����� 	�� ��� b(t − ∆t) ��/��������

#�����/��� ��� u(t) 
�����% 
� 	�



ua = UC =
1

∞∫
−∞

b(t)dt

·
∞∫

−∞

u(t) · b(t − ∆t)dt 38 994
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���� ���
� 2�������� ���
*����� 	�� 2�������� ��� 	�� (����� 38 8@4 ����� �
� 	�� .��B��������

��������� �/�
���� 	�� 2���������� 38 964 ��	 38 894 ����

�� ��	 �
 ���� ��������� /��	��% /��

	�� 
���
���*��
������ TS 
������� /��	�� ��

% 	���� 
�� �� �������� +��
� ��� 	�� &��	������

1��7�

 ����� /�� 	�� (����� ����� ������ ���

tε,Abtast =
TS√
8 ln 2

. 38 9:4

tε,Abtast ���� 
���� ��
���� tε,RMS �� 2�������� 38 9=4 �����
���� /��	��% �� 	�� 
�����������

	�
 
���
�
�����
 ua ��� 	�� 
���
���*��
������ TS �� ��������� ��
 +������� ������ 
���% ��

2�������� 38 954 �����
����% 	�� ������������ )�
��������� �/�
���� 
���
���*��
������ TS

��	 	�� 8 	&�2������������ f3 dB

f3 dB · TS = 0,133 ·
√

8 ln 2 = 0,313. 38 9>4

���
�
 ���
*����� ��/� 	�� )�
��������� 38 5=4% /������ �� P85Q ��������� /��	� 

&�
 ������� /��	� 	�� 1��7�

 	�� 
���
���*��
������ 38 9>4 ��	 	�� 	�
 (�����
 38 954 H�/���


�������� ��������� ���
� �0���� ���� ��� �������� +��
� ���������� /��	��% /��� ��� ����

1����
����� 	�� ,��������������� �����������C�� /��	 �������� ������ 
��� ��� 	�� 
		�����

	�� ���	�� ���������������� ��	 ������������ )�����
�����	�������� X1 ��	 X2 	�� ��������


��������������� )�����
�����	������� X1+2 ��� ����	��	��/������� ��� X1+2 ��������� 
��� ��

σ1+2 =
√

σ2
1 + σ2

2  ����� ��

�� 
��� tε,RMS ��	 TS ����������� ��	 �
 ���� ���� 2��������

38 954 	�� &��������

t2ε,RMS +
T 2

S

8 ln 2
=

(
0,133

f3 dB

)2

38 9?4

��������� /��	�� ���
�� /������� )�
��������� ������� �
% 	�� ����

���� (����� tε,RMS

�����	 	�� 
���
���*��
������ TS ��	 	�� 8 	&�2������������ f3 dB �� ��������� �� ������


��� � & ��� f3 dB = 1,9 GHz ��	 TS = 100 ps ��� (����� ��� tε,RMS = 56 ps 

�0�0�0* �������	����� �
� ����
�� ��� B������

+�����	 	�� ���������
��� &�
������� 	�
 ����

���� (�����
 tε,RMS ��	 	�� ����

���� 
����


���*��
������ TS ��� �������� +��
� ��������� 
��	% ��
������ 
��� 	�� #�

��� 	��
�� 2�0J��

��
� ���/��	���� �� "�����	�� /��	�� 	���� ������ &������������ ���� 	�� I���������
���

���� ��� (����� ��	 	�� �*������	����� 	�
 !��
�����
����
 ����
����� ��
 +������� /��	��

���
����	��� #�

�0����������� ���������� 

��
����� ��� 	�
 ���
���� 
��	 ������
� 	�� ������
���� 1�����������/������� ��	 	�


���������
����% /�����
 �� 
����	����7�

���� $������ �������� ��	 	���� 	�� ��	����� $��

	��� 	�� 1����������	���
������ ������������� /��	 P>:% @>Q ���
� ���
���������� �0����

��� ����� ��� ����� ��� 
����
��
���� '����������� �����	��� /��	��% ��� ��	���� ���� ����
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��� ����� 	�� &�
��������� �� "��������������% 	�� �*������	����� $�������
 ������� 	�� &��

����
��������� ��� "������������� ��� ���������
���� ���������
���**�� ��
 +������� ��

�


��� ���
���� �� "�������������� ��� ����� ����
 �*����������;
����
 ������ ��

�� 

���/������� �������� �
� 	�� #�

��� 	�
 !��
�����
����
% /�
 ��� 	�� #�

��� 	�� "��������


��������� ���������� ���� �0���� ��������
 �*������	������ 	�A����� /��	��% ��� ����� 	��

�*������	����� 	�� "������� Sν(f) ��	 ��� ��	���� 	�� 	�� !��
� Sϕ(f) P9Q #�� ����� 	��
��

�*������ ���� �/�
���� 
��� ����
�� ��	 
��� 
������ ��	���	�� ��
����������� �����
����	��

/��	�� 

+��	 	�
 !��
�����
���� ��
 (����� ����

��% 
� �
� 	�� 
����� 	�� !����	�� N % ���� 	��

����

�� /��	% ����������� ��� (����� 
��� 	���� tε,RMS,N ������� /��	�� "�� 	�� "��� 	�


/��J�� !��
�����
����
 �
� ���� P5?Q tε,RMS,N �/�� ��� N ����������% ����� ���� ��� 	��

��
������� "����% ��� 	���� 	�
 ���
���� ���������� �
� ,��� P<=Q �
� ���� .���������� ������	��%


����	 	�
 �*������ Sϕ(f) ���� ��� /��J�� ���
���� ��/������	� "��� ��
���� 

��� #�

��� 	�
 !��
�����
����
 ���� 
�/��� �� )���� ��
 ���� �� "�������������� 	�������

����� /��	�� )����������
��

����� /��	�� ��������/��
� ��� ����� ��� �*�������
��������*���

����������� ����� �
� 	�� 
����� 	�� ���������� N % /����� �����

�� /��	��% 
���
 �������

��� 

��� #�

��� �� "�������������� ���� �����	 	�� �*������	����� Sϕ ����������� /��	�� 

������� �
� �� ��������% 	�

 �
 
��� ���� ����� �� 	�� �*������	����� 	�
 ������������ ������


���	���% 
��	��� �� 	�� 	�� +�������/������� "������� ���� 	��
� 2�0J� ����� 	����� ��� ���

��� �*����������;
���� ����

�� /��	��% 
��	��� ��

 ����� ��� ����� ����
 !��
��	�������


��

��� ������� /��	�� )�
������� �
� ��� 	��
� #�

��� ��� 
;�������
������ ���������
������

��� ���/��	�� 1��� &�
��������� 	��
�
 '��������
 �
� �� P9Q �� A�	�� 

"�� 	�� #�

��� 	�
 
*������(�����
 �� ����� 
���
��� ������ 
��� ����� 	�� ���� ���������

'�������� ��� /������
 ��% ��	�� 	�� 
���
��� 
���
� ��
 �������� '��/��	��� A�	�� ����


� #0��������� ������� #�

����� ��� �������� ��

������
���� 
��/��	 
����	���
 �
� 	��


�
/������ 	�� #�

	���� ��/�
 ���/��	����% 	� �/�
���� 
�*����	��� ��	 !��
�����
����

�����
����	�� /��	�� ��

 

�� /��	 �� P5=:Q ��� �����������
���
 ��
�
����� ������
���% 	�������
���� ��	 ��
�����J��	 ���

����� ""��
���������
 �� 	�� "�������������� ����/��	��� ����� ������ 
�/��� 	�
 
�*���

��	�����
���� /�� ���� ���
����	��� (������������� �� 1�
��������% /����� �� #�

�������
 ���

����
� ����� ���� ��������	�� �������� 
��	 
�
 	��
�� 2���	 /��	�� ������� #�

����� H��

/���
 ��� ���
����	���� 1������

�������*����	�� ��	 ���
����	���� "��������� 	����������� 

����� 	�� ��
���������� 
���������� ��

�� 
��� 
�����J���� ��� ����� 	�� �����
����	������

#�

	����
���� 	�� ���
���������� ��������	�� �
�������% /���� 
�����J���� 	�� 
*������(�����

��
����� �
� 
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"�� 	�� #�

��� 	�
 (�����
 ���� �������� P59Q ����� ��	���� +�� ���� /��	 �/�� ���� 	�



�
����

����� 	�
 
���
���
 ����;
����% H�	��� ��

 ���� ���� �����������
���
 ��
�
����� ����

������% 
��	��� �
 �
� ��� ���������
 *����	�
���
 ������ ��
�������	 '�� 	��
�� ������ /��	��

���������� ��������	�� ������� ������������ .��������� ������������� ����� ��
�����J���

	� .��������������� �0���� 	�� )������
���� �/�
���� 	�� ����

���� .���������� ���������

/��	��% 
� 	�

 ���� ��
�����J��	� .�������� ����������� /��	�� ���� '�� 	�� ������������

.���������� /��	 
�����J���� 	�� #�����/��� �����	��% 
� 	�

 ��� ����������������� ��� 
���

/���� ���
���� ���
���� #�� ����� 	��
�� �������� ���� 	�
 ���
���� 	�� ����

���� 1������

���������� ��������� /��	�� ���
�
 ���
���� /��	 ��� ����� ��� 
�*����	�����
���� ��	

��� ��	���� ��� (����� �����
���� ����� ����� 
��� 	�� (����� 	��� �� 
����
��� ���������%

/� 	�� 2��	���� 	�
 ��
�
�����
 �� ��0J��� �
� ���
�� 2��	���� /��	 ��� ����� 	�� �� P59Q

��
���������� #����	�� ��
��/�����% �� 	�� (����� ��� 
�*����	�����
���� �� �
������� 



����
�	 (

������ ��� �����)�
��� ���� ����
�	  

"�� /����

�� ���� 	
� �
�����������!!�� 	�� �������

�� "�����	�� /��	�� 	�� ���
����	���� ���������
����� 	�
 #�


;
���
 ��������� ����� �������


��� 	�
 ���*���������� ��� 	�� ���
��% 
� 	�

 ��� ����/��
� ��� 	�
 ����������� �����������

/��	 

�� &��	 9 5 �
� 	�
 &����
��������	 	�
 ���
��
 	����
����� ��� ��������� &�0��� �0���� �� 	���

2��**�� ���������� /��	��K  ���
�
�% !�����
�
������ ��	 ����
��
� !
��
� 

��� ���*��������
��� "�������
����� 
����� 	�� 
���
��� 	�� ���
�� ��

 �� ����� +��
� ��
���

����� /��	��% 	�

 �� �� ������
���	 ���� #0��������� ������ ����� ���������� 
��� ����

/�����	 	�
 
���
��������
 
��� 	�� ��*��
�0����� �������������� �0�����
� ���� ��	 �������

������ ���	��� 
���% �� 	�� &������������
	���� �� ��G������� 
���
������ /��	 	�� ���
��

��� ����� �*��
���� ����������*��
% /������ ���� ��*��
������ ��� �� 5= �
 ��� ��� 1�*�

������	��	� 
*��
� 	����
 ����� ����
��*�	������
������% /������ ��
 	�� �������*��
�� 	��

!����	��	� �*������
��*��
� ������� ��	 �� 	�� ��������� ��� 
���
���*��
��������� /���

������� )�
������� ��� 	�� 1�*������
�������� ����� ��������% /������ �������% �� �������J���

�*��
��� ��*��
� ��� ����� ������������ #��	�
����� ��*������ /��	��% 
� 	�

 	�� �*��
���

���	�� ��� 
�������� 	�� 
���
�/���� ��� ��	���
/��
� �����
������� /��	 ��� 
���
���*��
�

��������� ��������� ��
 	�� ���������*��
�� ��� 5= �
 ��*��
	���� 
��� ����� 
���
���*��
�

��� �� 5== *
 �����% /����� /��	���� 	�� �������� 	�
 
���
���
 ������� ��� 
���
��� ��
���

	�� �*������ �� 	�� 
������ ��/ 	�
 ��
���*�
 �� 

�� �/����� "�������
�����% 	�� �*��
���� ���	��% /��	 	�� 
���
�
*������ ������
� �� �����

����� ����/��	���% /������ /��	���� 	�� ���	��$1� ��
������ ��� ,���
���� 	�� ������


������ $1� �
� ��� 5= �
 ����� ����% /�
 	�� 2���	 	���� �
�% 	�

 	�� �*��
��� ���	�� ��
�

	��� �����
������� /��	% /��� �������J��� ����������*��
� �������� 

��� ������ "�������
���**� �
� 	�� ��������
������ ��� ���������� ������
� 	�� &�������% /�����

�/�� �����
����	����� �*�������� �������% 5>%: ' ��	 ?%: ' ��� 5>%: ' /��	�� ��
 '��
*������

9<



:=

��� 	�� �*��
���� ���������*��
��*������ ���0���� ��� ��	��� �*������ 3?%: '4 /��	 ��� 	��

��
� 	�
 ���
��
 ���0����% ����	�� 
�� ��� ����� �*������
������ ��� : ' ������������� /��	� 

&�� �����
*������ 3&������� �����	��4 /��	 ��� "�����
����� ��
���� ��	 	�� �*��
���� ���	��

���������� ���
�� �������� 	�� ���	��$1� ��% 
� 	�

 ��� ��J�� 	�� "��������� ��������� /��	 

"���������� #�

����� �������	 ����� �����	���� &������� 
��	 
���� ��
��
����

�� 

Trigger-
impuls-

empfänger

Abtast-
impuls-

erzeugung
Abtaster

Antenne
oder

Tastkopf

Sender

Batterie
Spannungs-

regler

16
,5

V

7,5V

Fernsteuerung
Sensor Ein/Aus

Trigger-
Eingang

Messdaten-
Ausgang

Fehler
Stand-by-Signal

Stromversorgung

Abtaster optischer Sender

+1,24V / +2,48V / +5V

+��� '0�1 &����
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�
������ 8 8 /��	�� ���
����	��� '�������� ��� 
���
���� 	�
������� ����� /��	� ���

	�� �����
����	������ ������������	������% ��� #0����������� 	�� 
���
���*��
��������� ��	


�����J���� ��� 
������� ���������
��� �������� ����������� 
������	 	�� ���*����� &��/��
�

��	 	�� 
����
*����	�� &������
�0����������� �
� 	�� �*������
�����	��	� �� '�����	��� ���

����� ���	����� 	�
 '�������� 	�� +��� 

2���J 
�
������ 8 8 : 6 �
� 	�� ������������
������ �� ��

��	�� �*������ u(t) ���/�	�� ���

	�� 
���
���� �	�� 	����� 	�� ��������
*������ Uref ������������% 	���� 
*���� 	�� ���*�

���� 	�� �������� �*��
���� 
�������� �����
��������� /��	�� ���� ���
�
 ��

� 
��� ������
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��� ����� 	�� ��������� ���� &��	 8 5< �����
�����% /��� 	��
� ��/�
 ��	�A����� /��	 &��	 9 6

����� 	�� ��	�A������ ��������� 

SRD CH

u(t)

ugl,iUref

R2

C2

R1

R3

C3

C1 1

2Uref

Balun

u2

u3

i2

+��� '0�1 !�����*
�������� 	�
 ���
������
���
 

��� 
���
��� /��	 ���� 	�� &���� ����
������ ��� �"��*������ u(t) /��	 ���� 	�� .�*������

CH% /����� ������������ 	�� �������*������ 	��
�����% �������**��� ����� ���� CH &�
���	����

	�� D��������*�	��� 
���% /�� �
 � & ��� ����� �������
�� ������ ��*��������� 	�� "��� �
� 


�	�������
 �
� CH ��
��	��� �� �����
����� ��� ���	�������� 
����� ����� �������� 	��% /���

���� 	�� ��� ©# ���������������� .����� ����� 	�� ��������
*������ Uref 
������� ��	����

���
���� �� .����� ©# ��� 2�����������% /������ 
��� ����J

ugl,i = Uref − u(ω · ∆ti + ϕ) 39 54

��
 	�� ��������
*������ Uref ��	 	�� ��������� 
���
�
*������ −ua,i = −u(ω · ∆ti + ϕ)

��
�����
���� ��	 ��� ����� ��� R2 ��	 C2 �����
��A����� /��	 

1��� '������� ��� &�
�
 ����
 )/��	��	�����
 �
� �� P<:Q ��
�������� 

*���� #�����4���
�	� 5������
� ��� ���
�����

'0�0�0� +������ ��� ��#$����� �����
����#
��

&��	 9 8�� ����� ���� �������� 
�
������� ����
 
���
���
 2�
*��
� /��	 	�� ��������� ��� 	��

��*��
������ uin(t) ����J &��	 9 8�� ��� *�
����� ��*��
 ������� �� 	�� �*������
�����	��	�

����� '��/���

���� ,���	�� 	�
 1�	� 	�
 ��*��
�
 �������� �
�% 
����� 
��� 	���� 	�� ������
�

����/���
������	� ���	� ��� ��������� ����� ��� ��� ����/���
������� 	�� ���	� ���J� H�	���

���� ����� ��
������� )��� 
��� ����*� ��% 
� 	�

 ��� 
��� 
������ �*������
��
���� ���� 	��

���	� ���
���� ���
�� �*������

*���� ������ 
�����J���� ��
% ���� 	�� ���	�� ���������
��J��
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/����� ����� 	���� 	�
 ���	����� �� 
������� ���


���
���*��

���� i2 ��	 	�� �*�������� �� ���	����� 
��	 �� &��	 9 8�� 	����
����� ���


�*����	� ��� i2 ��
������ ��� ?: �
 �/�� ��/�
 ����% H�	��� /��	 ��� �������������� ���� 	�


������
 ��� ����	�� 	�� �*���
��������*�������� 	�� ���	�� �����/��	�� ��� �����������

���	��������� ������� ��
� �� 	�� .���� �� '������ ��� i2 3
���� &��	 9 8�� ��� t = 12,435 ns4 
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c)
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���
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���
�����
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���
�
 &��
*��� ����� 	�� 2�0J����	���� 	�� ��� 	�� ��*��
������ uin(t) �� �������	�� ���0��

��	 �*�������� 	������� 1
 /��	�� 
���� 
�/��� �� 	�� ���
��
�������
������ /�� ���� ��

	�� ��������� ��� 1�������� ��� uin(t) ��
��	��� 
����	������� ��
����� 

'0�0�0� A�#$�
�� ��� %#��������������$�� ��� ����� ����� 6��
	�����C�


�� ���� ���/��	��� ��������
������% /����� 
��� ���� �*�������� ��� 
�
�������� 	�� �*���

����
�����	��	� ������� ��

% ���� ���������� /��	��% /��� ���� ��	��������� ��
 1������
*������

�����
���� /��	% /����� �������� 	�� "������� ����
 �*������
�������������
 ��������� &��	

9 9�� ����� ���� ���������
�������� 	��
�
 !�����*
 2�������� 	�� ��������� ��� &��	 9 8��

������� 	��
� ��������� +�	��
���	� ��� �����	������� 	�� ���/����������% 	�� 
��� ��
 	��

��	��������� ��	 	�� .�*�������� ������ )�� 
�
�������� 	���� ���� 2�����
*������
������%

/����� ��� ����� ����
 ��������
 ��� 	�� )��� ��� 5= �
 ����
������� /��	 ���
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�� 	�� 
��


�������� ��
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��� ������ ��� ����� ����
 ����
�
���
 �� 1���������������� �����
����� �����

	�
 )�
������� 	�� D����� ������ 
��� ��� ����� ��� ����� 	���� 	�� �*������
�����	��	� ��	

��� ��	���� ���� 
��� 	�� ����� iL �� 	�� ��	��������� ��� �� &��	 9 9�� 
��	 	�� ������

�������� 	����
����� ,��� �� 5= �
 ������ 	�� �������� 	�� 2�����
*������
������ /��	�� ��%


� 	�

 	���� ����� iin ����*� ���� /��	 (�	��� ���� 	�� �*����
���� iL ��
 ��������������

	� 2�0J� ����� 
*������% 
� 	�

 �� 
��� ����� ��	���� +�� S
����M ��	 
�����J���� 	�� !��	

	���� 	�� �*������
�����	��	� A�	�� ����� *��� 
��� 	�� �*������ ���� 	�� ���	� �� ���

��� 	�� ��	��������� ���������� ����/���

���� 7��J� 
������ /�����% /�� ���� $�	���
������



:8

2,48 V

1,24 V

u2

u3

i2

uSRD

iSRD

a)

iin

iL

-40 V

-30 V

-20 V

-10 V

0 V

u

0 5 10 15 20
t [nS]

-1.0 A

-0.5 A

0.0 A

0.5 A

1.0 A

i
i
i

SRD

in
L

b)

SRD

-4 V
-2 V
0 V
2 V
4 V
6 V

u
u

11.9 12 12.1 12.2 12.3 12.4 12.5
t [nS]

-20 mA
0 mA

20 mA
40 mA
60 mA
80 mA

i

2
3

2

c)

+��� '0'1 
���
��� ��� ��	��������� ��
 1������
*������ ��	 '������ 	�� �*�������� ��	

���0�� ��� ����� 
���
��������

�� 	�� �*���
������ ������	�� 
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% 	�� 	���� ���� 2��J������ ����������

/��	�� ����% ����������� �
�% /��	 �� ��� t = 12,14 ns ������� ���
�� '������ �
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� ���

���������� &�	������% 	� 	�� ����� ��	������ �� ����	��C����� 	�� �*���
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�������%

	� 	�� �*���
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 �*��
��� �������
����� /��	 ��� 62,5/125 µm�2��
��
������� ���/��	�� ��� ������
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	�� !����	��	� ����� ��� �� 70 µA 3
���� P86Q ��� &��������� ��� �*��
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������ ���/��	��% /����� 	�� !����	��	� ����� ���	���������

1������ ��������% 
� 	�

 	��
� .�*������ /������
��
 ������ 

�����
���� /��	 	��
�
 	���� 	�� ����
�
��� T1 +��� 	�� ���
�� �� ������� #�	�
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�% �
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�����
*���� �������� /��	 ��	 
��� 	�
 ���������������
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� ���� ��
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� 	�



UOP = 0 V /��	 ��	 T1 ��	 T2 
������
 /��	�� 

*���� ��
����6�,���(�
��

$����� �������J�� ���������*��
� ��% 
� /��	 	�� �*���
��������*������ ��� T6 �������J�� ����

	�� ���	� D6 ����	��% 
� 	�

 
��� ���� 2������������*������ ������� �� 	�� "���� 
������ T6

	�� ����
�
��� T7 	����% 
� 	�

 	�� �*������ UOP ������ 
���� 

*���* !�����
������
����

��� ���������*��
� ����� �������	 	�� �����
������ �*��
���� ������� ����� 
�
����
������ #��

����� ��� T4% R4 ��	 C1 /��	 	�� ��*��
���� �����

��� ����
�
��� T3 ����� ���� '��
�������

��� 

*���� !�����%����4�(��

��� �*������
�����	��	� ���0���� 
��� ���� '��/���

��0��% �� ��
�����J��	 �������	 �����

����/���
������	 �� 
��� 3��� 
�
������ 8 8 8 :4 2����������� ��

 ��� ����������	�� �����

	���� 	�� ��	��������� ��������� /��	�� 3��� 
�
������ 9 6 6 64% 
� 	�

 ��
����� ��� 	��

���	��
���� ��
 �� 8== �
 ��� 	�� ����
�
����� T5% T9 ��	 T10 ��������� /��	�� ��

�� 

��� ���	� D1 ������	���% 	�

 	�� ����
�
����� �� ��������� ������� ��� ��	��������� L1 
����

��� ����� ��� ��� ������
 1��
������� ��	 ��� ��	���� ��� ��� ��
��	��
 ��
���
 
�
�������

	�� ����
�
���
���� 



:>

*���+ $
�
��
�����

��� &����������� ��
������ ��� ����� ����
 &����
 ���
�� ��
���� ��
 ����� ���	������� $������%

/����� �� ����� "������.��� ��/������ �
�% /�� �� &��	 9 > ������� /��	 

��� ���/��	��� ���	������ $������ ��� ����� +�����/�	��
���	 ��� �� 50 Ω ��� &���� �
� 	����

�������

����� ��� R9 ��	 C2 ����
����

��% �� #���������7�G�����% ������������� 	���� 	��

�������������� 	�� �*������
�����	��	�% �� ������	�� 

verdrillte
Leitung

Ferrit-
Ringkern

+��� '0-1 #������
��� 
�
������� 	�
 &����
 

*���- ���
��
��������������

��� 
���
���*��
��������� ������� ���� 	�� &���� �����	 	�� ����
�
���
���� T5% T9 ��	 T10

��
�������% *��� 	�� ��	��������� L2 	�� �*������ ���� 	�� �*������
�����	��	� D5 �� F���

	�� ��	����������� L3 ��	 L4 7��J� 	�� ����/���

���� 	�� ���	� ,���	�� 	��
�� ������

��

�
�% ������� L3 ��	 L4 ����� ����� ���� 	�� .�*�������� C13 ��	 C14 	���� 	�
 ���	�����% 
�

	�

 	��
�
 ������	 /��	 
������	 	�� ������� .�*������ ��� C13 ��	 C14 ������ 
��� ��� 
���

������ 
���
���*��
 ��� +�	��
���	 R19 	���� ��� &�	��*��� ��� ���/�������� 

*���. ���
����

'0�0.0� &
�	��$��3����

��� 
���
��� ����� �������
��� 	�� �� ��

��	� �"��*������ ����� 	�� ��������
*������ ���

Uref = 1,24 V ��	���� ���� 
��� ��� 2����������� ���� 	�� .�*������ 	�� D����� ��� ��
 ���

�	����� /��	 ��� 	�� 	�**����� ��������
*������ 
;������
�� ��� ����� ��� L20% L21% R20 ��	

R21 �����
*���� ��� ��	����������� 
��	 ���� P56Q �� #����
�������������������� 	����
������� 

R20 ��	 R21 	����� 	�� ���*���� ��� ���/�������� 



:?

'0�0.0� D������
��
�� ��� ���������

��� +��� 	�� ��������
*������ ��� Uref ���������� 
��� �� 	�� ����������
*������ 	�� ����

/��	���� ���	�� ��	 �������� /��	���� 	�� ��G����� 
�*����	� 	�� 1������

*������ u(t) 

)�� '�����	��� ����
 ����������
 ��

 UBV > 2 ·Uref ������ "�� 	�� ���/��	���� ���	�� �
�

UBV = 3 V % 
� 	�

 	�� +��� Uref = 1,24 V ��/���� /��	� 

&��	 9 ? ����� 	�
 ���	����� ��	 	�� 	���� ���������	�� �*������
���������

� ��� 
���
����

	�
 *�
������ ��	 ��������� �*������

�������
 ��� u(t) ��� 	�� �*������*�����
�*����	� Uref  

+��	 	�� �������� �������� ��� u(t) ������
���% 
� ���
������ 
��� 	�� 2����������� ��� uq(t) ��

a)

C

U
   

 =
 1

,2
4 

V
re

f

2 
U

   
 =

 2
,4

8 
V

re
f u(t)u (t)q

Uref

2Uref

u (t)q
Abtastung des

negativen Scheitels

Abtastung des
positiven Scheitels

tb)

+��� '0,1 �*������
���������

� ��� 
���
���� ����� 1������

*������ ��� ��G������ 
��

*����	� 

	�� +��
�% 	�

 uq(t) �/�
���� Uref ��	 2 · Uref 
��/���� ������ 	�� �*������*�����
�*����	�

���� 	�� +��� Uref �����
 ��% ������ 2�����������C���� 	���� 	�� ���	�� ���% 
� 	�

 	��

2����������� ��� uq(t)% /������ ��
 
���
�/��� ��
��/����� /��	% ������
��� /��	 T�������


���� ��� 	�� 
���
���� 	�
 *�
������ �*������

�������
 1��� F���
�������� 	�
 ���
��
 
�����

	���� ������	�� /��	�� 

'0�0.0� E��������
��

��� �����
������ 	�
 
���
���
 �
� �� &��	 9 @ 	����
����� ����� ���
*������	� $�����7�����

�� 	�� #������;���!������ /��	� 	���� ��
����% 	�

 	�� �� 	�
 ���	����� ������������� �����

����
*������ Uref /�����	 	�
 
���
���
 
����� ������ ��	����������� /��	�� ������	�� ��	

.�*�������� /��	�� ��� �������
������ �� 	�� #������;������������ �����
���� ��� ���	��������%

	�� �*������
�����	��	� ��	 	�� .�**�����	��
������ C13 ��	 C14 
��	 	����� ��
 I��* ��� 	��

!������ ����������� ��	 /��	�� ��
�����J��	 �����	�� 

*���2 ����	���� ��� ������� ��&� ��� 5
��(����

�� "��� 	�
 �������
���� "��	
��
��
% �
� 	�� 
������ �� ���	����� ����
����

�� ��� 
������%

/����� �������� ��
 �������*������ 	����% ��

 ���� .�*������ ��� �� 5: *" ���/��
�� 



:@

HF-
Einspeisung

R22R24

R20 R21

L21

L20

C14
C13

1mmD4

D5

+��� '0.1 "������*��� 	�
 
���
���
 

+��	 	�
 ���
��
;
��� ��
 '�������������� �������% � & ��
 #�

�����
������������% 
� �
�

	�� ��*������� D����� ����J 
�
������ 9 : 5 �� �����
����� 

*����7 ���(������� ��� ���
����
�����

��� 
�
��**���� ��
������ ���� 	�� +�	��
���	� R22% R24 ��	 R27 ��� 
����� 	�� +�	��
����

	� /��	 ���0����% �� ���� �����
���������� $������ �� �����
�����% ��� 	�� ����� ��
�������

���
����� �0����% 	�� 	�� "����������� 	�
 #�


;
���
 ��������������� C10 	���� 	�� 2����

���� 

��� 2�
���/��� 	�� +�	��
���	� /��	� 	���� 
� ��/����% 	�

 �� �� 	�� "����� 5== ��0J��

�
� ��
 	�� &���	/�	��
���	 	�� D����� ��� 	�� ������� 2������������ 	�
 ���
��
 ��� : #�� 

��� .��	��
���� C10 /��	� ��� 	�� ��/�
 ��������� +��� ��� 9%? *" 	����
�������% 
� 	�

 	��


�
��
����� 	�
 ���
��
 ��� 5== ��� ����� �������������� /��	 

*����� 8��
��	�� ������

��� E*�������
���
������ U2 ��	 	�� ����
�
��� T12 
��	 ��
 ����������� ���A������� !��*���

������ ��� 2�����
*������
������ 	�� �"�D����� /��	 ��� ����� 	���� 	�� $1� D3 ��
������ 



:<

&�� �����	���� &������� /��	 ����
�
��� T13 	������
�������% 
� 	�

 D3 ������
����

�� /��	 

����� 	��
� '�������
/��
� /��	 ������	���% 	�

 	�� &�������
���� ���� 
�
������� 	�� $1�

���������� /��	% 
��� 	�� &�������
*������ 	�	���� /��	�� ������% 	��� 	�� "��������� /��	��

���������� /��	 ��	 �
 	�	���� �� E
����������� ����� 

*����� 9�
�
�
�����

��� 2�
���
�������� ��A�	�� 
��� ��� 	�� ���	
����� ��
������� #������;���!������% 	�� �� &��	

9 < 	����
����� �
� 
�� 	�� �����
���� ��A�	�� 
��� 	�� ��������
������% ��
�����	 ��
 !�C���

���	��
������% +�	��
���	
����/����� ��	 �*������
������� 
�� 	�� E���
���� ��A�	�� 
���

	�� 
���
��� ��	 	�� ��������� ��� 
�
�������� 	�

����� 

BalunAnschlüsse Trigger-Photodiode HF-Einspeisung

15
 m

m

32 mm

+��� '0�1 E���
���� 	�� ���
���!������ 

"�" '�����
�
�� ���	���	�

*�*�� �������

.����� 2�
�������

����� 	�� 
������ ������ �� ����� �0����� ��
�������������% /�	����


��� 	�� �������� "�������������� ���0�� ��� �� 
�
������ 9 8 56 	����
������ &�����**� /���

	� 	���� 
� ��
�������% 	�

 
�� �� ����� ��������� 
�� 3!��4 	�� ��*��������� !���� A�	�� 

,���� 	�� ��������� 
��	 H�	��� ���� 	�� &�������� 3
����� .��*�������4 �������������� )��



>=

������ ������
������� 	�� 
������ /��	�� 	���� 	�� &�������� �� ��	���� 
�� ��������

������ 
����	���
 ������ 
��� 	���� 	�� ,��/��	������ ����� 	���������	�� .�����% �� 	�� 	��

��������� ��	 	�� &������� ��� 	�� 
����� !�������� ������ 3
���� &��	 9 5=4 ���
� .�����%

	�� �� &��	 
����B��� 	����
����� �
� ��	 �������� 	�� ������ 
�������*�� 	��
�����% ��� ��


����� 	�� ��������� #�

�*�������� F��� 	�� ������ ����� 	�� .����� �
� 	�� ��	��� !�� 	��


������ ��
���*� )/�
���� 	�� ���	�� 
�������*���� ����� 	�� "�J*����
*������ U1 ��% 	��

�� 	�� #���� 	�� 
���	���� 	�� ��������� ��������� /��	 &��	 9 55 ����� 	�� 
�J����
���� 	�


&���������
��	���
 ��	 &��	 9 56 	�� 1G*��
���
��������� 	�
 
������������
�
 

70mm

16
m

m YK
Schaltung Batterie

U1

+��� '0�81 2����
� 	�� 
������ ��� .��*��
�����
�	�������

Y K ��� "�������������������� 

+��� '0��1 
�J����
����

	�
 &���������
��	���
 

+��� '0��1 1G*��
���
��������� 	�� �������
���� "��	
��	� 

��� ��
��	��� !���������� 	�
 &�����������
 ����� �� ����� 
��� ����� �����*������ 3�� 58%: *"4

	�� 
������ P>>Q E�/��� 
��� 	�� "�J*����
*������ 	�	���� ����������% �
� 	��
� .�*������

��
 �������*������ 	�
 
���
���
 
���� ��/��
��� 



>5

*�*�� ���:�����
��(����(��� ����	 �������
�
���
��
��
��

��
 &����������� �� 2����*�� ��� H�	��� ���� ����� ,������� 1
 ���	�� ��
����� ��� 	��


�J������� 	�� 
������ ���� �� 1�	� �C��� .��G����������% 	�� �� λ/4���
����� 	�� "�J�

*����
*������ U 1 �������� ����
�����J� (�	��� ���� 	���� ���� ��������� .��*��
�����
�	�

������� Y K 	��
�
 ������� /��	�� &��	 9 58�� ����� 	�
 1�
���
��������	 	�� 
������% /�����


	�� 	���� 	�� ��J���� 
���

����� ��
������ ��*�	��� Za ��	 $�������
*������ U0 ������� 

��� $������ ��� 	�� ��*�	��� ZL ��*��
������� 	�� ���G���� $������% �����
���� 	���� 	�
 &���

��������� 
�J�� ����
����

�� �
� 	�� .��*��
�����
�	������� Y K ��	 	�� ���������% /�����

�������	 	�
 ��
��	���� 
���
�*�����*
 ��
 �C�� ����
���� /��	�� 	��� 

"�� 	�� &�
������� 	�� .��*��
�����
�	������� Y K ���� 	�� 
������ ��
 )/����� ||Y ||
��� 	�� ���� ��J�� ��������� D������ IS1 ��	 IS2 �������

� /��	�� 3
���� &��	 9 58��4 ���


	������������G ||Y || ��

� 
��� � & ��� ����� 	�
 "��	����������
*�������
 "1.E P5<Q

��
������ ����� /��	 �� �/�� ���������� ���������� ������ �� ��� 5 	�� �*������ 5 ' ����

��*���� ��	 ��� 6 ������
����

�� ��	 �� 	�� �/����� �������� /��	 ��� 5 ������
����

��

��	 �� ��� 6 	�� �*������ 5 ' �����*���� ��� ��
��������	�� ���0�� ������� 	�� 1�������

	�� 
	������������G �� ����� 	������ "1.E�&��������� /��	 	�� 
�������
������� ��� ���

��� ���������	�� ������ +���� ��
������ ��	 	�� 
��� �������	�� D������
��0�� IS1 ��	 IS2

��
����� 

Schaltung

Za

YK

U0

a)

Antennenstruktur

Tor 1

Tor 2

||Y||

U1

U2

I S1

I S2YK

I 2

I 1

I K

Schaltung

b)

ZL

U1

U2

+��� '0��1 �4 1�������
 1�
���
��������	 	�� 
�������
������� �4 
������ ��
 )/����������� 

��
 2��������

;
���% 	�
 	�� ������ ��	 �*������
���������

� ��
�������% ������

||Y || · �U =

(
y

11
y

12

y
21

y
22

)
·
(

U1

U2

)
=

(
I1

I2

)
=

(
IS1

IS2 − U 1 · Y K

)
. 39 64

+��	 U2 ����������% ���� Y K ������0
� ��	 U 1(f) = U 1(fmin) �����
����% ������ 
��� 	�� .���

*��
�����
�	������� Y K(f) &��	 9 59�� ����� 	�� ��� 	�� !������� "1.E P5<Q �����������

"����������� ���� .��*��
�����% ��� 	�� ��� �� 6 2�� ���� ,���
����� ��������% ��	 �
 �����

	�� "�����������% /��� 	�
 &����������� ��� 	�� ���� 2�������� 39 64 ��
������� 
	�������



>6

Y K(f) ����
����

�� /��	 3
���� &��	 9 59��4 +�� 	�� &��	��� �� ��������� �
�% ���� 	��

"����������� ����
���	�� ��������� /��	�� 
����	���
 ��

� 
��� ��� )/��*�� ��� 	�� �����	���

��� 
	�������������� ��� 
��� 
��/�� �����
�����% /��� 	�� �� �� 5%@ 2�� ������	� ������������

���/����������� �������� ��
 ���� ��
��������� '�������� �
� 
���� ��� ��������% 	�� "��	
��
��

�� ��������� "�������*������% ��
��
��	��� �� &������ 	�� ,���
�����% �� ���*��
�����% ��� 	��

.��*��
����� 	�
 ��
����� "��������������
 ������ �
 
��� H�	��� /������ 

0,1 1 2 3
Frequenz [GHz]

0,1

1

10

A
nt

en
ne

nf
uß

pu
nk

t-
S

pa
nn

un
g 

|U
  |

 [m
V

]

ohne Kompensation
mit Kompensation

0,1 1 2 3
Frequenz [GHz]

0

10

20

K
or

re
kt

ur
-A

dm
itt

an
z 

Y
   

[m
S

]
Re{Y  }
Im{Y  }

K
K

K

1

a) b)

+��� '0�'1 �4 ,���� ���*��
����� ��	 ���*��
����� 
���������J*����
*������ U1(f) ���

|Einc| = 1 V/m �4 '������ 	�� .��*��
�����
�	������� Y K 

*�*�� ���:�����
��(����(��� ����	 �(
��;�(�

'0'0�0� �$��F	���$� ��� +������������

1��� /������ #0��������� ��� �����	������� 	�� ,���
����� �
� 	�� #�	�A������ 	�
 &�����������


�� &������ 
����
 ���
�
 ��
 &����������� /��	 ������ /����� ��� 
���������J���� ���
������%


� 	�

 
��� 	�

�� ���
 ���������� ������ �
� �
 �0����� �� 	�� ���
 ����� �����
�����������

���� �� �����% 	�� ��� ���	����� "��������� ��� "��	 	����	������ /��	 ��	 
���� /������
��


������% �� �0����� "��������� ��� H�	��� �������	 	�
 �����1C���
 	�� �����7�

 ��� &�����

������� ��
������ ��� .���
����

% 	�� �� "��� ������� ��
����� ���
����% ���� 
��� 
���� ���

���� 
��/��� ��
/����� &��	 9 5:�� ����� 	�
 !�����*
��������	 ��� ��������*�	��� ZSkin �
�

��� ���	���� "��������� ��/� ���� &�� �0����� "��������� ����� 
�� H�	��� ��	�����	� +����

�� 



>8

Schaltung

Za

Z      (f)Skin

U0

Antennenstruktur

ZL

a) b)

U1

+��� '0�*1 �4 1����**���� 	�
 &�����������
 ��� ����� "��������� 	���� �����1C��� �4 &���

��������� ��� $������� �� 	�� ������������ ���
 

'0'0�0� �
��
��
�� ��� �����	�������� E����

"�� ���� ��������� .�������� 	�
 "�����������
 ��/��
 
��� ��� 	�� 	��������
���� ���� ����

$������������ ��� σSkin = 70 S/m ��
 �������� 
����	���
 �
� 	�� ���
������� 	��������� "�
��0��

*�� ��	 	�� 1��������� 	�� #�
�����
���������

� 
��� ���/��	�� P5=6Q 1�� ������������ 
�
���

��
���� �� 	�� 
���	���� ��� $�������% /����� �� ����
������������� ��� +�	��
���	
*�
��

��
�������� /��	�� #�� ����� 	�� �������
����� ��

� 
��� 	�� ��/��
���� $������������ ������ ����


������ &��	 9 5:�� ����� 	�
 &����������� ��� $������� �� 	�� ������������ ���
 ��� $�������


��	 ���
*������	 	�� �����7�

�������� �� $���
�������� ������	��� #�� ����� "������/��

	��
���	 ��� R�,Skin = 10 Ω ������ 
��� 	�� ��� 	�� "��	����������
*������� "1.E P5<Q

���������� "����������� ���� &��	 9 5> 

'0'0�0� &��5
������� ��� %���$��

&��	 9 5? ����� 	�� ����

���� "����������� 	�� ����	�A������� ��	 	�� 	�� ��� $�������

��
������� ���	� ����� 	�� $������� ������ 	�� ,���
����� ���������� /��	��% 
� 	�

 	�� ���	�

H���� ���� ��� 	�� 1#'�������
�� ������

����� 1�,����"��������� 
������� �����
���� /��	��

���� &�� �0����� "��������� 
����� 	�� 1�*A�	��������% 	� 	�
 &����������� ����
������ /��	

��	 
���� ����� .�*������ ���� ��� 	�� �*������
������� ��� '�������� 
���� ��� ����� ����

7���� '������ ���� ������ �����
 �
� ����� 
��� 
�0���	% 	� 	�
 
���
���������� 	�� .������


	�� "������� ������� �����

���� ��	 
���� ������ ��� ����� 	�
 "�����������
 ���� &��	 9 5?

���������� /��	�� ���� 

*�*�* $
����
��������
���

#�� 	�� �� 
�
������ 8 8 ? 	����
������� 
���
�����������
 ������ 
��� ���� �;����� ���

?= 	& ����� /��	�� *�� �����	� 6%: #�

����� 	����������� ��� �������� ��������������



>9

0,1 1 2 3
Frequenz [GHz]

0,1

1

10

A
nt

en
ne

nf
uß

pu
nk

t-
S

pa
nn

un
g 

|U
  |

 [m
V

]

Batteriefach mit Lamellen
unmodifiziertes Batteriefach

1

0,2 1 2
Frequenz [GHz]

-30

-20

-10

0

10

20

F
re

qu
en

zg
an

g 
[d

B
]

Batteriefach mit Lamellen
unmodifiziertes Batteriefach

+��� '0�-1 '�������� 	�� 
���������J*�����


*������ ��� 	�� "��� 	�
 ����	�A�������

&�����������
 ��� 	�� 	�
 &�����������
 ���

�����
����������� $�������% |Einc| = 1 V/m 

+��� '0�,1 2���

���� "����������� ��� ���

��	�A������� &����������� ��	 ��� &��������

���� ��� $������� 

����� 	��� ��� 6%: �
 #�� ����� ���� &��������% /������ ��
 ���� �������G�	������ �� H� @= �
�

��	 	��� $������������ �� H� 8= �
� ��
����% �0���� 6@= === 1�������

����� ���� &����� ��	

!��
� 	����������� /��	�� 


�
�����J��	 ����� &��	 9 5@ 	�� ��
 "��	
��	� ��
��������� ���
�� ��� 5= � ������ �*���


���� .���� ���0������� 	�� 1��
��� ���� �� ���J�� '��
���

��������% /�� � & 
�����

�� 

+������
 ��� #�

��������� ��	 �G��*����
��� #�

�������

� A�	�� 
��� �� P6<% 6?Q 

+��� '0�.1 1������
��� "��	
��	� ��� �*��
���� .����� 



>:

"�% ��������������� ��� )������ 	�� 0����
��
����
���&

'������	���
���!!����

*���� 0
��
�����	
����� �
� �
���(
�
�
�4�

"�� 	�� #�

��� ��� 1����**��
*�������� /��	 	�� ���
��
�������� �� ��� /�

��	�����
 �����


�����������������
� ��� 50 Ω�
�
����

 *�������� +�����	 	�� 
������ 	�
 ���������������


�
������
 �������� 	�� �������*������ 	�
 
���
���
 	��
�����% ��

 ���� ���� .�*������ ��
���

	��� ��������
����� /��	�� &��	 9 5< ����� 	�� 1������

��������% ��
�����	 ��
 
�
����

/�	���


���	 ��	 �������*������ 1
 /��	 �� 	��
�� ������ 	����� �����/��
��% 	�

 	�� 
���
����������

Schaltung Z  = 50Ωl

C    = 15pFH

+��� '0��1 1������
����
 	�
 #�

�����
������������


��
 �������
 	�� �������� #�������/��� ����
���% ��
 	�� �*������ ���� 	�� �������*������

�����
��/����� �
� ��	 
���� ���� �����7�

 ���� 
����A�	��% 
� 	�

 �C����� ��� ���� 	��

$�
���*�	��� Z� = 50 Ω ��� ��J�� 
������� �
� 

*���� ������	�
���
�	����	4���

+��� '0�81 '��� ��	 ������
���� 	�
 ��
 ����
������������ ��
��������� ���
��
 

&��	 9 6= ����� 	�� �����
������ ��
 #�

�����
������������ P><Q ��
 /�

��	����� 2����
�

���� �� 7�

������
��������� !�������� ������������� /��	��% �� 	�� �� 	�� ����
���������

�����������	� �������**���� ��0�
*������ �� ��

�� ���� 	�
 50 Ω��#&�
�
����

�
 �����

��� 
��� ��� 	�
 #�


;
��� ���� /������ 
�/��	�����% � & 	�� #�

��� 	�� 1����**����



>>

�� ����� .")�.�������� �	�� 	�� #�

��� 	�� 1�*����
���
���� ����� 
�������
�������% ���

	�� #�����/����� ��� 	�� 
�������� ����/��
��� 
��	 

*���� ���:�����
�� ��� "����������	�
���
�	���

&��	 9 65 ����� 	�� "����������� 	�
 #�


;
���
% /������ ��
 8 2�� �� ����� "��
��� ���

±0,5 dB ����� ��
��
��	��� ���� ������ 
��� 	�� '������� 	�
 ���������� 
���
���
% /�����


�0��
�� &��	������� �������% ���� 	�� �*������
������ �� ����
��� ��� $��������� 	�
 #�

�


;
���
 �
� �� &��	 9 66 	����
����� ��� /��	 	���� 	�
 ����	
������� ������� '�������� 	�



���
���
 ���0������ )/�
���� 	�� ���
������������� ��	 	�� 5 	&�.��*��

���
*���� �����

��� ��������� �;������������ ��� U?= 	& ��� ��*�	� 
����� ��� 1������

*�������� ����

=%? ' ����� 	�	���� ���% 	�

 	�
 ���	����� �� ������ ������� 3
���� &��	 9 ?4 

0,1 1 2 3
Frequenz [GHz]

-3

-2

-1

0

1

2

3

F
re

qu
en

zg
an

g 
[d

B
]

0.1 1 10 100 1000
eingespeiste Spannung [mV]

0.1

1

10

100

1000
ge

m
es

se
ne

 S
pa

nn
un

g 
[m

V
]

433 MHz
916 MHz
1878 MHz

+��� '0��1 "����������� 	�
 #�

������


������������
 

+��� '0��1 $��������� 	�
 #�

�����
�������

������
 

"�1 ���������,�

��
 ����������� ������� �����	 	�
 ��������
�����
 	�� ���������*��
� ��	 
������ 	�� ����


�� ���� �*��
��� "�
��� ��� ��� ���
�� ��
��
��	���� �*��
���� ������� /��	�� ��*������%

������ �� 	������ ��/��	��� ��	 ����
*������� )�
������� �0���� �������������� ��� 	�� !��


����������� 	�� "��	
��	� ����
*������ /��	�� ��� #�

��� ����� ��������
�� ��% 
� 	�



��
�����J��	 	�� #�

	���� ���� ���� 
������� �������
����� �� ����� !I ��
������ /��	�� �0��

��� &��	 9 68 ����� 	�
 2����% /�����
 ��
 	�� ������	�� 1��
������ ��
����K



>?

Steuermodul Interface für Schrittmotor
und externe Quellen

Synchronisations-
modul

Verzögerungs-
modul

Sensor-Modul
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Steuergerät

Synthesizer

Richtkoppler

Herzschrittmacher

Spektrum-
Analysator

Aktivtastkopf
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� 	�

 g(f)

	�� ����

���� "����������� �� ����
��� ����� tε,RMS,ges ���������� 	�� (����� 
���������
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t2ε,RMS,ges = t2ε,RMS +
T 2

S

8 ln 2
+ t2ε,RMS,synth 39 94

����� �
� tε,RMS 	�� ��
����� 
*������(����� 	�
 #�


;
���
 ��	 TS 	�� 
���
���*��
������

3
���� 
�
������ 8 8 < 94 ��� (����� 	�� ����������������� �
� tε,RMS,synth ��	 /��	� ��� �����

���*�����E
��������*��� �� tε,RMS,synth = 20 ps� ��
����� 

����� ���� 2�������� 39 94 ����
����� /��	�� ��	 	�� 
�
��������

t2ε,RMS < t2ε,RMS +
T 2

S

8 ln 2
= t2ε,RMS,ges − t2ε,RMS,synth = (30 ps)2 − (20 ps)2 = (22,4 ps)2 39 :4
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 �0�

���� "��������� ������% ��
 ��
*�������� �����
���� /��	� 
����	���
 ��

�� ��������� 	��

������������� 	�� �0����� "��������� �������� �������� /��	��% 	���� ��
�������% /�� 
��


��� �� &��	 9 6> ������% ����� ��������� ���� /��� �
 	������
 	������ ��� 	�
 #�


;
���


�/��	����� �� I� �	�� ��� ��
 ��� N�&��	 �� ��
�����J�� 

���� ���� .��	 (�� ,/ �� �'��	 �
���� �
�� �� ���� ��� ��� �0�	������� !'� ��� 1��2����������� ,  #34-�

����	 �� ��� ��	������	�� 4���	 �
���
	�� ������� �� ���� ���
�������

	��� ����� ������ �0����������� ��	

����� .���
��� (�� ��� 
�	�	���� ����	 !'� ���� ���� "�
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����
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���� 2����� �
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����� ������� �� 	���� )���������� ��	 
�
����

� �� �0���� 	�� .����� ��	 $������


��������� ��
 
������� /����� ��	 ��0�
������ ��*������ �� 	�� .�*����� 8 ��	 9 /��	�

��� #�

��������� �����
�����% /�����
 
��� ��� 	�� #�

��� 	�� 
�0����
�����
�����	�� �����

���
���� "��	�� ������ ��	 �� ������ ����/��	����� "��� ���� ��� #�

��� ��� ��0���0J�� ��

$�����
;
����� ������������ /��	�� ���� �� "�����	�� /��	�� 	�� #�

��������� �����

��

��	 ������
��� '�������� ��� &�
������� 	�� ��0������**������ �����	��� 

,�����
��� &����������� ������ ����� ����� ����� "��G�������� 	�� #0���������% �*��������%

���0�� ��	 ��������������
��� "��	�� �� ������ ���������� E���� 	�
 &���������
��	���
 ��

1�������� �� ������� ��� &�
������� ��� 	������������ ����� ��
�% 	�� ��� ����� ��� #�

���

��� ����� �0����� 
��	 

"�� 	�� &��������� ��������������
���� ��������	�� ����� 
��� ���
����	��� #����	�� ����

/������% ��� 	���� 	�� ���
��� �� ������	� .��

�� ���������� /��	�� �0����K

• "��	��
����� '��������

• D��������
����� '��������

��� ���	��
������ '�������� ������� ��� 	�� 	������� &��������� 	�� ��������������
���� "���

	�� ������ /��	 	�� ���� �� 	���	����
������ 1�������% /�� � & ���	���0����� '�G�� �	��

������	��% 	�
�����
���� ���
� '���������������� ��� 	�� '������% 	�

 	�� ��������� ��������

������ ��������� #������������
������� ����/��
�� /��	�� �0���� ��	 	��
� '�������� 	����

��� 	�� &��������� 
���� ����������� ������0�*��% /�� � & ����
 ���
�������� .0�*��
% ���

������ 
��	 
����	���
 ������ 
��� 	����
 	�� ,�������% 	�
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� 	�� ���� �*��������������� 	��
�� #����	�� &��
*���� ��� 	��
�

'�������� 
��	 	�� "��������C��������#����	� 3"���4 P>6Q ��	 	�� "������1��������#����	�

3"1#4 P?5Q 
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 ��
 	�� ���	��
������ '�������� 
����� 	�� ���������
������ '�������� ���0�� ��	 $��

	����� ��% ��� 	���� 	�� ������0�*�� ������ /��	�� 1�� &��
*��� ������� �
� 	�� #����	� 	��

#������ 3#�#4 P8@Q �� ��
��� ������� /��	�� 	�� D������ 	���� $0
��� 	�� "��	���������

��������� ��
����� �� �/����� ������� /��	��% ��
�����	 ��� 	�� D������% 	�� �������������

��
���� "��	�� ��������� 1�� '������ 	�
 '��������
 ����� �� 	�� ��� ��
������ 
���	������

�������� )��� 	�� �����������% 	�� 
��� 	�	���� ������% 	�

 ��� 	�� ������0�*���% 
����� 
��

������� 
��	% ��� 	�� E���7���� 	�
�����
���� /��	�� ��

 �� ������ 
��� 	�� #����	� ��
���


��	��� ��� ������
��� E�H���� /�� � & �������
��� 
�������
��������� 1�� /������� '������

�
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 	�� ����	�������� 	�
 �����
 �G��� ������
������� /��	 
����	���
 ������ 
��� 	��
�

#����	� ����� ��
��	��
 ��� ���������� .0�*�� 
��� ��� �������
�� 
��� ���J� 
���	����

��� 32������������

����� /�
������� ��0J�� ��
 	�� +����������4 ������ 
��� 	��
� #����	�

/������ 

,���� 	�� ���	� ��	 ���������
������ '�������� ���� �
 ���� ��� '��������% /�����
 ���� 
��

#�����/�� 	��
�����% 	�� #��������#����*���#����	� 3##!4 P89% >5% ?6% 5=Q ,���� 	�� ,����

��" A�	�� ���� 	�� &���������� #�$ 32���������	 #����*��� ���������4 ���A� '��/���

	���% /����� �� P?@Q �����
������� /��	� ��
 '�������� 
���� ���������/��������� ��� !�����

������0
����� 	�� #�G/���R
���� 2���������� �� ��	 ��
����� 	�� 1��/�������
���B�������%

��	�� ���
���� /��	% 	�� ���	��	�������� �� �������� &�������� /��	�� 
*����
��� 1��/����

������ 3#����*���4 �����
����% /����� 	�� '�������� 
����� ,���� ����� ���
� #����*��� 
��	


��� ��� ��������% �� 	�� ��������������
���� "��	�� ������ ��	 ��J������ ��� ������0�*���

��� ���	������ "��� �� ��
�������� 1�� &��
*��� ��� ����� 	��������� ������0�*�� 
����� 	��

���*� 	�
 ���
�������� .0�*��
 	�� 

1��� �� ������ 	��
�� 
����� �����	���� !������
������� �
� 	�� 1����**���� �������������

��
���� "��	�� �� ��*��������� ����
������������
;
���� ������� 	������ ��������������
���

"��	�� �� 	�� ���
�������� .0�*�� ��� ��	 ��**��� 	��� �� 	�� ��
 
������ /�����	� �����


�������������������	� &�� 	�� &��������� 
��	 ���
����	�������� ������0�*�� ����������K ���

	��������
��� ���
������� .0�*��% 	�� 
��� ��� 	�� #��������#����*���#����	� ��������� ��
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������������
;
��� ��	 �*������ ���� ���	������� 3� & #�����������4% /����� 
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� "�� 	��
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���� !������
������� ������ 
���

��� �;���	���������% /�����
 	�� #��������#����*���#����	� ��	 	�� #������������	� ����
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%�� 2�� ����
	� ���*����� )�)&))3

����� ""��"��	���

*0�0�0� 9�����������
����

2���	���� 	�� &��������� ��������������
���� "��	�� 
��	 	�� #�G/���R
���� 2���������� 

���	 ����� ������ $�	���
������ ������	��% �0���� 	��
� 2���������� �� ������	�� ���*��G��

"��� ��������� /��	��K

rot �H = jωε �E 3: 54

rot �E = −jωµ�H 3: 64

div �H = 0 3: 84

div �E = 0. 3: 94

3: :4

����� ���� ��� 	�� ���*��G�� 2�0J�� �X(�r, t) = Re{�X(�r) ·exp(jωt)} ε ��	 µ 
��	 	�� #����������

���
������� 	�
 #�	���
% /�����
 �� "�����	�� ��
 �������% ������ ��	 �
����* ����������

/��	�� 
��� ��
 ���*��G� ε 
���� 
��� ��
 	�� ������� ε ��	 	�� $������������ σ ����J

ε = ε − j
σ

ω
3: >4

��
����� 

)�� 2�/������ 	�� +�������������� ��� 	�
 �������
��� "��	 /��	�� ��� ��� 2�������� 3: 54

	�� ��������
�*������ �� ��	 
���� ��
�����J��	 2�������� 3: 64 ��� 1��
*������	 /��	 ���

���������� 	�� +�������������� ��� 	�
 �������
��� "��	 ��� 2�������� 3: 64 	�� ��������
�*��

����� ����/��	�� ��	 2�������� 3: 54 �����
���� #�� ������ 	�� 2����������

rot rot �H − k2 �H = 0 3: ?4

rot rot �E − k2�E = 0 3: @4

��� k2 = ω2µε ����� )����������� 	�� &�������� rot rot �X = graddiv �X − �∆ �X ��	 �����

'����

������ ��� $�	���
�������� ������� 
��� 	�� ������������ ����������2����������

�∆�H + k2 �H = 0 3: <4

�∆�E + k2�E = 0. 3: 5=4
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���������� #����*���% /��	�� 	���� ��*������� �� .��������	������

��/����� ����� ������� 
��� 	�� �����
����	������ "��	���������� ����
 #����*��
 "�� 	��

��/�
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 �����
����	����� $0
���
��
���� P>5% 558Q 
�� 	�� ����

������� /��	 �� 	��
�� ������ ���������� ��	 
���� 	�

�� ��� 	�� $�������� P>5% 558% ?8% 55?Q
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��� ����
���	��� ���� "��	���������� ���� ������
� �� �1�+����� 3����
���
�� �������
��4 ��	

�#�+����� 3����
���
�� �������
��4 ���������� /��	�� ��� ������	�� 2���������� ��
��������
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ETM,r, c
s
,n,m(r, θ, φ) = n(n + 1)

bn(kr)

r
Pm

n (cos θ)
cos

sin
(mφ) 3: 554

ETM,θ, c
s
,n,m(r, θ, φ) =

[
kbn−1(kr) − n

bn(kr)

r

]
·[

n
cos θ

sin θ
P m

n (cos θ) − n + m

sin θ
P m

n−1(cos θ)

]
cos

sin
(mφ) 3: 564

ETM,φ, c
s
,n,m(r, θ, φ) = −

[
kbn−1(kr) − n

bn(kr)

r

]
m

sin θ
P m

n (cos θ)
sin

− cos
(mφ) 3: 584

HTM,r, c
s
,n,m(r, θ, φ) = 0 3: 594

HTM,θ, c
s
,n,m(r, θ, φ) = −jωεbn(kr)

m

sin θ
P m

n (cos θ)
sin

− cos
(mφ) 3: 5:4

HTM,φ, c
s
,n,m(r, θ, φ) = −jωεbn(kr) ·[

n
cos θ

sin θ
P m

n (cos θ) − n + m

sin θ
P m

n−1(cos θ)

]
cos

sin
(mφ) 3: 5>4
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������� ��

� ) & 	�
 �������
��� "��	 ���

�E =

Nmax∑
n=1

n∑
m=0

(
anm · �ETM,c,n,m + bnm · �ETM,s,n,m + cnm · �ETE,c,n,m + dnm · �ETE,s,n,m

)
. 3: 5?4

2�������� 3: 5?4 ����� 
��� #����*�����/������� ��	 ��
���� 	�� .��B������� anm% bnm% cnm

��	 dnm ����� 	�� 1��/������� �� ���������
���� ���� ����
���	�� /���% ��

�� Nmax → ∞
������ �� 	�� !��G�
 /��	 Nmax H�	��� 
� ��/����% 	�
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�

����� (�� �X(�r, t) = Re{�X(�r) · exp(−jωt)} 
�����
���� �����
� �X = (Xr, Xθ, Xφ)T
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 ��� 	�� "��	���������� �ETM,s,n,0 = �0 ��	 �ETE,s,n,0 = �0 ����% ��	������ 
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max + 4Nmax 

1
 
�� ���������% 	�

 �
 ����� 	�� #����*�����/������� 	�� 
�� ,��������/������� ���� ���

�����
����	 ����� �� 	�� ��	����� 
����������� ���	��� �
 
��� ��� bn �� 
*����
��� &�

���

"���������% ����� ���� ,��������/������� ��� ��� ��� 	�� 1����
�����% 	�

 ���� ������������ ��

����	������ �����% ����� H�	��� �� ����� .���	��������
*���� ��
 "��	 
����� ���� 
�� 
�����	�

+���� 	�� 

�������� 
��	 ��� 	�� #����*�����/������� 	�� ��	����� 
������������� bn 
*����
��� �������

"��������� �/����� 
�� ���
� 1��/������� ��
���� ���� ������������ �� .���	��������
*����%

	 � ��� "��	 /��	 	��� ����	���� 1
 ����� ���� ���������
������ ���% ��� 	�� �
% ��
�����	

��� .���	��������
*����% ����� 1������7�

 ���� 

*0�0�0� 9������ ���3��	�
����
�	��$���

#����*��� /��	�� 	���� ��*������� �� .��������	������ ��/����� +��	 �������� �� ��	����

.���	������
;
����� 
�*������% ������� 
��� � & ��� 	�
 �����
�
��� .���	������
;
��� 	��

������ +����� ��	 ��� 	�
 �;���	��
��� .���	������
;
��� 	�� �;���	��
���� +����� P?8Q 1


�0���� ���� ���� "��	���������� ��
 +������ ��� $������������ 3� & &��	����� ��� ��������


���� ���0���4 ���/��	�� /��	��% /�� � & $����������*��� ���� P?9Q 

��� F����������� ��� �����
����	������ 1��/�������
�����% � & ��� #����*���� ��� $������

�����*����% �
� ����

�� ���
�
 ���� ������� /��	��% /��� 	�	���� 	�� 2�������� 	�
 ������0��

*��
 ��

�� ������
������� /��	�� ���� P89% 55?Q �� P?@Q /��	� ��� 	�� '��/��	��� �����
����	�

������ 1��/�������
����� 	�� &���������� #
�
�����
� ��������
 $
����%�
 32#�4 	�A����� 

*0�0�0' �
����������
�� ��� &�����

��
 &���������
��	��� ����� ���� ������������ �� ���
����	��� 2������ ��� ��
 2����� geb ∈
{1...Ngeb} ��� 	�� #������������
������� εgeb ��	 µgeb �� 	�� 2������� ����� H�/���
 	�
 "��	
�Egeb ���% /�����
 
��� ����J

�Egeb = �Einc,geb + �Escat,geb 3: 5@4

��
�����
���� ����� �
� �Einc,geb 	�
 �������	� "��	% /�����
 ��� ��J�� �����*���� /��	 ����

��
 ��
�������� 	�� "��	�� �Escat,geb% /�����% ����������� ��
��	�����% 	���� &������% &�������

��	 ��7�G��� ���
����� 

��
 ��������	 /��	 �� H�	�� 2����� 	���� H�/���
 ��� �	�� ������� 1��/�������
��
���� ��*���


������� ��� Nentw,geb 1��/�������
��
���� �� 2����� geb 
����� 	�
 ��������	 ����J

�Escat,geb =

Nentw,geb∑
entw=1

�Escat,geb,entw 3: 5<4



?@

��
����� 

1�� 1��/�������
��
��� /��	 	����

�Escat,geb,entw =

Ni,geb,entw∑
i=1

αgeb,entw,i · �f geb,entw,i
3: 6=4

��������������� ��
��	����� ����� 
��	 αgeb,entw,i 	�� 1��/�������
���B������� ��	 �f
geb,entw,i

	�� "��	���������� ��� 1��/�������
��
��� ���� ���
����	��� 1��/�������
�����% /�� � & 

#����*��� �	�� $����������*���% ��*��
�������� �� "��� 	�� #����*��� ���
���� 2�������� 3: 6=4

	���� ��
�������� ��� 2�������� 3: 5?4 �� 	��
�� "��� /��� Ni,geb,entw = 2N2
max + 4Nmax 

)�� '����
����������� 
��� &��	 : 5 ������������ /��	�� 1
 ����� ����� 
�J������% /������

��
 #
��
� & �������������� �
� �� 	��
�� ��A�	�� 
��� ��� 	��������
���� ������0�*��% /������


��� ��
 	�� #
��
�
� ' ��	 ( ��
�����
���� 
�
 
������� 	���� ���� ����� +���� �Einc,1%

/����� ��� 	�� ������0�*�� ���C� �� ��������� 	�
 .0�*��
 ���� �
 ����� 
�������% �
 
��	

��
� �Einc,2 = �0 ��	 �Einc,3 = �0 ��
 ��J��� ��������	 	�
 .0�*��
 /��	 	���� 	�� ���	�� #���

��*�����/��������� ��
��
#�# 3 �Escat,1,14 ��	 ��

��
#�, 3 �Escat,1,24 ��*��
������� ��� "��	�� ���������

	�
 .0�*��
 /��	�� ��� #
��
� ' ��	 ( H�/���
 	���� ����� ��������� 1��/�������
��
��� ���


�����% ��
� ��
��
,�# 3 �Escat,2 = �Escat,2,14 ��	 ��

��
+�# 3 �Escat,3 = �Escat,3,14 ��
��
��� ������ ��
� ����

1��/��������� ��� 1
 
�� ���������% 	�

 ��� 	�� 
�J������ #����*��� ��	 ��� 	�� ������

3,1

2,1

geb,entwMultipol aus dem Gebiet geb
mit der Nummer entw

1,1

1,2

Escat,2

Escat,3

Escat,1

Gebiet 1

Gebiet 3

Gebiet 2

E
scat,1,1

E
scat,1,2

Ebene Welle Einc,1

+��� *0�1 #����*������	���� ��� ����� ������0�*��% 	�� ��
 �/�� ������������ ��
���� ���


�����0���� 	����
������� 2���	�� ��������� 	�� +������
������� 	�
 #����*��
% ��� 	�� 
��

��
����� 

���� ,��������/��������� ����
���� /��	�� #����*��� ��
����� ���� ������������ 3 �E → ∞4
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�� ����� .���	��������
*����% 
� 	�

 	��
�� ����� �� 	�
 2����� *�������� /��	�� 	���% ���

	�
 �� ��
���	�� �
� ��� .���	��������
*����� 	�� #����*��� ��
��
#�# ��	 ��

��
#�, 
��	 	����

�� 	�
 ������ 	�
 ������0�*��
 ��
���� 
�	��
 ������� �
 
��� ��� 	�� 1��/��������� ��
��
,�#

��	 ��
��
+�# % 
�� 
��	 ,��������/��������� ��	 ��
����� ���� ������������ �� ����	������ ����

.���	��������
*����� �0���� 	���� �� 	�� 2������ ������ /��	��% �� 	���� 
�� /���
�� 
��	 

*0�0�0* E���������
����

n

t

Anpasspunkte

Gebietsgrenzen

Rand12

Rand13

Rand23

Gebiet 3
ε   µ33

Gebiet 2
ε   µ22

Gebiet 1
ε   µ11

+��� *0�1 
���	���� 	�� 2������ ��	 
�*�

*����� ��� 	�� #��������#����*���#����	� 

��� H�/���
 �
����*�� ��	 ��������� 2������ /��	�� 	���� 	�� #������������
������� µk ��	

εk ����������
����% /���� k 	�� 2�����
������ �
� 3
���� &��	 : 64 ��� 2�����
������� /��	��

	���� 
� �������� 
�*�

*����� ��
�������� ��	 
�� 	����� 	���% ���	��	�������� ��
��

�������% ��� 	���� ����� 
�����J���� 	�
 2��������

;
��� ��� &�
������� 	�� .��B�������

αgeb,entw,i �����
����� /��	 ��� ���	��	�������� �� 	�� 
�*�

*���� j ��� 	�
 �������
���

��	 �������
��� "��	 
��	

t̂1,j · �Ej,k = t̂1,j · �Ej,l 3: 654

t̂2,j · �Ej,k = t̂2,j · �Ej,l 3: 664

εk · n̂j · �Ej,k = εl · n̂j · �Ej,l 3: 684

t̂1,j · �Hj,k = t̂1,j · �Hj,l 3: 694

t̂2,j · �Hj,k = t̂2,j · �Hj,l 3: 6:4

µk · n̂j · �Hj,k = µl · n̂j · �Hj,l. 3: 6>4

����� 
��	 k ��	 l 	�� ,������ 	�� ���	�� �������	���������	�� 2������ ��	 t̂1 ��	 t̂2 
��	

	�� ���������� ������������������ ��	 n̂ �
� 	�� ��������� ,������������� 	�
 
�*�

*����
 

�Ej,k �
� 	�
 �������
��� "��	 �� 
�*�

*���� j �� 2����� k ��	 �Ej,l �
� 	�
 "��	 �� 2����� l 

2������
 ���� ��� 	�� �������
���� "��	�� �Hj,k ��	 �Hj,l 
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*0�0�0- �
���#$�	$�F�
����$�

#��������
�� �
� 	�� &�
��������� 	�
 ��������	�
 ����
 ���������� .0�*��
 	���� ����� ��������

1��/�������
��
��� ����������	% �����	���
 ������ 	�� 	��� ���/��	����/��
� ����� E�	������

�� ������
���� ���/����������� ��
 ���� �������� /��	��% ��	�� ������� #����*�����/����

������ ��� H�/���
 �����
����	������ .���	��������
*������ ����
���� /��	�� P89% 55?Q% 	����

	�� ,��� �
�����������������
����
 

&�� 	��
�� '�������� 
��	 	�� #����*��� 	����� ������	���% 	�

 
�� 
����/��
� �����7������0��

���� 2�����
������� ��	����� &��	 : 8 ����� ������ ����� ������0�*�� ��� ���	������ "����� 

��� ������0������ &������� /��	�� ��� #����*���� ��� ��0J���� 1��7�

������� ����	����%

/�����	 	�� )/�
��������� ��� #����*���� ��� ��������� 1��7�

������� ����	���� /��	�� 

��� ��0J�� ���/����� ∆ϕ% ����� 	�� ��� #����*�� �/�� ����������� 
�*�

*����� 
����% ���


����� 	�� E�	���� 	�
 #����*��
 '�������� ��� #����*�����A�������� A�	�� 
��� �� P?6% 558Q 

Multipole

Streukörper

Matching-Punkte

∆ϕ

+��� *0�1 #����*�����A�������� ��� &�
��������� 	�
 "��	�
 ��J������ 	�
 ������0�*��
 

*0�0�0, D������������� G�����
����(����

��� &�
������� 	�� 1��/�������
���B������� ������� ���� 	�� 
��
������� ����
 2��������
�


;
���
 �� "��� ����� #����G% /�� �
 &��	 : 9 ��� 	�� 
���	���� ��
 	�� &��	��� : 5 ��	 : 6

����� ��� )������	����� 	�� !������
������� ������� ��� 	�� ������������ �� 2������% ���� 
��	

�
 	�
 
�J�������� 5 ��	 	�� ���	�� ������� 2������ 6 ��	 8 "�� H�	�
 	�� 	��� 2������ ��

��

"��	���/��������� ����
���� /��	�� �� 	��
�� "��� 
��	 �
 ��� 	�
 2����� 5 �/�� 1��/���������

��	 ��� 	�� 2������ 6 ��	 8 H�/���
 ���� 1��/������� 3
���� &��	 : 54 (�	� 1��/������� ��� 	��

���� .��B������� αgeb,entw,i ����� �
� i 	�� 	����������	� ,�����������% entw 	�� ,�����

	�� 1��/������� ��
 	�� 2����� geb �� 	�� #����G �
� H�	� "��	���/������� ��� ���� ��
������

2��**� ��� #����G
*����� ��
���	�� ��� 2������ /��	�� 	���� ���	�� ��������	�� �������� 

�� �������� 	�� Rand23 	�� 2������ 6 ��	 8 1��� &����	��� ��
���� ��
 ����� ���� 
�*�

�

*�����% 	�� ����� ����� ������������ 
��*������ ���� H�/���
 �/�� �� 	�� ���	7���� ������	�

�����������'������� t̂1 ��	 t̂2 ��
������ 
���� ����

��(�%	�� 
���	 ���� ��	 n̂ = t̂1 × t̂2 ����������
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α       ...1,1,1 α       ...1,2,1 α       ...2,1,1 α       ...3,1,1

Rand12

Rand13

Rand23

Gebiet 1 Gebiet 2 Gebiet 3

Entw.1,1 Entw.1,2 Entw.2,1 Entw.3,1

α1,1,1
α1,1,2

α1,2,1
α1,2,2

α2,1,1
α2,1,2

α3,1,1
α3,1,2

β1,2,1
β1,2,2

β1,3,1
β1,3,2

β2,3,1

+��� *0'1 &��
*��� ��� 	�
 2��������

;
��� ��� &�
������� 	�� 1��/�������
���B�������

αgeb,entw,i ��� ���	�� /��	�� ��� 	�� ���������� 1��/��������� ������*�� 

��������� 	�� #����G /��	�� 	�� ���	�� ��� 	�� ���
*������	�� 1��/��������� ������*�� 

,���� H�	� 1��/������� ��

 �� "��	 �� ����� ��
������� ���	 ��������� 
���% 
� 	�

 	��

#����G ����� �/�����	 ��
���� �
� 

F�������/��
� /��	�� ���� 
�*�

*����� ���/��	��% ��
 ��� &�
������� 	�� .��B�������

αgeb,entw,i ���/��	�� /���� �� 
����
���
�
���� /��	 	��
� #����	� ���� #
�
�����
� "����

�������� $
����%�
 ������� ��
 2��������

;
��� �
� 	���� ������
����� ��	 ������� 
���

	�	���� ������
�� ���������� 1�� ���������� 2��	 	�� F�����
������� ����� ��/� ��� ���� 

2��0
� /��	 	�
 2��������

;
���% ��	�� 	�� "��������	���� ��������� /��	��% 	 � % 	�� "�����

�� 	�� 
�*�

*������ /��	�� ����������	�� ��
������� 2��0
� /��	�� ���� 	�
 2��������
�


;
��� ��� ����� 	�� D��)�������� 

*0�0�0. &�������	�$���

1�� /�������� 

*��� ��� ������
���� &����������� �
� 	�� 2���������� 	�� 1������

� &��

������������ #�	��������� 	�� &���������
����	���� ���� ��� 
������� ���	����������
 2����

�����

;
��� ���
�����% /����
 ���� ������������ $0
��� ��
�������� ���� 
��� ���� �� /��

���� 1��/�������
��
���� ��/ �� ���	���� 1��/�������
��	������ �0���� 	��� ������% 	�



	�
 ��������������
��� "��	 ����� ����������	 ����� ��*��
������� /��	�� ���� 1
 �
� 	����

/������% ����� ��	������ ��� 	�� 2��� ����� $0
��� �� ����� 

+��	�� ���� ����� &���������
	�������� 	�� ��
�	��� 	�� 2���������� 3: 654 ��
 3: 6>4 ����J
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3: 6?4 ��
���������

�% ������ ��� 	�� ��������� "����� ρj P8:Q 

ρ2
j =

1

6

⎧⎪⎪⎨
⎪⎪⎩
∣∣∣εk · n̂j · �Ej,k − εl · n̂j · �Ej,l

∣∣∣2
|εk · εl|

+

∣∣∣t̂1,j · �Ej,k − t̂1,j · �Ej,l

∣∣∣2 +
∣∣∣t̂2,j · �Ej,k − t̂2,j · �Ej,l

∣∣∣2 +√√√√∣∣∣µk
· µ

l

∣∣∣
|εk · εl|

·

⎡
⎢⎣
∣∣∣µ

k
· n̂j · �Hj,k − µ

l
· n̂j · �Hj,l

∣∣∣2∣∣∣µ
k
· µ

l

∣∣∣ +

∣∣∣t̂1,j · �Hj,k − t̂1,j · �Hj,l

∣∣∣2 +
∣∣∣t̂2,j · �Hj,k − t̂2,j · �Hj,l

∣∣∣2
⎤
⎥⎦
⎫⎪⎪⎬
⎪⎪⎭ 3: 6?4

���
�� ���� ��� H�	�� ��������� 
�*�

*���� j ��������� /��	�� 
����	���
 �
� 	�� ��������

��
��� 
�
/������ 	��
�� "����� ���
��% 
� 	�

 	���� ���A
��� ���
������� ��
����� ���

	�� &���������
��	��� ��
������
/��� �
� ������ ������ 
��� 	�� ,��������������� 	�� 
��

*�

*����� ��% 	���� $���� ���
*������	 2�������� 3: 6@4 ��
���� /��	�� 

�nerror,j = n̂j · ρj 3: 6@4

��� ���A
��� ���
������� 	�� 
�*�

*����� 	���� ���� "������������� �nerror,j ������� ���� ������

��� F���*������ 	�
 &���������
�������

�
 ��
 �� ������ 	��
�� 
����� ���
���	��� !���

����� )���
��� ���0������ 	�� &������� ���� ����������� ���
������� 	�� "�������������

3
���� &��	 : 5?4 

����� 8�<�(���
���
���� !��������
����� ��� "���
������	���

*0�0�0� "���$�$#��� ��� $�H�	�$����������� "�$��������
��

1�� "��	����������
*������� ��
���� ��
 �������� .��*�������% /�� � & �������� ���

1����
�� ��	 �����*�������� 	�� 1������	����% "��������� ��� &�������� 	�� #����G�������

��% 2��������
�0
��% "��������� ��� &�������� 	�� ��
������ ��������������
���� "��	�� ��	


�
������������ ���
� 
��������� ����� ������
 ���� ��*������� 	�� 
������� 
����	���
 �����

��� ��
������ 2���	���������������� 	�
 !�������
 �� ������� 	��
�� ������������ ��� ���

'��/��	��� ��� #����*�����/��������� ��� � & 1��7�

 ��� 	�� 1�
������� 	�� #����G% ���

���*�������� 	�
 $0
���
������
 ��	 	�� &��������� 	�� ��������������
���� "��	�� +��	��

/������ "��	���/���������% /�� � & $����������*���% �������������% ������� 	��
� ��������


�� 	�� ������ ��
����� !������������� ��� 
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��
��
��	��� ��� 	�� #��������#����*���#����	� 
��	 ���� '������� ��� "��	���/���������

�0�����% 	�� H� ���� 
�/��	���
���� �*����� 
��	 #�� 	�� 
�
	������ ��� /������ &������

����
�������� ������ 
��� 
���� ��� &�	��� �� 
���	���� !���������/�������� "�� ���� *���

��	����� ��*������������ 	�
 !�������
 ��	����� 	��
�
% 	�

 ���A� 	�
 ��
���� !�������

����
�������� /��	�� ��

% /�	���� 
��� ������ "����� ���
��������� �0���� 

1�� �������
 #�����% �� .��*��G���� �� ��	�������% �
� 
�
�������� �� �0���� � & ��
���

������0���� ����� �� ����� '�����	 ���**���� ��	 ��
 E�H��� ���������� /��	�� ����� ���

����

���� �����% /�� �� ������ 	�� !���������
������� ��� &����	���� 	�� ����� ��

����%


��	��� /�� 
��� 	�
 E�H��� ���� ��J�� ��� 	��
����� ��	 /�
 ��� ��� 	�� E�H��� ������

���� ��� E�H���������� ������

����� 	���� ����� 
� &��
*��� ����� #����*�����/������� ���

	����� 	��
% 	�

 	�
 E�H��� ���
����	��� 
�������� /�� .���	��������
*����% E�	����% 2��	

��	 1��/�������
���B������� ��
*������� ���% 	��
� ���� ���� ��J�� ��� ����� 
������� 
��	 


��� 	�� ���*�������� &��������� 	�
 "��	�
 ������ ���� ��J�� ��� ��������� ��
 E�H��� ����

��� ��	������ ��� *��� /����� #����	���% /�� � & 	�� ��� &��������� 	�
 �������
���� "��	�


��� ����� ��
������� E�� 

���
� ����/��
� /��	 ��� 	�� ��H��������������� !������������� �����
����� ���� /�
������

���� .���������� 
��	 ���


� 3��
������ ������;*��4% *��
����

����% �
�
����� ��	 "��+�

������
 P:6Q ���


� ��
�������� 	���� 	�� E�H��������
������� ����� *��
����

���� 
��	

��� ��������� ����� ���� ��J�� ��� 
������� ��� �
�
����� ������� ���� 2��**������ 	��

E�H���� �� ����% �� /��	�� 	�
 &��
*��� 	�� "��	���/��������� �� ������% ���� ���������

�� .��

� $�)���
��� 	�A����� /��	��% /����� 	�� #����	�� 
�
�������
�� ��	 ����
�����
��

��� &��������� 	�� "��	�� ��
���� '�� 	��
�� .��

� �0���� 	��� 
*������� .��

��% /�� � & 

$(*�" ���)� �	�� $,��
�����)� ��������� /��	�� ��� ��*����������� H�/���
 ���� 
*��������

"��	���������� ����� 	�� '�������� ����� 
�� H�	��� ���� 	�
 S2�
����M ��� $�)���
��� ��	

�0���� ��
 
�����
 �����	��� /��	��% 	 � �� 	�� ��������	�� !�������
�������� �
� ���� ���


��������� 
��/��	 ��� �����
����	��� 	�� ���
����	���� "��	���/��������� ���� ���/��	�� 

��	���� �0���� � & ������������ ������I�������� P:8Q ��� '��/������ 	�� ����� �����
����

/��	�� ��
 ������ 	�� ���� .���������� 	�� ��H��������������� !������������� �
� 	�� "��+�

������
 ��� ������� �
% 	�

 E�H���� ������� S2�
������M �����% 	 � 
�� 
��	 	�
 ����% ����


�� 
��	 ���� 	�
 ��	��� 

����� ���� ��������� 
�
�������� 	�� "��	����������
�����	�% �0���� 
������������� ��	��

����� /��	��% 
� 	�

 	�
 !������� �� �0�����
� ����������� #�	��� �������	��� /��	�� ���� 

���
�
 ������� 	�� �������������� 1����� /������� #�	���% ���� ������
/����� #������/��	 

*0�0�0� G�����
����(����

�� 	�� #����G �
� H�	� "��	���/������� ��� ���� ��
������ 2��**� ��� #����G
*����� ��
���	�� 

"��	���/��������� /��	�� 	���� �� "�����	�� ��
 !����
���-
��
 ���������� 3
���� &��	 : 94 

��� ��6�%	�����	���	�� ���
������
��� ������ �

����!��%	����� 
��� 

� &�	����� ���������	�
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(�	�� 2�����
���	 �
� ��� ���� 2��**� ��� #����G�)����� ��
���	�� ��	 /��	 	���� �� "�����	��

.
��
���-
�� ������� 

*0�0�0� A�����
��

�� ������ 	��
�� 
����� /��	� 	�� #��������#����*���#����	� �� ��H��������������� +��
�

��*���������� ��� 1������	������ 
��	 �� 	�� *����	����� ��*������������ 	�� 1�� )�����

��������� P8:Q% 
� 	�

 ��� 	��
�
 !������� ������
 ��
������ &���������
��	���� ���� #�	��

A�������� ���/��	�� /��	�� �0���� �� 
����� & /��	�� 	�� /������
��� .��

�� ��	 	����

������������� ��
�������� 

����� 	�� '��/��	��� 	�
 ���/�������� .��

����	���
 /��	 ���� 
��� ������ �������
�������

	�A������ �������% /�
 ���� !���������/��������% ��
��
��	��� 	���� ������� ���������� !���


����% 
���� ����������� ����� 
�
�������� �0���� 	�� ���
����	��
��� 1��/�������
����� ���

�0����� 1���� ��������� �����	��� /��	�� �� ���� ���� ���� "��	���/������� �� ��� 
�*�����


#�	�� ������������� /��	�� ��	 	��
�
 	���� ���������� ��� ��� �/�� !������������� �� 	�


��
�����	� !������� ����������� /��	�� 

����� "����������	���

��� �������
�� 
�/��	��� 	�� #������������	� 
����� 	�� &����	���� ��� �����
���������

	�� ������ /��	�� 	�� �����
����� �� �������� ����������% ��� 	���� &�
�
���������� �����


���� /��	�� 
�� 	��
� +��
� ���� 	�� ������������ ������� 	�
 ������
 �**��G������ /��	�� 

1
 
��	 ����	
������� ���
����	��� &�
�
����������% /�� � & ������������������% �0����� ��

"�����	�� /��	 H�	��� ��� 	������
�0������ "��������� fi% /�� �� &��	 : : 	����
�����% ��
�

�������� (�	� &�
�
�������� fi /��	 ��� 	�� .��B����� ai ��/������% 
� 	�

 
��� 	����

Drahtstück

Stromverlauf

a  f1 1
a  f2 1 a  f3 3

a  f4 4

+��� *0*1 
**��G������� 	�
 ������
 ������� ����
 �����
������
 ��� ����� 	������
�0������

&�
�
���������� 

F����������� ��� ����������	 ������ &�
�
���������� fi ��� ���������� ������������ ��
	������

��

� 

��
 �������
��� "��	 ����
 "�	��
����
 ��

� 
��� ���

�E = �EI = − j

4πεω
grad

∫
L′

∂I(�r ′)
∂l′

· G(�r, �r ′)dl′ − jω
µ

4π

∫
L′

I(�r ′) · l̂′ · G(�r, �r ′)dl′ 3: 6<4



@:

��������� P:=Q ����� �
� G(�r, �r ′) ���� ��������� 2����R
��� "������� #�� 2�������� 3: 6<4

/��	 ��������
 	�� E*������ �E 	�A����� 

��� ����� I 
���� 
��� ����J

I =

Ni∑
i=1

aifi 3: 8=4

��
����� ����� ���� 	�
 ��
������ �������
��� "��	 �� 
����������� ��� 	�� .��B�������

ai ��������� /��	��K

�Escat =

Ni∑
i=1

ai · �Efi. 3: 854

&�� 	�� #������������	� 
���� 
��� 	�
 �������
��� 2�
������	 ����J

�E = �Einc + �Escat 3: 864

��
����� 

��� .��B������� ai 
��	 	����� �� �0
��% 	�

 ��� 	�� ���������7���� 	�� ���	��	������

�Etan =

Ni∑
i=1

ai
�R�Efi + �R�Einc = 0 3: 884

������� �
� ����� ���	�� 	�� E*������ �R 	�
 �������
��� "��	 ��� 	�� �������������*������� ��

	�� ���������7����� �� ���
� 2�������� ���� ���/�	�� ���� 	�� !������*�

���
�������

��� ��� 	�� �����
�������� ������� /��	��% �	�� 	���� 	�� &��	��� ��� #������� $�������


'�������� ������� �������� 1������

� #�� ����� 	�� 2�/�������
�������� wj ��� 	�
 �������

j ��	 ���

< ..., wj >=

∫
L

...wjdl 3: 894

/��	 	�
 #����� ��������� 1
 ���	��� 
��� ��
� �� ���� ��/������� #�����/������	��� �������

����
 �������
 ����� ���� 	�
 2��������

;
���

Ni∑
i=1

ai < �R�Efi, wj >= − < �R�Einc, wj > 3: 8:4

��������� /��	�� ���	 	�� &�
�
���������� fi ������ 	�� 2�/�������
���������� wj% 	���

���	��� �
 
��� �� 	�
 2��������'�������� ��� $0
��� ��� 3: 8:4 ������� 	�� .��B������� ai 

#�� 	���� ����� ��	 ��� 3: 854 �0���� 	�� ��
������� �������
���� "��	�� 
�����J���� ���������

/��	�� 

��� ���
������� 	�� #������������	� �������� �����	 	�
 �������
��� "���
% 	�� �������
����

$�����
��0��� ��� �����
�������� (�	��� ���� 	�� #����	� ��� "������
��0�� ��
��/�����

/��	��% 
� 	�

 ���� �������
��� "������% /�� � & 
���������7�������% !.+�.���

�����

�	�� ����
�����������������
�% �����	��� /��	�� �0���� +��	�� ��
������� ���� ��������


��� ���0�� ������
�������% ��

�� 
��� ���� �������� 	��������
��� .0�*�� �����	��� 1���

��
��������� &�
��������� 	�� #������������	� A�	�� 
��� �� P:=Q 
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�
%� )��(������� "�"�""�

*0�0'0� 6�������� ?��	$##�
�� ��������� ��� ��������!�
���#$�!����$��

"�� 	�� &��������� ��� ���*��������� 
���	������ ������ 
��� ���� ���� 
����� ��� ���

��������� &������ ��� 	�� +���������� ����� ���� ���� ���� "������� ��	 	�� '��/��	���

��� ����������� ��� ����� !������������
/����� �� ����� ��������� '����0J����� 	�� 
���	�

���� 
������	 	�� )/��� ��/ ����	����
��������� 	�� ��������
��� !������
��������� ����

	�� )��� 	�� �� �0
��	�� ����������� ��*�	� ��
������ ,��� 
������ /���� 
��� 	��
 ��� 	��

#����G��0J� 	�
 2��������

;
���
 ��
 ���������*�������� 
��	 	���� 
������ ��
��0*�� 

)�� $0
��� 	��
�� ���/��������� /��	� �� P>8Q ���� #����	� ��� $0
��� 	�
 2��������

;
���


	���� '�������� ��� ������� ������� �����
����� ��� ##!�#����	� ������� ������� ���� ������

��� )������	����� 	�
 !������
 &�A�	�� 
��� ��� &��
*��� �/�� 	��������
��� .0�*�� �� ������

����% /�� �� &��	 : > 	����
�����% �������� ���	� .0�*�� H�/���
 ����� ������� ���� #����*���%

	�� ���� ���	�� S������	��M% 
� 	�

 H�	�� .0�*�� �� ����� ������� 2��������

;
��� ���������

/��	�� ���� ��� ����������� 	�� ���	�� �����*������� /��	 	���� ���� ��������� '����**����

	�� ���	�� 2��������

;
���� ��������% ��� 	�� 	�
 ��������	 	�
 ����� .0�*��
 ��
 ���������	�


"��	 ��� 	�� ��	���� .0�*�� /����% ��	 ��������� &�� ���������� #����*�����A����������

������������ 	�� &���������
*����

� 

Streukörper

Multipole

Gebiet 1Gebiet 2
Gebiet 3

+��� *0-1 ��������� &��������� �/���� ������0�*�� ��� 	�� #��������#����*���#����	� 

*0�0'0� 6�������� ?��	$##�
�� ��� ��� ����$�� ��� �$����� :�$�<

�� P>8Q /��	� 	�� #0���������% ��	��� &���������
���������% /�� � & 	�� #������������	�%

��� 	�� #��������#����*���#����	� �������� �� �����**���% �����
������� �� P<?Q /��	� 	��


��������C�� ��	 ���� '����**���� ��� 	�� ��� 	�� #������������	� ��
�����	�� "��	�������

����
*������� "1.E P5<Q ����������� &��	 : ? ����� ������ ��� &���������

������� 1



��� 	�� �� ����� ����
������������ �������**���� ��0�
*������% /����� 	���� ��� �*���������

����� ������������� /��	% ��������� /��	�� 

��� ���
������� .0�*�� /��	 ������� ��� 	�� #��������#����*���#����	� �����	��� ��� �����

��
���� E�H����% /����� ����/�����	 ��
 #����� ��
�����% /��	�� ��� 	�� #������������	�

��������� 
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+��� *0,1 ������������ �� #�#�2������ ��	 ##!�2����� 

*0�0'0� 6��������� ���
���������

+��	 &��	 : ? �� 2���	� ������% 
� �G�
������ 	�� ���	�� 2������  �/
��
��
� ��	 0��
��
��
� 

"�� H�	�
 2����� geb ������ 
��� 	�
 2�
������	 �Egeb 	���� F����������� 	�� "��	�� �����

D������ 	�
 2�����
% /�� �
 	���� 2�������� 3: 8>4 ��
��	����� /��	 

�Egeb = �EMoM,geb + �EMMP,geb 3: 8>4

����� �
� �EMMP,geb 	�
 "��	 	�� #����*��� �� 2����� geb �� 
�J�������� �
� �EMoM,Außengebiet

	�
 "��	 	�
 �*�������������
 ��	 �� ����������� �
� �EMoM,Innengebiet 	�
 ��������	 	�
 �����


������������
 

#�� H�	�� ���������

������ ν ������������� 	�� $0
����� �EMoM,geb,ν ��	 �EMMP,geb,ν ����J

�EMoM,geb = lim
ν→∞

�EMoM,geb,ν 3: 8?4

�EMMP,geb = lim
ν→∞

�EMMP,geb,ν. 3: 8@4

��
 �������
��� "��	 	�
 #�#�
�����
 	�
 2�����
 geb 
���� 
��� ����J

�EMoM,geb,ν =

Ni,geb∑
i=1

ageb,i,ν
�Egebfgeb,i + �Einc,geb 3: 8<4

��
�����% 
���� ���� 
�
������ : 6 8 ����� �
� �Einc,geb 	�
 �������	� �������
��� "��	% fgeb,i


��	 	�� &�
�
���������� �� 2����� geb ��	 �Egeb �
� 	�� E*������ ��� 	�
 2����� geb% 	�� �����

����� ����J fgeb,i ��� 	�
 �������
��� "��	 �����	�� ��� .��B������� ageb,i,ν /��	�� ��� H�	��

���������

������ ν ������ ���������% 
� 	�

 2�������� 3: 9=4 ������� /��	 

�R�EMoM,geb,ν + �R�EMMP,geb,ν−1︸ ︷︷ ︸
Korrekturterm

= �0 3: 9=4

�8��� �������	� &�
	���
%��9���
	��� ��	 ���
����	�����
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��� .������������ �
� 	�
 �� ��������������� ���������

������ ���������� ��������	 	�
 ##!�

.0�*��
 

��� ��������� !������������� ������� ������
� ��� ����� #�#�&��������� "�� 	��
�� ��
���

���������

������ ν = 1 /��	
�EMMP,geb,0 = �0 3: 954

��
���� 

,��� ��������� 	��
�� &��������� 	���� 	�
 ���������� "��	 �EMoM,geb,ν ��
 �������	�
 "��	 ���

	�� ##!�&��������� ��� 2���������� 3: 654 ��
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t̂1,j

[
�EMMP,k,ν (�rj ] − �EMMP,l,ν (�rj)

]
= −t̂1,j

[
�EMoM,k,ν (�rj) − �EMoM,l,ν (�rj)

]
3: 964

t̂2,j

[
�EMMP,k,ν (�rj) − �EMMP,l,ν (�rj)

]
= −t̂2,j

[
�EMoM,k,ν (�rj) − �EMoM,l,ν (�rj)

]
3: 984

n̂j

[
εk

�EMMP,k,ν (�rj) − εl
�EMMP,l,ν (�rj)

]
= − n̂j

[
εk

�EMoM,k,ν (�rj) − εl
�EMoM,l,ν (�rj)

]
︸ ︷︷ ︸

Korrekturterme

3: 994
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||�ageb,ν − �ageb,ν−1||2
||�ageb,ν||2

< εgeb 3: 9:4
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� ��� �*������������� ����������%
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��������������� 3: 9:4

εAußengebiet = 10−4 ��
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/��	 � & ��
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t̂1,j

[
�EMMP,k,ν (�rj) − �EMMP,l,ν (�rj)

]
= t̂1,j

[
�EMMPinc,k,ν (�rj) − �EMMPinc,l,ν (�rj)

]
. 3: 9>4
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��0J�� �EMMPinc,geb,ν%
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 ����G�����
������
 q ����J

�EMMPinc,geb,ν = (1 − q) · �EMMPinc,geb,ν−1 + q · �EMoM,geb,ν 3: 9?4
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a(2·j−1) cos(j · xi) + a(2·j) sin(j · xi) i ∈ {1, 2, ...11} 3: 9@4
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������ ������� ��� ����� ����
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������ ���	��������� ��� ϑ = 130 ◦% ϕ = 0 ◦

��	 dp = 50 cm 
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������� ��	 D��)�������� 	�� ##!�#����G ��� H�	� "������� ��� ������
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���	��� /��	��% /��	�� ��
�������� #����*��� *�������� 
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��	 ��� ���� ���������
���
���� ��� ERP = 1 W � ��������% 	��

����J 2�������� 3> 64 	�A����� /��	

ERP = Pt · Da

Dd

3> 64
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������
���� Dd �
� 	�� ����������� ����� λ/2���*��������� ��	
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 ���� 
���� Dd = 1,64 ��� "����� Da /��	 	���� 	�� H�/���
 �����
����� 
������ ��
����� 
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 /��	�� ���� ���
����	��� 
��������;*�� ���������� ��
 
��	 ��� ���	��������� 3Da =

1,59...1,66% H� ���� "�������4% ��� λ/2���*�� 3Da = 1,644% ��� �����R
���� ��*�� 3�������
����

1��������	�*��4 ��	 ��� �������
���� 1��������	�*�� 3H�/���
 Da = 1,54 ��
 ���	���������

��� ��� ���	���0�����
 2����
� ��� 	�� 
���

����� 5== �� G 9= �� G 6= �� 3
���� &��	

> 564 ��� ������
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1����**��
*�������� ����� &��	 > 58 ����� ������ ����� �G��*����
���� '�������� �/�
���� 	��

�����
�*��������� ��	 	�� ��	�������� ��*���������
��� ��� 2���	 ��� 	�� �0���� 1����**�
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�*��������� ��� 	�� 1����**���� ��� 	�� ���

	�������� ��*��������� 
������� 	���� ����� �����R
���� ��*��% �������� *�����
����% 
�
���	

dp = 80 cm% f = 200 MHz 
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� 	�� �������**����� �*������ Upp ��� ����� ���	����
���� ERP = 1 W 

1�7 ������	�������

�� "�����	�� 
��� ��� 
�
���	
��
��� ���/������ /��	��% /�����
 �
 �������% ��� ���� "�������

��	 ����� ��������� 
�
���	 dp 	�� +��
��I�
��1����**��
*������ Upp,max �� ��������� �����

�� 
����� 	�� 1������

� 	�� "���� ��	 	�� ,�����	�����
������ ��
������������ /��	�� 

������� > 9 ����� 	�� "������	�������

� ��� &��	 > < ��� 	�
����� "��������� ��� ���� ���

"������� P#��Q := 5== 6== 8== 9== :==

"������	�����**���� Upp,max,ff

Êinc,0
P�Q =%5?9:9 =%6=??9 =%=9689 =%=6@=: =%=6>== =%=6555

2������ -0'1 )�
�������

��� 	�� "������	�������

� 

	��
�� ����� 	�� 1����**���� 	���� ��� /��� ���������
 ���	��������� ��������� /��	��% 
�

���� 2�������� 3> 84 ��� 	�� &�
������� 	�
 "��	�
 �� .0�*�� ������������ /��	�� 

Êinc =

√
ZF0 · Pt · Da

2π · d2
p

3> 84
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 2���������� 3> 64 ��	 3> 84 ��	 ��� Dd = 1,64 ��

� 
��� 3> 94 ������� 

Upp,max√
ERP

=
Upp,max,ff

Êinc,0

· 9,9198
√

Ω

|dp| 3> 94

#�� 	��
�� 2�������� ���� 	�� +��
��I�
��1����**��
*������ 	���� ��� /��� ���������
 ���	�
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 ��� ���J� dp ����� 3> 94 ������������ 
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����J 2�������� 3> :4 ��% ��� 	�� 	�� ,��������	 �� ���
 ��0J�� �
� ��
 	�� )��������	 

Upp,max,f√
ERP

= kf · a0,f + a1,f · dp + d2
p

b0,f + b1,f · dp + b2,f · d2
p + d3

p

3> :4

��� .��B������� �0���� ��� H�	� "������� f 	���� ��� �������
 2��������

;
��� ���0
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������J���� ������� 
��� 	�� .��B������� ����J ������� > : 

"������� f P#��Q kf P
√

ΩQ a0,f a1,f P1/cmQ b0,f b1,f P1/cmQ b2,f P1/cm2Q

:= 5?8%= 59<== L5==%= @5@== 55:= L:5%==

5== 6=>%= 8@?= L8>%= :<9== �>:5 <%@>

6== 96%= >66= L?9%> 58>== 6:@= L:=%==

8== 6?%@ 6=== L9=%> 6>9= @5> L6=%6=
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5 
������ /��	 ��� 	�� &��
� ��� 	�� !��	 (x; 0; 65 mm)T, x > 0 ��/��� 

6 
������ /��	 ����
 ��� .0�*��*������ ��� 	�� !��	 (0; y; 65 mm)T, y > 0 ��/��� 
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8 
������ /��	 ��� ������ ��� 	�� !��	 (x; 0; 65 mm)T, x < 0 ��/��� 
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��������� A�	�� 
���

	��� 	�� $�	���
�����������
	���� τ % 	�� &���/�	��
���	 RS ��	 	�� �*���
��������*������

Cj

∣∣∣
UD=−6V

��� −6 V '��
*������ ��� ��� #�	��������� ���/��	���� �*����!�������� 
��	 ��

������� 
 5 �������
��� 3���*����� $�
�� 	�� !�������� 
���� P:?Q4 ��� +���� ��� RS ��	 τ

�0���� 	����� ��
 	�� ���������� ���������� /��	��% Cj

∣∣∣
UD=0V

��

 H�	��� ��
 Cj

∣∣∣
UD=−6V

��������� /��	�� ,��� P5=@Q �0���� ��� 	�� ������� 2�0J�� IS% UJ% n ��	 m 	�� �� 	�� �������

����������� ����	��	/���� ���/��	�� /��	�� 

)�� '���A������� 	�� �� 
�
������ 8 8 8 : 	���������� ������� ��	 	�� �����
������� #�	����

���	��� /��	 ��� �G��*����
���
 ����������
�������
 �����
����� ����� /��	 	�� �� &��	 8 55

	����
������ ��������� 
�������� ��� '��/�	��
���	 R ��� 	���� 	�� +��� R = 10 Ω% ��	 	��

!�������� 	�� ���	� 
��	 RS = 0,7 Ω% τ = 10 ns ��	 Cj

∣∣∣
UD=−6V

= 0,7 pF ��� ��
������� !���
�

!�������� /��	�� ���
*������	 ������� 
 5 ��
���� ��������� /��	� 	�
 ���������
���
*���

��� 	�� !�������  *! 	�� "� 
������ ��� ����������� �*�������� ��	 ���0�� 
��	 ��

&��	 
 5 	����
����� ��� �*������ uin(t) /��	� 
� ��/����% 	�

 
��� ��� '��/���

���� ���

IF ≈ 172 mA ��	 ��� ����/���

���� ��� IR ≈ 100 mA ���
�����% 
� 	�

 	�� $�	���
�������

�����
	���� τ 	����� ��� �������� ������
�� /��	�� ���� �� 	�� ���������� /��	 ������
�

uin(t) ��� ����� ���
������ +��� ��������% 
� 	�

 
��� iD(t) = IF ���� ���� )���	���� � τ

���
����� ��	 
���� QF = τ · IF /��	 )�� )���*���� t = 100 ns /��	 uin(t) 	����� �����


�����% 	�

 
��� iD(t) = −IR ���
����� 
������	 	�
 &���/�	��
���	�
 RS ������ 	�� �*������
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'��������� �*����

���� !�������� +��� &�
���������

IS �� 5 �
 ���������

����

UJ '( =%> ' �*���
������*�������� ��� = ' '��
*���

����

Cj

∣∣∣
UD=0V

I(= Cj

∣∣∣
UD=−6V

·
(
1 − 6V

VJ

)m

�*���
��������*������ ��� = ' '��
*���

����

τ �� ���������� ����
������ ��/ #��������
��	���
�������

�����
	���� ��
 ����������

RS �� ���������� &���/�	��
���	

n , 5%: 1��

���
���B�����

m # =%: 1G*����� 	�� �*���
��������*������

2������ �0�1 �*����!��������
��� ��� 	�� �*������
�����	��	� 

uD(t) ������
� ��/�
 ���% ���� 
��� 	��� ���� ��� ����� ������� 
������� +��� )�� )���*����

t ≈ 110,2 ns ������ 	�� �*������ 
�����J���� 
���������� ��
����� ��	 iD(t) ���J� �� ���

��*�������� ����� 	�� ����/���
������� ���
*����� ��/� 	�� $�	���
�����������
	���� τ % 
�

	�

 
��� 	�
 ��/������ '�������� ���
����� ��
 &��
*��� /��	� ��
 ���
�������
����	�� 
� ���

0
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3

u 
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]
D

D
in

+��� �0�1 '���A������� 	�
 �*����#�	���
 ��� 	�� ���������

���������
*������� 
�� 

/����% 	�

 	�� ���������	�� �*������

*����� ����� 
��	 (�	��� �0���� �*������
�����	��	��

����������

*�������� ��� ������� ���� '��� ���/��
��% 
� 	�

% ��������� 	�� ������	��	�%

�*������

*����� /�� ���� �����
*����� ��� 
��� ����� 
�*����	� ������� /��	�� �0���� P5Q 

��	���� /��	 	��
�
 &��������� ��� 
���
�
�������% /����� �������� 
��� ���� 
�
�����
��0��

���0�����% ������

��� 
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��� -��

������ ���  �������� 	�� 3�����*������

�� "�����	�� /��	 	�� $0
��� ��� 2�������� 38 884 ��
 
�
������ 8 8 > 6 ��������� )��

����������� ���	������ /��	�� /������ ����
��0J�� ����������% /����� ��� ����� 	�� +���� mi

��	 2�������� 38 854 ��������� /��	�� �0����K

�F = −m1
�E12 − m2

�E21 − m2
�E23 − m3

�E32 − m3
�E34 − m4

�E43 − m4
�E41 − m1

�E14 3
 54

�G = −�E12 − �E21 − �E23 − �E32 − �E34 − �E43 − �E41 − �E14 3
 64

�F ��	 �G /��	�� ���0����% �� 	�� ����
��0J�� �Ai ��	 �Bi �� 	�A������K

�A1 = 4m1
�E12 + 4m2

�E21 + �F 3
 84

�A2 = 4m2
�E23 + 4m3

�E32 + �F 3
 94

�A3 = 4m3
�E34 + 4m4

�E43 + �F 3
 :4

�A4 = 4m4
�E41 + 4m1

�E14 + �F 3
 >4

�B1 = 4 �E12 + 4 �E21 + �G 3
 ?4

�B2 = 4 �E23 + 4 �E32 + �G 3
 @4

�B3 = 4 �E34 + 4 �E43 + �G 3
 <4

�B4 = 4 �E41 + 4 �E14 + �G. 3
 5=4

#�� ����� ��� �Ai ��	 �Bi ���� H���� 	�
 ��
����� M ��� �������� +��
� ��������� /��	��K

M =

4∑
i=1

�Ai · �Bi

4∑
i=1

∣∣∣ �Ai

∣∣∣2 . 3
 554

���
� 2�0J� �
� 	�� ���������� 2�����������% /������ 	�� 	���� 	�� .����	��*���� aL �����


��/������ Uref ���
*����� +��	 M �� 	�� 2���������� 38 6?4 ��
 38 864 �����
����% 
� ���� 	��

������/��� �x′ ��������� /��	�� �����
 ������ 
��� 
�����J���� �u′K

�u′ =
Uref

M
· �x′. 3
 564

����� ������� 
��� 	�� ������/���� 	�� 
�*����	� ��	 	�
 !��
��/�����


Û ′ = |�u′| 3
 584

ϕ′ = arctan

(
u′

y

u′
x

)
3
 594

+���� �u′ =
(
u′

x, u
′
y

)T
�
� 
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+�
����������
���
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+�� <�=�����
���
���� >�!������
����� 	�� )���*�
�&)��&

�
!��&)����	�

�� ������ 	��
�� 
����� /��	� 	�� #��������#����*���#����	� �� ��H��������������� +��
�

��*���������� 
����	���
 
��	 	�� 1������	������ �� 	�� *����	����� ��*������������ 	�� 1��

)����� ��������� P8:Q% 
� 	�

 ��� 	��
�
 !������� ������
 ��
������ &���������
��	���� ����

#�	�A�������� ���/��	�� /��	�� �0���� 

�� "�����	�� /��	�� 	�� /������
��� .��

�� ��
�������� ��� �� 	�� &��	��� & 5 ��
 & 8

	����
������� .��

�� ������ �� 	�� H�/���
 ��
��� ��������� )���� 	�� ,���� �� 	�� 	�������

��
�����J��	�� &�0���� 
��	 	�� 0C��������� .��

������������ �	�� ���� #����	�� �������
��� 

2�5
���$� ��� .��

� $�%������ 
���� �� )������ 	�� ��*������������ 3
���� &��	 & 54 

��� 
������ 	�� 
��
������� ��	 �������
��������� 	�� #����G ��	 	�� ����
��
�������� ���


����

��	������ &�
������� 	�
 $0
���
������
 

+�� �� 
�
������ : 6 6 6 ��
��������% 
������ 	�� "��	���/��������� !����
���-
��
 	��% 	��
�

/��	�� 	���� 	�� ��
������ .��

� $������ ��*��
������� ��	 ��� 	�� #����	� �
��
����

���� ��� $�%������ ����
������ 1�������������
��� 
��������� �������� ��������
 	���� "��	�

���/���������% ��� 	�

 	�� 1��/�������
���B������� ������
 ��� &������� ���������� 
��	 


��� 	��
� 
��	 !����
���-
��
% /��	�� H�	��� ��� �
��
�2	!������� ����
������ ��� 	���� 	��


�*�

*����� 	�A������� ���	��	�������� �������� 	�� ��������� 2���������� ��	 �������

	���� #����G������ ���
� .
��
���-
��
 /��	�� 	���� 	�� ��
������ .��

� $2�4 ��*��
�������

��	 /��	�� ��� 	�� #����	� �
��
�2�4 ����
������ 3
���� &��	 & 54 

&�
 �� 	��
�� )���*���� 
����� ��
������ ��� $2�4 ��	 $������ ���� �� ��������� &��������

�������	�� � � �
 /��	� ����� 	�A�����% /����� ���	��	�������� ��� /����� "��	���/�������

�)-� @ ����	 �
�� ����� ����	� ���	� ��� 4
���������0�	����
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������ ���
 ��
������ H���� ��� 	�� #����	� ����
�� )�
����� ��� ����� !��������� /��	

$�%������ ����������% /����� 2���������� ��� $0
��� /������ .��B������� ����/��	�� 
��	 

"�� H�	� ���� 
���������� "����� �� &��	 : 9 /��	 	�� #����	� ����
�� ���������� 

TEquation

TEquation()
registColumn(TColumn *)
registRHSColumn(TColumn *)
registRow(TRow *)
connect(const long int &, TRow *, TColumn)
calcMatrix()
calcRHS();
QRFactorize()
backSubstitute()
setColumnCoefficients()

Klassenname

Klassenfunktionen
oder auch Methoden

+��� +0�1 #����	�� 	�� .��

� $�%������ 

)� 	��
�� )���*���� ��
���� $�%������ ���� ������������� ��� 
��
������� 	�� #����G �����

	�� #����	�������� ���������) /��	 	�� 
��
������� 	�� #����G ��
������ 
����	���
 �����

$�%������ ��� 
� /��� ������ ���% 	�

 
�� ������ �*������ ���������% ���� 	�� 
��
������� 	��

������������ �� 	�� ��
������ ��� $������ 	�������� 
�� 	��
� +��
� ������ $�%������ ���

	�� 
*�������� &������������ 	�� 
��� �����
����	������ 1��/�������
���������� �������� �����

����� ��� &��������� 	�� ������� ����� 	�
 2��������

;
���
 /��	 ��� 	�� #����	� ����2	!

����
��J�� 


�
�����J��	 ������� ��� 	�� 
����� ��� =2��������
 	�� D��)�������� 	�� #����G% 
� 	�

 	�


������
������ 2��������

;
��� ���� 	�� D��	��������������
��������� ���0
� /��	 ���

#����	� ����!��
�����
 
�0J� 	�� ����
��
�������� ��% 
� 	�

 ��
�����J��	 	�� $0
���
������

�������� 

��� #����	� 

���������
O��
��
 ����� 	�� �*�������H����� 	�� 1��/�������
���B�������

���% 
� 	�

 ���� ������������� ��� &��������� 	�� "��	�� ������ 
����� ��� "��	���/���������

�0���� H���� ��� ��������� !����� �� ���� 	�
 ��� ����� �������� ��������������
��� "��	

������� 

2/$�
�� ��� 
*�������� .��

�� 	�� ���
����	���� "��	���/��������� 
��	 ��� $������ ���

��������% 
� 	�

 	�� 1��/��������� ����������� ��� $�%������ �����	��� /��	�� �0����% ����

���� 
*������� �����
����	��� ��������� �� ��

�� 3
���� &��	 & 64 $������ 
����� ������� 	��

.��

� $2�4����������
����� ��� �������� #����	�� ��� '�������� $2�4����������
��

���� 	���� ��� �*������� 	�� '�����*���� 	�� 
�*�

*����� ��� 	�� "��	���/��������� #��

����� 	�� #����	� 

�@!���� ����� $�%������ ���% /����� #����G
*����� ��� 	�� 1��/�������
���

�B������� ��
���	�� 
��	 ����� �
� 	�� ��
���� ��� $������ ���� �������% /����� &�������

������ ��� "
�
��	�� %?���� ���	��� *���������� ��	��	��
	 �������
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	�� #����G 
�� �� "����� ��� #�� 	�� #����	� �
���C������4�
 ���� 	�� 
����� 	�� 1���

/�������
���B������� ������� /��	�� ��
��
2�4����������
����� 	���� ��� �*������� 	��

'�����*���� �/�
���� 
�*�

*������ ��	 "��	���/��������� ,���	�� 	�
 2��������

;
���

���0
� �
�% /��	�� ��� 

���
O��
��
 	�� 1��/�������
���B������� ���������� ��� #����*���


��	 	���� ��
����� ��	 	�� ��������������
���� "��	
������ �0���� ��� �������� +��
� ���

����� /��	�� 

TColumn

TColumn()
setJStart(jStart)
getJStart()
getNoOfUnknowns()
createRowColumnConnection(rowPtr, parameter)
createRHSRowColumnConnection(rowPtr, parameter)
setCoefficients(coefficients)

TExpansion

TExpansion(ie1, ie2, ie3, ie4, ie5, ie6, se1, se2, g,
   location, vx, vy, freq, epsr, muer, sigma)
electricField(pos)
magneticField(pos)

TStandardExpansion

TStandardExpansion(ie1, ie2, ie3, ie4, ie5, ie6, se1, se2, g,
   location, vx, vy, freq, epsr, muer, sigma)
createRowColumnConnection(rowPtr, parameter)
createRHSRowColumnConnection(rowPtr, parameter)
calculateMatrixElements(rowPtr, parameter, matrix)
addToRHS(rowPtr, parameter, RHS)
calculateMatrixElementsFromMatchPt(parameter, matrix, matchPt)
addToRHSFromMatchPt(parameter, RHS, matchPt)

TRowColumnConnection

TRowColumnConnection()
calculateMatrixElements(*matrix)
addToRHS(RHS)

TRowColumnConnection

TRowColumnConnection(columnPtr, RHSColumnPtr, rowPtr, parameter)
calculateMatrixElements(*matrix)
addToRHS(RHS)

T3DMPAllExp

...

TPlaneWaveExp

...

TLineMultipoleExp

...

TFekoExp

...

+��� +0�1 #����	�� ��	 
���������� 	�� .��

� $������ 

'�� $������ �
� 	�� ��
������ .��

� $�)���
��� ���������� ��� ��
���� ��J��� 1����
�����

���% 	�� 
��������� "��	���/��������� ������
�� 
��	 ��������
���� /��	 $�)���
��� ��� 	��

2��������!��������� IE1...IE6% 	�� "���J�����*��������� SE1 ��	 SE2% 	�� ���*��G��
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!�������� g% 	�� .���	��������
*���� location% 	�� .���	������
;
��� vx ��	 vy% 	�� "���

����� freq ��	 	�� #������������
������� epsr% muer ��	 sigma ���
� !�������� 
��	 
���

��������� ��������% 
� 	�

 
�� ��� .��A�������� ���
����	���� "��	���/��������� �����
����

/��	�� �0���� ��� ����������� 
��� �� 	�� #����*���!��������� 	�
 ##!�!�������
 	�� 1��

)����� P8:Q �����	 	�
 2��������

;
��� ���0
� �
� ��	 	�� 1��/�������
���B������� ��
����

/��	��% ���� 	�
 "��	 ��� 	�� #����	�� 
�
�������
�� ��	 ����
�����
�� ������� /��	�� 

��� .��

� $!��������)���
��� 	���� ��
 ����
���

�% �� ������� !�������������� �� ����

��������� '�� ��� /��	���� 
��	 	�� 
*�������� "��	���/�������
���

�� ���������� "�� 	��

#����*��� �
� 	��
 $(*�" ���)�% ��� $����������*��� $,��
��������
�)� ��	 ��� ����� +���

��� $"���
���
 3
���� &��	 & 64 
��� ��� 	�� #������������	� ���������� "��	�������

�0���� ��
 "��	���/������� ����/��	�� /��	��% /�
 ��� ����� 	�� .��

� $�
���)� ��
������ 

+������
 ������ A�	�� 
��� �� 
�
������ : 6 9 

2E$3 ��� ��
������ .��

� $2�4 3&��	 & 84 ����0�*��� 	�� )�������H����% 	 � 
�� 	�A�����

	�� 2����������% /����� ������/��
� 	�� #����G ��C����� ������ ��
���� 
�� 	�� #����	�� 

�0�

!���� ��	 �
�0!����% /���� 	�� E�H��� 
���� ��
�� )���� �� 	�� #����G ���������� ��/ �������

/��	�� ���� 1��� /������� #����	� ��� 	�� '��/������
���

� $�%������ �
� �
���C��%���

����
 ��� 
����� 	�� 2����������% 	�� 
��� ��
 	�� )��� 	�� 
�*�

*����� ��	 	�� 	����
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